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B.Com.(CS) DEGREE EXAMINATION, APRIL 2023. 

First Semester 

Corporate Secretaryship 

FINANCIAL ACCOUNTING – I 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is Accounting? 

 PnUS¨ £vÄ GßÓõÀ GßÚ? 

2. What is mean by dual aspect concept? 

 Cμmøhz ußø© ÷Põm£õk GßÓõÀ GßÚ? 

3. What do you know about Error of Omission? 

 Âk¤øÇ £ØÔ } AÔÁÚ ¯õøÁ? 

4. What is Suspense Account? 

 AÚõ©zxU PnUS GßÓõÀ GßÚ? 

5. What is bill of exchange? 

 ©õØÖa^mk GßÓõÀ GßÚ? 

6. Define Promissory Note. 

 PhÝÖv £zvμ® £ØÔ Áøμ¯ÖP. 
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7. What are Non-Trading concerns? Give examples. 

 Â¯õ£õμ ÷|õUP©ØÓ Aø©¨¦ GßÓõÀ GßÚ? Euõμn® 

u¸P. 

8. What is deferred revenue expenditure?  

 öuõhºÁ¸Áõ´ ö\»Ä GßÓõÀ GßÚ? 

9. What is Delcredere commission? 

 ¤ønUPÈÄ GßÓõÀ GßÚ? 

10. What is Joint Venture? 

 CønÂøÚ GßÓõÀ GßÚ?  

 Part B (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Enter the following Transactions in the books of 

Thiru. Ganesan. (Journal Only) 

2007  

Jan 

 

1 Started business with Rs. 25,000 

2 Deposited into Bank Rs. 23,500 

3 Purchased furnitue by issuing cheque Rs. 2,000 

4 Cash purchases Rs.5,000 

5 Sold goods to Rama Rs. 150 

6 Goods worth Rs. 250 taken from the shop  

 for personal use. 
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   v¸. P÷n\ß ¦zuP[PÎÀ ¤ßÁ¸® 
£›ÁºzuøÚPøÍ EÒÎhÄ®. (SÔ¨÷£k ©mk®) 

2007  
áÚ 

 

1 ¹. 25,000 Ehß ÁoPzøu öuõh[QÚõº. 

2 ¹. 23,500 Á[Q°À öh£õ]m ö\´¯¨£mhx. 

3 Põ÷\õø» ‰»® ¹. 2,000 ÁÇ[SÁuß ‰»® uÍÁõh® 
Áõ[Q¯x 

4 öμõUP öPõÒ•uÀ ¹. 5,000 

5 μõ©ÝUS ö£õ¸mPøÍ ÂØÓx ¹. 150 

6 ¹. 250 uÛ¨£mh £¯ß£õmiØPõP Pøh°¼¸¢x  

 GkUP¨£mhx 

Or 

 (b) Explain the different Accounting conventions. 

   PnUS £vÂß £À÷ÁÖ {¯vPøÍ ÂÁ›UPÄ®. 

12. (a) Rectify the following Errors. 

  (i) Purchase Book is over cast by Rs. 500 

  (ii) Sales Book has been under cast by Rs. 300 

  (iii) Purchase returns book has been over cast by 
Rs. 50 

  (iv) Sales returns book has been under cast by  
Rs. 75. 

   ¤ßÁ¸® ¤øÇPÒ \›ö\´P. 

  (i) öPõÒ•uÀ ¦zuPzvÀ Tku»õP ©v¨¥k 
ö\´ux ¹. 500 

  (ii) ÂØ£øÚ ¦zuPzvÀ SøÓzx ©v¨¥k ö\´ux 
¹. 300 
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  (iii) öPõÒ•uÀ v¸¨£ ¦zuPzvÀ Tku»õP 
©v¨¥k ö\´ux ¹. 50 

   (iv) ÂØ£øÚ v¸¨£ ¦zuPzvÀ ¹. 75 SøÓzx 
©v¨¥k ö\´ux. 

Or 

 (b) Prepare Trading Account of Archana for the year 
ending 31.12.96 following information :   

Particulars Amount 

Opening stock 80,000

Purchases 8,60,000

Freight inward 52,000

Wages 24,000

Sales 14,40,000

Purchases returns 10,000

Sales returns 3,16,000

Closing stock 1,00,000

Import duty 30,000

  ¤ßÁ¸ÁÚÁØÔUS Aºa\ÚõPõÚ Â¯õ£õμ PnUS 
31.12.96 UPõÚ PnUøP öuõh[PÄ®. 

ÂÁμ® öuõøP 

Bμ®£ \μUQ¸¨¦ 80,000
öPõÒ•uÀ 8,60,000
\μUS EÒ÷|õUQ 52,000
T¼PÒ 24,000
ÂØ£øÚ 14,40,000
öPõÒ•uÀ v¸¨£® 10,000
ÂØ£øÚ v¸¨£® 3,16,000
CÖv \μUQ¸¨¦ 1,00,000
CÓUS©v Á› 30,000
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13. (a) On March 10th A sold goods to B and draw a Bill at 
three months for Rs. 800, which B accepts 
immediately and returns it to A. The Bill is 
honoured on the due date. Pass entries in the books 
of both A and B. 

  ©õºa 10B® ÷uv A ÂØP¨£mh ö£õ¸mPÒ BUS 
ÂØP¨£mk ‰ßÖ ©õu[PÐUS ¹.800US J¸ 
©÷\õuøÁ Áøμ¯Ä®, Cx B EhÚi¯õP HØÖU 
öPõsk AUS v¸¨¤z u¸QÓx. C¢u ©÷\õuõ E›¯ 
÷uv°À PÄμÂUP¨£kQÓx. A ©ØÖ® B Cμsiß 
¦zuP[PÎ¾® SÔ¨÷£kPøÍ GÊxP. 

Or 

 (b) Distinguish between joint venture and partnership. 
   CønÂøÚ ©ØÖ® Tmhõsø©ø¯ ÷ÁÖ£kzxP. 

14. (a) From the following information show how would 
you deal while preparing the Income and 
Expenditure account and Balance sheet of the year 
ended 31.03.2006. 

 Rs. 
Subscription received during the year 31.03.2006 12,000
Subscription received for 31.03.2005 400
Subscription received in advance during the year 31.03.2005 600
Subscription received in advance during the year 31.03.2006 800
Subscription receivable from 31.03.2006 750

   ÷©ØTÔ¯ ¤ßÁ¸® uPÁÀPÎ¼¸¢x 31.03.2006 
Ehß •iÁøh¢u Bsiß Á¸©õÚ® ©ØÖ® 
ö\»ÄU PnUS ©ØÖ® C¸¨¦{ø»U SÔ¨¦UPøÍ 
•ßTmi÷¯ £õºUS® ÷£õx }[PÒ GÆÁõÖ 
øP¯õÒÃºPÒ Gß£øu Põmk[PÒ. 

 ¹. 

31.03.2006 B® BsiÀ \¢uõ ö£Ó¨£mhx 12,000
31.03.2005 B® BsiÀ \¢uõ ö£Ó¨£mhx 400
31.03.2005 B® BsiÀ •ßTmi÷¯ \¢uõ ö£Ó¨£mhx 600
31.03.2006 B® BsiÀ \¢uõ •ßTmi÷¯ ö£Ó¨£mhx 800
31.03.2006 •uÀ \¢uõ ö£Ó¨£mhx 750

Or 
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 (b) On 1st January. 2015. Rohit sends 150 sewing 
machines costing Rs. 30,000 to Anurag to be sold 
on-be half of the Former at 5% commission on sales. 
Rohit paid Rs. 1,500 as freight and carriage for 
sending the machines. Anurag sent the  account 
sales on 31st March 2015 stating that : 

  (i) 120 sewing machines were sold for Rs. 27,000 

  (ii) Expenses incurred on inward consignment 
were : 

   Octroi Rs. 250; Carriage Rs. 50; Godown Rent  
Rs. 2,100 and advertisement and Rs. 1,500.  

   Calculate the value of consignment stock on 
31st March 2015. 

  áÚÁ› 1, 2015 AßÖ ÷μõîz ¹. 150 øu¯À 
C¯¢vμ[PøÍ ¹. 30,000US AÝμõUS 5% 
PªåÚÛÀ •ßÚõÒ \õº£õP ÂØP¨£h EÒÍx.  
÷μõQz ¹. 1,500  C¯¢vμ[PøÍ AÝ¨£ \μUS 
©ØÖ® Ási¯õP AÝμõU PnUS ÂØ£øÚø¯ 31. 
©õºa 2015 AßÖ AÝ¨¤Úõº. 

  (i) 120 øu¯À C¯¢vμ[PÒ ¹. 27,000 

  (ii) EÒ\μUSPÐUS HØ£k® ö\»ÄPÒ BU÷μõ´  : 
¹. 250, Ási ¹. 50 ÷PõhÄß ÁõhøP  
¹. 2,100  ©ØÖ® ÂÍ®£μ® ©ØÖ® ¤Ó 
ÂØ£øÚ ö\»ÄPÒ ¹. 1,500. 

   31 ©õºa 2015 AßÖ \μUS £[SPÎß ©v¨ø£ 
PnUQk[PÒ. 

15. (a) What do you know about donations on not for profit 
organisation? How it will be treated into account? 

   C»õ£ ÷|õUP©ØÓ {ÖÁÚzvÀ |ßöPõøh £ØÔ } 
AÔÁÚ ¯õøÁ? Aøu GÆÁõÖ PnUQkÁõ´? 

Or 
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 (b) Ram and Sundar enter into Joint venture to share 
the results as to 2:1 the joint venture transactions 
are as under: 

Ram (Rs.) Sundar (Rs.)

Goods supplied 70,000 40,000 

Expenses Paid 9,000 1,000 

Net sale proceeds 90,000 60,000 

   Show the journal entries and ledger accounts in the 
both. 

  μõ® ©ØÖ® _¢uº CønÂøÚ öuõh[Q 2:1 GßÓ 
ÂQuzvÀ »õ£ |mh[PøÍ £Qº¢x Á¢uÚº 
AÁºPÎß |hÁiUøPPÒ ¤ßÁ¸©õÖ : 

μõ® (¹.) _¢uº (¹.) 

\μUPÎzux 70,000 40,000 

ö\»ÄPÒ ö\´ux 9,000 1,000 

{Pμ ÂØ£øÚ 90,000 60,000 

   CuØPõÚ SÔ¨÷£k ©ØÖ® ÷£÷μmk¨ £vÄPøÍ 
C¸Á›ß HkPÎ¾® Põs¤UPÄ®.    

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. The Cash book of Siva showed a bank balance of  
Rs. 2,760 on 31.7.2013. On comparison with the pass book 
the following particulars were ascertained 

 (a) Cheques paid into bank but not yet credited in the 
pass book Rs. 6,000.  

 (b) Cheques issued but not yet presented for payment 
of Rs. 2,500. 

 (c) Life Insurance premium paid by the bank but not 
yet entered in the cash book Rs. 8,320. 

 (d) Interest on debentures collected by the bank 
recorded in pass book only Rs. 6,000. 
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 (e) Bank column on the credit side of the cash book 
under cast by Rs. 110. 

 (f) Bank charges entered in the pass book  only Rs. 70. 

  Prepare a Bank Reconciliation statement. 

 31.7.2013 AßÖ ]Áõ öμõUP ¦zuP® ¹. 2,760 Á[Q 
C¸¨ø£ Põmi¯x. Á[Q ö\À¾¨ ¦zuPzxhß J¨¤mk¨ 
£õºzuvÀ RÌUPshøÁ Psk¤iUP¨£mhÚ : 

 (A) Á`¾US AÝ¨£¨£mh ¹. 6,000&US›¯ 
Põ÷\õø»PÒ ö\À¾¨ ¦zuPzvÀ ÁμÄ 
øÁUP¨£hÂÀø». 

 (B) ÁÇ[P¨£mh Põ÷\õø»PÎÀ ¹. 2,500 ©v¨¦øh¯x 
CxÁøμ Á[Q°À £n©õUP¨£hÂÀø». 

 (C) Á[Q ö\¾zv¯ B²Ò Põ¨¥mk PÇP® ¹. 8,320 
öμõUP ¦zuPzvÀ £v¯¨£hÂÀø». 

 (D) Á[Q Á`¼zu Phß£zvμ[PÒ «uõÚ Ámi  
Á[Q ö\À¾¨¦zuPzvÀ ©mk® £v¯¨£mhx 
¹. 6,000. 

 (E) öμõUP¨¦zuPzvß ÁμÄ¨ £UPzvÀ EÒÍ Á[Q¨ 
£zv ¹. 110 SøÓzx Põmh¨£mkÒÍx. 

 (F) ö\À¾¨¦zuPzvÀ ©mk® £v¯¨£mkÒÍ Á[QU 
Pmhn® ¹. 70. 

  Á[Qa \›UPmk® £mi¯ø»z u¯õº ö\´P. 

17.  From the following Trial balance of Sekar, prepare 
trading, profit and loss account for the year ended 
31.12.18 and a balance sheet as on that date. 

Particulars Debit 
Rs. 

Credit
Rs. 

Capital  40,000

Sales  25,000

Creditors  1,000

Purchases 15,000 
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Particulars Debit 
Rs. 

Credit
Rs. 

Salaries 2,000 

Rent 1,500 

Insurance 300 

Drawings 5,000 

Machinery 28,000 

Bank balance 4,500 

Cash 2,000 

Opening stock  5,200 

Debtors 2,500 

 66,000 66,000

 Additional information : 

 (a)  Closing stock Rs. 4,900 

 (b)  Salaries unpaid Rs. 300 

 (c)  Rend paid in advance Rs.200 

 (d)  Insurance prepaid Rs.90. 

 R÷Ç öPõkUP¨£mkÒÍ ÷\Pº Gß£Áμx C¸¨¦a 
÷\õuøÚ£mi¯¼¸¢x 31.12.2018® BskUPõÚ Â¯õ£õμ 
C»õ£ |mhU PnUS ©ØÖ® A¢|õøÍ¯U C¸¨¦ {ø»U 
SÔ¨ø£²® u¯õº ö\´P. 

Â£μ® £ØÖ 
¹. 

ÁμÄ 
¹. 

‰»uÚ®  40,000

ÂØ£øÚ  25,000

PhÜ¢÷uõºPÒ  1,000

öPõÒ•uÀ 15,000 

\®£Í® 2,000 

ÁõhøP 1,500 
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Â£μ® £ØÖ 
¹. 

ÁμÄ 
¹. 

Põ¨¥k 300 
Gk¨¦ 5,000 
C¯¢vμ® 28,000 
Á[Q°¸¨¦ 4,500 
öμõUP® 2,000 
öuõhUP \μUS 5,200 
PhÚõÎPÒ 2,500 

 66,000 66,000

 TkuÀ uPÁÀPÒ : 

 (A) CÖv \μUS ¹.4,900 

 (B) öPõk£hõu \®£Í® ¹.300 

 (C)  •ßTmi ö\¾zv¯ ÁõhøP ¹.200 

 (D) •ßTmi ö\¾zv¯ Põ¨¥k ¹.90  

18. On 1.7.2018, X sold Rs. 500 worth of goods to Y and drew 
on him for the amount for 3 months. Y accepted the same. 
On the due date, Y being unable to pay the bill 
approached X and requested him to renew the bill for a 
further period of 2 months, together with interest at  
6% p.a. X agreed to the proposal and on the due date the 
second bill is met. Pass necessary journal entries in the 
books of X and Y. 

 1.7.2018À X Gß£Áº YUS ¹. 500 ©v¨¦ÒÍ ö£õ¸mPøÍ 
ÂØÖ, 3 ©õu uÁøn°À J¸ ©õØÖ^møh Áøμ¢uõº. 
AuøÚ Y HØ¦ ö\´uõº. uÁøn |õÎÀ Y°ÚõÀ 
©õØÖa^møh ö\¾zu •i¯õu PõμnzvÚõÀ, AÁº Xø¯ 
AqQ, BsiØS 6% Ámi²hß Ti¯ öuõøPUS, ÷©¾® 
Cμsk ©õu[PÐUS ¦xUS©õÖ ÷ÁsiU öPõshõº. 
¦x¨¤UP ö\´uõº. X C¢u ÷Ásku¾US \®©vzuõº. 
CμshõÁx ©õØÖa^mk E›¯ uÁøn |õÎÀ Y°ÚõÀ 
ö\¾zu¨£mhx. X ©ØÖ® Yß HkPÎÀ •uØSÔ¨÷£mk 
£vÂøÚ u¸P. 
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19. From the following information relating to Bangalore 
sports club for the year ended 31.03.2007. Prepare 
Income and Expenditure Account and Balance Sheet. 

Receipts Rs.  Payments Rs. 

To Balance b/d  –  By Maintenance 50,000

Bank 80,000  By Sports expenses 14,000

To Subscriptions 1,10,000  By Insurance charges 4,000

To Sale of old balls 1,000  By Telephone charges 1,000

To Rent for   By Miscellaneous 2,000

sports ground 6,000  By Honorarium  

To Sports fund 20,000  to Secretary 5,000

To Donation 2,00,000  By Grass seeds 1,600

To Entrance fee 6,000  By Bats 14,000

   By Balance c/d cash 3,31,000

   Bank 400

 4,23,000   4,23,000

 Additional Information:  

 Balance on 1.04.2006:   

 Subscription outstanding  Rs.10,000  

 Stock of bats    Rs.30,000 

 Stock of Stationery   Rs.4,000.  

 Excess of sports fund expenses and donations are to be 
capitalised. 

 Balance on 31.3.2007 : 

 Subscription outstanding   Rs.15,000  

 Stock of bats     Rs.25,000  

 Stock of stationery    Rs.1,000  

 Subscription received in advance  Rs.5,000  

 Opening capital fund    Rs.1,19,000  

 Entrance fees are to be capitalised. 
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 31.3.2007® Bsk CÖv°À ö£[PÑº ÂøÍ¯õmka 
\[P® RÌPsh Â£μ[PøÍ öPõskÒÍx. AÁØÔ¼¸¢x 
Á¸©õÚ ö\»ÂøÚU PnUøP²®, C¸¨¦ {ø» 
SÔ¨ø£²® u¯õº ö\´P. 

ö£ÖÁÚ ¹. ö\¾zxÁÚ ¹. 

C¸¨¦ R/öPõ :  £μõ©›¨¦ ö\»ÄPÒ 50,000

øP°¸¨¦ öμõUP®  ÂøÍ¯õmk ö\»ÄPÒ 14,000

Á[Q öμõUP® 80,000 Põ¨¥mk Pmhn[PÒ 4,000

\¢uõ 1,10,000 öuõø»÷£] Pmhn® 1,000

£øÇ¯ £¢xUPøÍ ÂØÓx 1,000 Cuμ ö\»ÄPÒ 2,000

ÂøÍ¯õmkz   ö\¯»õÍ¸US  

vhÀ ÁõhøP £n® 6,000 öÁS©õÚ® 5,000

ÂøÍ¯õmk {v 20,000 ¦À ÂøuPÒ 1,600

|ßöPõøh 2,00,000 ©møhPÒ 14,000

~øÇÄU  C¸¨¦ R/C 

Pmhn® 6,000 øP°¸¨¦ öμõUP® 3,31,000

  Á[Q 400

 4,23,000  4,23,000

 TkuÀ uPÁÀPÒ : 

 01.04.2006® ÷uv°À C¸¨¦ 

 {¾øÁ°¾ÒÍ \¢uõ  – ¹.10,000 

 ©møhPÒ C¸¨¦  – ¹.30,000 

 GÊxö£õ¸Ò C¸¨¦ – ¹.4,000  

 ÂøÍ¯õmk {v ö\»ÄPÒ ©ØÖ® |ßöPõøh°ß E£›PÒ 
•u¼Ú©õUP¨£h ÷Ásk®. 

 31.3.2007 ÷uv°À C¸¨¦ 

 {¾øÁ°À EÒÍ \¢uõ – ¹.15,000 

 ©møhPÒ \μUQ¸¨¦ – ¹.20,000 

 GÊx ö£õ¸Ò C¸¨¦ – ¹.1,000 

 •ßTmi ö£Ó¨£mh \¢uõ – ¹.5,000 

 Bμ®£ ‰»uÚ {v – ¹.1,19,000 

 ~øÇÄU Pmhn® •u¼Ú©õUP¨£h ÷Ásk®. 



F–8947 

  

  13

20. A trader asks for your help in preparing an Insurance 

Claim in respect of stock in trade destroyed by Fire in his 

warehouse on June 1.2003. His books of accounts give the 

following information concerning trading transactions for 

the period, January 1.2003 at cost Rs. 26,000. 

Particulars Rs. 

Debtors on 1.1.2003 50,000 

Debtors on 1.6.2003 80,000 

Cash received from debtors 60,000 

Discount allowed to debtors 10,000 

Cash purchases 10,000 

Cash paid supplies 67,000 

Creditors on 1.1.2003 16,000 

Creditors on 1.6.2003 18,500 

 The rate of gross profit on cost is 25% calculate the 

amount of claim taking into account that goods salvaged 

from the Fire were worth Rs. 3,000. 

 J¸ Â¯õ£õ› E[PÎh® w Põ¨¥mk öuõøP ö£ØÓøu 

£vÁuØPõÚ EuÂø¯ ö\´¯Ä® ãß 1.2003 AßÖ 

S÷hõÛÀ w Â£zx HØ£mhx. ÷©¾® 1.1.2003 AßÖ 

•uÀ w Â£zx HØ£mh |õÒÁøμ \μUS ©v¨¦ ¹. 26,000  

ÂÁμ[PÒ ¹. 

PhÚõÎPÒ 1.1.2003 AßÖ 50,000 

PhÚõÎPÒ 1.6.2003 AßÖ 80,000 
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ÂÁμ[PÒ ¹. 

öμõUP® ö£ØÓx PhÚõÎ°hª¸US 60,000 

uÒÐ£i AÎzux 10,000 

öμõUP öPõÒ•uÀ 10,000 

PhÜ¢÷uõ¸US ö\¾zv¯x 67,000 

PhÜ¢÷uõº 1.1.2003 16,000 

PhÜ¢÷uõº 1.6.2003 18,500 

 ö©õzu »õ£® AhUPÂø»°À 25% wUPõ¨¥mk 
PnUQ¼¸¢x GkUP¨£mh ÷Põ›UøP öuõøPø¯ 
PnUQkP. w°¼¸¢x «mP¨£mh ö£õ¸Îß ©v¨¦  
¹. 3,000 BS®.  

  

 

 

 
———————— 
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Corporate Secretaryship 

MANAGERIAL ECONOMICS 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is law and demand? 

 ÷uøÁ Âv GßÓõÀ GßÚ? 

2. Define Elasticity of demand. 

 ÷uøÁ ö|QÌa]°øÚ Áøμ¯Ö. 

3. What are the factors affecting the supply of a commodity? 

 J¸ ö£õ¸Îß AÎ¨¤øÚ £õvUQßÓ PõμoPÒ ¯õøÁ? 

4. Explain briefly the concept of utility. 

 £¯ß£õmiß ÷Põm£õmiøÚ _¸[PU TÖP. 

5. State any two properties indifference curve. 

 \© ÷|õUS ÁøÍU÷Põmiß Cμsk Sn[PøÍ GÊxP. 

6. What is price line? 

 Âø» ÷|ºU÷Põk GßÓõÀ GßÚ? 

Sub. Code 
7BCS2C1 
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7. Define marginal cost function. 

 ÂÎ®¦ EØ£zv ö\»Âß \õº¤øÚ Áøμ¯Ö. 

8. What is revenue function? 

 Á¸Áõ´ \õº¦ GßÓõÀ GßÚ? 

9. Define profit maximization. 

 C»õ£zvß Ea\ ©v¨¤øÚ Áøμ¯Ö. 

10. Give an example for discriminating monoploy. 

 ¤›zuÔÖ® •ØÖ›ø©US J¸ GkzxUPõmk u¸P. 

 Part B  (5 × 5 = 25) 

Answer all questions choosing either (a) or (b). 

11. (a) Explain the partial elasticity of demand with 
respect to price. 

  Âø»°ß Áõ°»õP ÷uøÁ°ß £Sv ö|QÌa]°øÚ 
ÂÍUSP. 

Or 

 (b) Discuss the relation between demand and supply. 

  ÷uøÁ ©ØÖ® AÎ¨¦ CÁØÔß EÓÄ{ø»°øÚ 
B´P. 

12. (a) What is opportunity cost? Give some examples. 

  \¢uº£ Âø» GßÓõÀ GßÚ? GkzxUPõmkhß u¸P. 

Or 

 (b) Compare monopolistic and duopolistic competition. 

  •ØÖ›ø© ©ØÖ® C¸ {ÖÁÚ BvUPzvøÚ 
ÂÍUSP. 
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13. (a) With suitable examples explain indifference curves. 

\© ÷|õUS ÁøÍU÷PõmkPøÍ uS¢u 
GkzxUPõmkhß ÂÍUSP. 

Or 

 (b) Describe the uses of Isoquants in economic analysis. 

  ö£õ¸Íõuõμ B´ÂÀ ©õÓõ EØ£zv ÁøÍ÷PõkPÎß 
£¯ßPøÍ ÂÁ›. 

14. (a) What is Cabb-Douglas production functions? What 
are the properties of this function? 

Põ¨–hUÚì EØ£zv \õº¦ GßÓõÀ GßÚ? C¢u 
\õº¤ß Sn[PÒ ¯õøÁ? 

Or 

 (b) Explain the techniques of cost control. 

  ö\»Ä Pmk£õmk ~m£[PøÍ ÂÍUSP. 

15. (a) How will you calculate cost of debt capital. 

  ‰»uÚ Phß ö\»øÁ }Âº GÆÁõÖ PnUQkÁõ´? 

Or 

 (b) Describe the different methods of pricing. 

  Âø»°kÁvÀ EÒÍ £À÷ÁÖ •øÓPøÍ ÂÁ›. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain the factors influencing the managerial decisions. 

 {ºÁõP •iÄPøÍ wº©õÛUS® •iÄPøÍ ÂÍUSP. 

17. Obtain the relation between elasticity of demand, 
marginal revenue and average revenue. 

 ÷uøÁ ö|QÌa] ÂÍ®¦ Á¸Áõ´ ©ØÖ® \μõ\› Á¸Áõ´ 
CÁØÔß EÓÂøÚ u¸ÂUP. 
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18. Show that  a tax proportional to the output of a 
monopolistic will increase the monopoly price. What will 
be the effect of monopoly price of the tax is proportional 
to profit? 

 Á› Gß£x EØ£zv ÂQuzvÀ C¸¢uõÀ •ßÝ›ø© 
Âø» AvP›US® GÚU PõmkP. Á›¯õÚx C»õ£zvß 
ÂQuzvÀ C¸¢uõÀ •ØÖ›ø© Âø»°ß «x Auß 
ÂøÍÄ GßÚ? 

19. Explain the terms conjectural variations and reaction 
curves in the case of duopoly. 

 C¸Áº •ØÖ›ø© Jzuzußø© ©õÖuÀ ©ØÖ® 
GvºÂøÍÄ ÁøÍ÷PõkPÒ GßÓ ÷Põm£õmiøÚ ÂÍUSP. 

20. Define production function. Explain in brief the 
managerial uses of production function. 

 EØ£zv \õºø£ Áøμ¯Ö. ÷©»õsø©°¯¼À Auß 
£¯ßPøÍ ÂÁ›. 

    ————— 
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B.Com. (CS) DEGREE EXAMINATION, APRIL 2023. 

Second Semester 

Corporate Secretaryship 

FINANCIAL ACCOUNTING – II 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is statement of affairs? 

 {ø» AÔUøP GßÓõÀ GßÚ? 

2. What is conversion method under single entry system? 

 JØøÓ £vÄ •øÓ°À ©õØÖ •øÓ GßÓõÀ GßÚ? 

3. State the different kinds of branches. 

 £À÷ÁÖ ÁøP¯õÚ QøÍPøÍU SÔ¨¤hÄ®. 

4. What do you understand by Inter departmental transfer? 

 xøÓPÐUQøh÷¯¯õÚ Ch©õØÓ® ‰»® }[PÒ ¦›¢ux 
GßÚ? 

5. Who is an Insolvent? 

 ö|õizuÁº Gß£Áº ¯õº? 

6. Why do you prepare deficiency account? 

 £ØÓõUSøÓ PnUQøÚ u¯õ›¨£uß Põμn® GßÚ? 

Sub. Code 
7BCS2C2 
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7. What is Royalty? 

 μõ¯Ài GßÓõÀ GßÚ? 

8. Give the meaning of minimum rent. 

 SøÓ¢u£m\ ÁõhøP GßÓ ö\õÀ¼ß ö£õ¸øÍ u¸P. 

9. State any two characteristics of hire purchase system? 

 ÁõhøP öPõÒ•uÀ •øÓ°ß Cμsk Sn[PøÍ 
SÔ¨¤kP. 

10. What is instalment purchase system? 

 uÁøn•øÓ öPõÒ•uÀ GßÓõÀ GßÚ? 

 Part B (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Explain the features of single entry system. 

   JØøÓ¨£vÄ •øÓ°ß C¯À¦PøÍ ÂÁ›. 

Or 

 (b) From the following ascertain profit or loss 

   Capital as on 1.4.2020  – 2,60,000 

   Capital as on 31.3.2021  – 2,50,000 

   Additional capital introduced – 50,000 

   Drawings made during the year  – 60,000 

   ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x C»õ£® AÀ»x |èh® 
PnUQhÄ®. 

   2020 H¨μÀ, 1–CÀ •uÀ   – 2,60,000 

   2021 ©õºa 31 CÀ •uÀ    – 2,50,000 

   AÆÁõsiÀ öPõsk Á¢u TkuÀ •uÀ – 50,000 

   AÆÁõsiß Gk¨¦PÒ     – 60,000 
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12. (a) Explain the features of dependent branch. 

   \õº¢v¸US® QøÍ°ß Sn[PøÍ ÂÁ›. 

Or 

 (b) From the following particulars relating to Trichy 
branch for the year ended 31.12.2020, Prepare 
branch A/c in the head office books : 

Particulars Rs. 

Stock at the Branch on 1.1.2020 15,000

Debtors at the Branch on 1.1.2020 30,000

Petty cash at branch on 1.1.2020 300

Goods sent to branch during 2020 2,52,000

Cash sales  60,000

Received from debtors  2,10,000

Credit sales during 2020 2,28,000

Cheques sent for branch 2020 11,600

Stock at the branch on 31.12.2020 25,000

Petty cash 31.12.2020 200

Goods returned by the branch 2,000

Debtors on 31.12.2020 48,000

   31.12.2020 •iÁøh¢u BsiØPõÚ v¸a] QøÍ 
öuõhº£õÚ ÂÁμ[PÒ Á¸©õÖ uø»ø© A¾Á»P¨ 
¦zuP[PÎÀ QøÍ A/c Iz u¯õº ö\´¯Ä®. 

ÂÁμ[PÒ ¹. 

1.1.2020 QøÍ°À C¸¨¦ 15,000

1.1.2020 AßÖ QøÍ°À PhÚõÎPÒ 30,000

1.1.2020 QøÍ°À ]À»øÓ ö\»Ä 300

2020 B® BsiÀ QøÍUS AÝ¨£mh 
ö£õ¸mPÒ  

2,52,000

öμõUP ÂØ£øÚ 60,000
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ÂÁμ[PÒ ¹. 

PhÚõÎPÎhª¸¢x ö£Ó¨£mhx 2,10,000

2020 Phß ÂØ£øÚ  2,28,000

2020 B® BsiÀ QøÍUS AÝ¨£mh 
Põ÷\õø»PÒ 

11,600

31.12.2020 QøÍ°À C¸¨¦ 25,000

]À»øÓ ö\»Ä 31.12.2020 200

QøÍ ‰»® v¸®¤¯ ö£õ¸ÒPÒ 2,000

31.12.2020 AßÖ PhÚõÎPÒ 48,000

13. (a) Explain the presidential town insolvency act. 

   ©õ{» |Pμ ö|õia \mhzvøÚ £ØÔ ÂÁμ©õP 
ÂÍUSP. 

Or 

 (b) Prepare deficiency account from the following 
particulars : 

   Excess of asset over liabilities 4,000 

   Loss in business – 7500 

   Profits – 12,000 

   Drawings – 15,000 

   ¤ßÁ¸® ÂÁμ[PÎÀ C¸¢x SøÓ£õk PnUøPz 
u¯õ›UPÄ®. 

   PhßPÒ 4,000 US ÷©À ö\õzxUPÒ AvP©õP 
EÒÍÚ 

   Â¯õ£õμzvÀ |èh® – 7500 

   »õ£® – 12,000 

   ö\õ¢u ÷uøÁUP Gkzux – 15,000 
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14. (a) What is shortworking? Explain the different method 
of recovery of shortworking usually found in royalty 
agreement. 

   £ØÓõUSøÓ v¸®£ö£ÓÀ GßÓõÀ GßÚ? μõ¯Ài 
PnUQÀ ö£õxÁõP Põn¨£k® £ØÓõUSøÓ 
v¸®£ö£ÓÀ «möhk¨£uØPõÚ £À÷ÁÖ •øÓPøÍ 
ÂÍUS[PÒ. 

Or 

 (b) On 1.1.2012 Rama Collieries Ltd leased or piece of 
land agreeing to pay a minimum rent of Rs. 2,000 
on the first year Rs. 4,000 in the second year and 
thereafter Rs. 6,000 p.a. merging onto a royalty of 
40 paise per tonne-with prove to recoup short 
workings over the first three years only.   

The figures of annual output for the four years to 
31.12.2015 were 1,000, 10,000, 18,000 and 20,000 
tonnes respectively. Record there transaction in the 
ledger A/c of the company. 

   1.1.2012 μõ©õ ÷Põ¼¯Ÿì {ÖÁÚ® J¸ {»zøu 
SzuøPUS Gkzx SøÓ¢u£m\ ÁõhøP¯õP ¹. 2,000 
•uÀ Á¸hzv¾®, 4,000 Cμshõ® Á¸hzv¾® 
©ØÖ® Auß ¤ÓS ¹. 6,000 p.a. μõ¯Ài²hß 
öPõkUP¨£mhx 40 ø£\õ J¸ hß Ãu® Cønzx 
•uÀ ‰ßÖ BskPÎÀ ©mk® £ØÓõSøÓø¯ Dk 
ö\´²® |õßS BskPÐUPõÚ Á¸hõ¢vμ 
EØ£zv°ß ¦ÒÎ ÂÁμ[PÒ 31.12.2015 1,000, 
10,000, 18,000 ©ØÖ® 20,000 hßPÒ Ãu®. C¢u 
£›ÁºzuøÚPøÍ {ÖÁÚzvß ÷£÷μiÀ £vÄ 
ö\´¯Ä®. 

15. (a) Explain the features of hire purchase system. 

   ÁõhøP öPõÒ•uÀ •øÓ°ß A®\[PøÍ 
ÂÍUPÄ®. 

Or 
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 (b) On 1.1.2016 Varun purchased machinery in hire 
purchase system. The payment is to be made  
Rs. 4,000 down (on singing of the contract) and  
Rs. 4,000 annually for three years. The cash price of 
the machinery is Rs. 14,900 and the rate of interest 
is 5%. Calculate the interest in each years 
instalment.  

   1.1.2016 AßÖ Á¸s ÁõhøP öPõÒ•uÀ •øÓ°À 
C¯¢vμ[PøÍ Áõ[QÚõº. Pmhn® ¹. 4,000 
•ß£n® (J¨£¢uzøu¨ øPö¯Êzvmk) ©ØÖ®  
¹. 4,000, ‰ßÖ BskPÐUS ö\¾zu¨£h 
÷Ásk® C¯¢vμ[PÎß öμõUP Âø» 14,900 
©ØÖ® Ámi ÂQu® 5% JÆöÁõ¸ Á¸hzvß 
uÁøn°¾® Ámiø¯U PnUQk[PÒ. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Mr. X has maintained his books under single entry 
method. From the following details calculate profit for the 
year and statement of affaire at the end of the year  
Rs. 1,000 (cost) furniture was sold for Rs. 5,000 on 
1.1.2018 10% depreciation is charged on furniture. He 
has drawn Rs. 1,000 pm. Rs. 2,000 was invested by him 
in 2018 as further capital.  

Particulars 1.1.2018 31.12.2018
Stock 40,000 60,000
Debtors 30,000 40,000
Cash 2,000 1,000
Bank 10,000 5,000
Creditors 15,000 25,000
Outstanding expenses 5,000 8,000
Furniture cost 3,000 2,000

 Bank balance on 1.1.2018 is as per cash book but the 
bank overdraft on 31.12.2018 is as per bank statement 
Rs. 2,000 cheque drawn in December 2018 have not been 
enchased with in the year.  

(OD)
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 v¸. X uÚx ¦zuP[PøÍ JØøÓ £vÄ •øÓ°À £μõ©›zx 
Á¸QÓõº. ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x BskUPõÚ 
»õ£zøu²®, Bsiß CÖv°À EÒÍ ÂÁPõμ[PÎß 
AÔUøPø¯²® PnUQk[PÒ. 1,000 (Âø») ©μa\õ©ßPÒ 
¹. 5,000 ÂØP¨£mhx. 1.1.2018 ©μa\õ©ßPÒ «x 10% 
÷u´©õÚ® ÂvUP¨£kQÓx. ö\õ¢u ö\»ÄUPõP 1000 
GkzxÒÍõº. ÷©¾® ‰»uÚ©õP ¹. 2,000 2018 •u½k 
ö\´uõº. 

ÂÁμ[PÒ 1.1.2018 31.12.2018

£[S 40,000 60,000

PhÚõÎPÒ 30,000 40,000

öμõUP® 2,000 1,000

Á[Q 10,000 5,000

PhÜ¢÷uõº 15,000 25,000

{¾øÁ°À EÒÍ ö\»ÄPÒ  5,000 8,000

©μa\õ©ßPÒ (Âø») 3,000 2,000

 1.1.2018 AßÖ Á[Q C¸¨¦ £n¨¦zuPzvß £i EÒÍx 
BÚõÀ 31.12.2018 AßÖ Á[Q JÁõ iμõ¨m Á[Q 
AÔUøP°ß £i EÒÍx. 2018 i\®£›À GkUP¨£mh  
¹. 2,000 Põ÷\õø» A¢u BsiØPõP ö\¾zu¨£hÂÀø». 

17. Mani co ltd of Calcutta has a branch at Patna goods are 
received to the Patna branch, the selling price being cost 
plus 25%. The Patna branch keeps its own sales ledger 
and transmits all cash received to Calcutta. All expenses 
are paid from Calcutta. From the following details 
prepare the Patna branch a/c for the year 2009.  

Particulars Amount 

Stock 1.1.2009 1,250 

Stock 31.12.2009 1,500 

Debtors 1.1.2009 700 

Debtors 31.1.2009 900 

Cash sales for the year 5,400 

(OD)
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Particulars Amount 

Credit sales for the year 3,500 

Goods invoiced from Calcutta 9,100 

Rent 400 

Wages 340 

Sundry expenses 80 

 öPõÀPzuõÂß ©o ÷Põ. ¼ªöhm £õmÚõÂÀ QøÍ 
EÒÍx. £õmÚõ QøÍUS ö£õ¸mPÒ ö£Ó¨£kQßÓÚ 
ÂØ£øÚ Âø» 25% ÷\ºzux. £õmÚõ QøÍ Auß ö\õ¢u 
ÂØ£øÚ¨ ¦zuPzøu øÁzxÒÍx. ö£Ó¨£mh AøÚzx 
£nzøu²® PÀPzuõÂØS ö\¾zu¨£kQßÓx. ¤ßÁ¸® 
ÂÁμ[PÎ¼¸¢x 2009 B® BsiØPõÚ £õmÚõ QøÍU 
PnUøPz u¯õ›UPÄ®. 

ÂÁμ[PÒ öuõøP

£[S 1.1.2009 1,250 

£[S 31.12.2009 1,500 

PhÚõÎPÒ 1.1.2009 700 

PhÚõÎPÒ 31.1.2009 900 
£n ÂØ£øÚ 5,400 
Phß ÂØ£øÚ 3,500 
PÀPzuõÂ¼¸¢x ö£õ¸mPÒ Âø»¨£mi¯À 9,100 
ÁõhøP 400 
Fv¯® 340 
£À÷ÁÖ ö\»ÄPÒ 80 

18. Mr. Umesh of Madurai consults you for preparing a 
statement of affairs. How will the following items appear 
in the various lists.  

 (i) Private liabilities Rs. 20,000 
 (ii) Unsecured loans Rs. 40,000 
 (iii) Loans from Guru Rs. 1,20,000 secured by plant and 

machinery. The estimated value of plant and 
machinery is Rs. 1,10,000 (Book value Rs. 1,16,000) 
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 (iv) Bills discounted Rs. 16,000 out of which bills of  
Rs. 10,000 are expected to be dishonoured.  

 (v) Loans from Pawan secured by first mortgage on life 
insurance policy Rs. 80,000. Surrender value of life 
insurance policy Rs. 1,00,000.   

 (vi) Land lord rent for 4 months @ Rs. 1.50 per month 
due. 

 (vii) Loans from Ram Rs. 70,000 secured by second 
charge on life insurance policy mentioned above. 

 (viii) Rate and taxes Rs. 800 

 (ix) Bank overdraft Rs. 60,000 secured by personal 
guarantee of a friend of the insolvent.  

 (x) Loans from wife Rs. 30,000 out of which she 
received Rs. 16,000 from her father. 

 (xi) Wages @ Rs. 30 per month per servant for 6 months 
for 3 servant. 

 (xii) Salaries @ Rs. 200 per month per clerk for 7 months 
for 4 clerks. 

 (xiii)  Bills payable Rs. 8,000. 
 ©xøμø¯ ÷\º¢u v¸. E÷©è ÂÁPõμ AÔUøPø¯z 

u¯õ›¨£uØPõP  E[PÎh® B÷»õ\øÚ ÷PmQÓõº. 
£À÷ÁÖ £mi¯ÀPÎÀ ¤ßÁ¸® E¸¨¦PÒ GÆÁõÖ 
÷ußÖ®. 

 (i) uÛ¯õº ö£õÖ¨¦PÒ ¹. 20,000 

 (ii) £õxPõ¨£ØÓ PhßPÒ ¹. 40,000 

 (iii) S¸Âh® Phß ¹. 1,20,000 Bø» ©ØÖ® 
C¯¢vμ[PÎß ©v¨¤h¨£mh ©v¨¦ ¹. 1,10,000 
(¦zuP ©v¨¦ ¹. 1,16,000) 

 (iv) ¤ÀPÒ uÒÐ£i ¹. 16,000 CvÀ ¹. 10,000 
©v¨¤ÇUP¨£k® GÚ Gvº£õºUP¨£kQÓx.  

 (v) B²Ò Põ¨¥mkU öPõÒøP°À •uÀ Ah©õÚzvß 
‰»® £Áõ›hª¸¢x ö£Ó¨£mh PhßPÒ ¹. 80,000. 
B²Ò Põ¨¥mk £õ¼]°ß \μshº ©v¨¦  
¹. 1,00,000.   
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 (vi) {» E›ø©¯õÍº 4 ©õu[PÐUS ÁõhøP 1.50 ©õu® 
ö\¾zu ÷Ásk®. 

 (vii) μõªhª¸¢x Phß ¹. 70,000 ÷©÷» SÔ¨¤mkÒÍ 
B²Ò, Põ¨¥mk £õ¼]°À CμshõÁx Pmhn©õP 

£õxPõUP¨£kQÓx. 

 (viii) ÂQu[PÒ ©ØÖ® Á›PÒ ¹. 800 

 (ix) Á[Q JÁº iμõL¨m ¹. 60,000 ö|õizuõº |s£›ß 
uÛ¨£mh EzuμÁõuzvß ‰»® £õxPõUP¨£kQÓx. 

 (x) ©øÚÂ°hª¸¢x Phß ¹. 30,000 AvÀ AÁÒ 

u¢øu°hª¸¢x 16,000 ö£ØÓõº. 

 (xi) Fv¯[PÒ ¹. 3 ÷Áø»¯õmPÐUS 6  ©õu[PÐUS 

J¸ ÷Áø»UPõμÝUS ©õu® 30 Ãu® Áõ[P¨£mhx.  

 (xii) \®£Í® ¹. 4  GÊzuºPÐUS 7  ©õu[PÐUS J¸ 

GÊzu¸US ©õu® 200 ¹£õ´ öPõkUP¨£mhÒÍx.  

 (xiii)  ö\¾zu ÷Ási¯ ¤ÀPÒ ¹. 8,000. 

19. A company acquired lease of amount at a minimum rent 
of Rs. 10,000 p.a. The royalty was fixed at Rs. 0.50 per 
tonne. Shortworking could be recouped withing three 
years following the year in which the shortworking occur. 
If there is stoppage of production due to strike is any 
year, the minimum rent world be proportionately reduced 
in regard to the length of the stoppage. 

 The output (in tonnes) of the mine was as follows. 

 1998 – 800 0 2001 – 26000 

 1999 – 12500 2002 – 17000 (Strike) 

 2000 – 21500 2003 – 13000 

 During 2002 there was strike lasting for 3 months. Show 
necessary ledger a/cs for each of the year in the books of 
the company.     
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J¸ {ÖÁÚ J¸ _μ[Pzøu SzuøPUS Áõ[Q¯x 

BskUS SøÓ¢u£m\® ¹. 10,000 ÁõhøPUS 

μõ¯Ài²hß 0.50 ¹£õ´ J¸ hßÛØUS GÚ 
{ºn°UP¨£mhx. G¢uöÁõ¸ Á¸hzv¾® ÷Áø»{Özu® 
Põμn©õP EØ£zv {Özu¨£k® £m\zuõÀ A¢u 
Á¸hzvØS Akzu ‰ßÖ BskPÐUSÒ SÖQ¯ 
÷Áø»{Özuøu v¸®£ ö£Ó •i²®. 

AμPzvß Ai¨£øh°À öÁÎ±k ¤ßÁ¸©õÖ C¸¢ux. 

 1998 – 800 0 2001 – 26000 

 1999 – 12500 2002 – 17000 (÷Áø» {Özu®) 

 2000 – 21500 2003 – 13000 

 2002 B® BsiÀ 3 ©õu[PÒ }izu ÷Áø»{Özu® 
{ÖÁÚzvß ¦zuP[PÎÀ JÆöÁõ¸ BskUS® 
÷uøÁ¯õÚ ÷£÷μk PnUSPøÍ PõmhÄ®. 

20. Ram co. ltd traded in refrigerations on hire purchase 
system and the accountant furnished the following 
information for the year 2015.  

Particulars Amount 

1.1.2015 stock in shop 30,000 

Instalment due and unpaid 18,000 

Stock with customer with H.P price 2,40,000 

31.12.2015 stock in shop 42,000 

Instalment due and unpaid 30,000 

Stock out with customer with HP price 2,76,000 

Cash received during the year 4,80,000 

 He has further stated that company makes a gross profit 
of 1/3rd on cost you are required to prepare the relevant 
accounts to ascertain profit for the year.  
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 μõ® ÷Põ. ¼ªöhm ÁõhøP öPõÒ•uÀ •øÓ°À 
SÎº\õuøÚ¨ ö£miPÎÀ ÁºzuP® ö\´x Á¸QÓx 
©ØÖ® PnUPõÍº 2015 B® BsiØPõÚ ¤ßÁ¸® 
uPÁÀPÒ ö£õÖzu¨£mhx.  

ÂÁμ[PÒ öuõøP

1.1.2015 Pøh°À C¸¨¦ 30,000 

ö\¾zu ÷Ási¯ uÁøn ©ØÖ® ö\¾zu¨£hõuøÁ 18,000 

H.P Âø» 2,40,000 ÁõiUøP¯õÍºPÐhß 
öPõkUP¨£mhx  

 

31.12.2015 Pøh°À C¸¨¦ 42,000 

uÁøn £õUQ ©ØÖ® ö\¾zu¨£hõuøÁ 30,000 

HP Âø» 2,76,000 ÁõiUøP¯õÍºPÐhß 
öPõkUP¨£mhx 

 

 4,80,000 A¢u BsiÀ ö£Ó¨£mh £n®  
{ÖÁÚ® ö\»ÂÀ 1/3 ö©õzu »õ£® DmkÁuõP AÁº 
TÔ²ÒÍõº. BskPõÚ »õ£zøuU PshÔ¯ ÷uøÁ¯õÚ 
PnUSPøÍ u¯õ›UP ÷Ásk®. 

 

 
———————— 
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COMPANY LAW AND SECRETARIAL PRACTICE -I 
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Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is Doctrine of Constructive notice? 

 BUP§ºÁ©õÚ AÔÂß ÷Põm£õk GßÓõÀ GßÚ? 

2. Define Section 8 companies. 

 £Sv 8À EÒÍ {Ö©zvøÚ Áøμ¯Ö. 

3. What is Red Herring Prospectus? 

 ]Á¨¦ öP›[ uPÁ»ÔUøP GßÓõÀ GßÚ? 

4. What is Deemed Prospectus? 

 P¸u¨£k® uPÁ»ÔUøP GßÓõÀ GßÚ? 

5. State the differences between Equity Shares and 
Preferences Shares. 

 \õuõμn £[SPÒ ©ØÖ® •ßÝ›ø© £[SPÒ Cøh÷¯ 
EÒ ÷ÁÖ£õkPøÍ TÖP. 

Sub. Code 
7BCS3C1 
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6. Who is an Underwriter? 

 JÖ¨¤Ç¨£õÍº Gß£Áº ¯õº? 

7. Define Company Secretary. 

 {Ö© ö\¯»õÍøμ Áøμ¯Ö. 

8. State the qualifications of a Company Secretary.  

 {Ö© ö\¯»õÍº uSvPøÍ TÖP. 

9. Define Depositor under Companies Act, 2013. 

 {Ö©a\mh® 2013 £i øÁ¨¦öuõøPø¯ Áøμ¯Ö. 

10. What is Debenture Trust Deed? 

 Phß£zvμ |®¤UøP £zvμ® GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions choosing either (a) or (b). 

11. (a) State the provisions for incorporation of company 
under the Companies Act, 2013. 

{Ö©a\mh® 2013 £i Tmk¸ÁõUP® {Ö©zvß 
ÂvPøÍ TÖP. 

Or 

 (b) State the difference between Memorandum and 
Articles of Association. 

Aø©¨¦•øÓ÷¯k ©ØÖ® \mh•øÓ÷¯k EÒÍ 
÷ÁÖ£õkPøÍ TÖP. 

12. (a) List down the contents of prospectus. 

  uPÁ»ÔUøP EÒÍ EÒÍhUP[PøÍ £mi¯¼kP. 

Or 

 (b) Explain Statement in lieu of prospectus. 

  £vÁõÚ uPÁ»ÔUøP Gß£øu ÂÍUSP. 
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13. (a) Discuss the types of preference shares. 

  £À÷ÁÖ ÁøP¯õÚ •ßÝ›ø© £[SPÒ ÂÁõvUP. 

Or 

 (b) Highlight the duties of Company Secretary with 
regard to allotment of shares. 

£[SPÒ JxURk öuõhº£õÚ {ÖÁÚ ö\¯»õÍ›ß 
Phø©PøÍ •ßÛø»¨£kzxP. 

14. (a) Explain the different types of secretaries. 

  £À÷ÁÖ ÁøP¯õÚ ö\¯»õÍºPøÍ £ØÔ ÂÍUSP. 

Or 

 (b) Discuss the duties of Company Secretary. 

  {Ö©a ö\¯»õÍºPÎß Phø©PøÍ ÂÁõvUP. 

15. (a) List down the particulars of Deposit Register. 

  øÁ¨¦{v £v÷ÁkPÎß EÒÍ ÂÁμ[PøÍ 
£mi¯¼kP. 

Or 

 (b) Discuss the provisions for acceptance of deposits. 

  HØP¨£k® øÁ¨¦{vPÎß ÂvPøÍ ÂÁõvUP. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Discuss the different types of companies. 

{Ö©zvß £À÷ÁÖ ÁøPPøÍ ÂÁõvUP. 

17. Discuss the liability for Mis-statement of Prospectus 
under Companies Act, 2013. 

 {Ö©a\mh® 2013£i uÁÓõÚ uPÁ»ÔUøP ö£õÖ¨¦PøÍ 
ÂÁõvUP. 
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18. Explain the procedure regarding issue of shares. 
 £[SPøÍ öÁÎ°kÁvÀ EÒÍ ÁÈ•øÓPøÍ ÂÍUSP. 

19. Discuss the provisions regarding appointment of 
Company Secretary. 

 {Ö© ö\¯»õÍ›ß {¯©Ú® ö\´ÁvÀ EÒÍ 
Âv•øÓPøÍ ÂÁõvUP. 

20. Discuss the provisions of Companies Act relating to loans 
and investment by companies. 

 {ÖÁÚ \mh ÂvPÎÀ  EÒÍ {ÖÁÚzvß PhßPÒ ©ØÖ® 
•u½kPÒ öuõhº£õÚ ÂvPøÍ ÂÁõvUP. 

————— 
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B.Com. (CS) DEGREE EXAMINATION, APRIL 2023. 

Third Semester 

Corporate Secretaryship 

PARTNERSHIP ACCOUNTING 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Who are called partners? 

 TmhõÎPÒ GßÖ AøÇUP¨£k£Áº ¯õº? 

2. What is current account? 

 |h¨¦UPnUS GßÓõÀ GßÚ? 

3. What is the purpose of preparing revaluation account? 

 ©Ö©v¨¥mkU PnUøPz u¯õ›¨£uß ÷|õUP® GßÚ? 

4. What are the items that are to be transferred to the 
capital a/c? 

‰»uÚ PnUQØS ©õØÓ¨£h ÷Ási¯ |hÁiUøPPÒ 
¯õøÁ? 

5. What do you understand by a sale to a company? 

 J¸ {ÖÁÚzvØS ÂØ£øÚ ö\´Áuß ‰»® }[PÒ GßÚ 
¦›¢x öPõÒQÕºPÒ? 

6. Write any four reasons for amalgamations 

 JßÔøn¨¦US H÷uÝ® |õßS Põμn[PøÍ GÊxP. 

Sub. Code 
7BCS3C2 
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7. What is meant by dissolution of partnership? 

 Tmhõsø© Pø»¨¦ GßÓõÀ GßÚ? 

8. Short note on rules laid down in Garner Vs Murray. 

 PõºÚº öÁº\ì •º÷μÂÀ ÁSUP¨£mh ÂvPÒ £ØÔ¯ 
SÔ¨¦. 

9. What do you mean by piecemeal distribution? 

 xsk xshõP ¤›zu¼uÀ Gß£uß }Ãº ö£õ¸Ò GßÚ? 

10. Short note on maximum loss method. 

 AvP£m\ CÇ¨¦ •øÓ £ØÔ¯ SÔ¨¦. 

 Part B (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) What is partnership deed? What are its contents? 

   Tmhõsø© £zvμ® GßÓõÀ GßÚ? Auß 
EÒÍhUP[PÒ GßÚ? 

Or 

 (b) Distinguish between ‘Fixed capital and Fluctuating 
Capital. 

   {ø»•uÀ ©ØÖ® ©õÖ£k® •uÀ BQ¯ÁØøÓ 
÷ÁÖ£kzxP. 

12. (a) Arul and Balu are partners sharing profits in the 
ratio of 3:2. Their Balance sheet as on 1th January 
2021 was as follows:  

Liabilities  Assets  

Sundry Creditors 15,000 Plant and Machinery 30,000

Capital Account :     

Arul 30,000 Furniture 10,000

Balu 25,000 Stock 20,000



F–8951 

  

  3

General Reserve 10,000 Debtors 18,000

  Cash at bank 2,000

    

 80,000  80,000

  Charu is admitted as a partner on the above date on the 
following terms:  

 (i) He will pay Rs. 10,000 as good will for 1/4 th share 
in profits. 

 (ii) The assets are to be valued as under: Plant and 
Machinery Rs. 32,000, Stock Rs. 18,000; Provision 
on Debtors at 5%  

 (iii) It was found that creditors included a sum of  
Rs. 1,400 which was not to be paid. 

 (iv) There was a liability for compensation to workers 
amounting to Rs. 2,000. 

 (v) Charu was to introduce Rs.20,000 as capital and the 
capitals of the other partners were to adjusted in 
the profit sharing ratio. For this purpose, current 
accounts were to be opened. Prepare Revaluation 
account, Capital account. 

  A¸Ò ©ØÖ® £õ¾ BQ÷¯õº 3:2  GßÓ ÂQuzvÀ 
C»õ£[PøÍ¨ £Qº¢xöPõÒÐ® TmhõÎPÒ. 2021 
áÚÁ› 1 B® |õÎÀ AÁºPÎß C¸¨¦{ø»U SÔ¨¦ 
¤ßÁ¸©õÖ: 

ö£õÖ¨¦PÒ  ö\õzxPÒ  
£Ø£» PhÜ¢÷uõº 15,000 Aø» ©ØÖ® ö£õÔÁøP 30,000
•uÀ PnUS:     
A¸Ò 30,000 AøÓP»Ò 10,000
£õ¾ 25,000 \μUQ¸¨¦ 20,000
ö£õxUPõ¨¦ 10,000 PhÚõÎPÒ 18,000

 Á[Q¸¨¦ öμõUP® 2,000
   
 80,000  80,000
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  \õ¸ ¤ßÁ¸® Âv•øÓPÎß£i ÷©ØTÔ¯ ÷uv°À 
TmhõÎ¯õP AÝ©vUP¨£mhõº: 

  (i) »õ£zvÀ ¼ £[SUS ¹. 10,000 |Øö£¯º BP 
ö\¾zxÁõº.  

  (ii) ö\õzxUPÒ ¤ßÁ¸©õÖ ©v¨¤h¨£h ÷Ásk®: 
Bø» ©ØÖ® ö£õÔÁøP ¹. 32,000, £[S ¹. 
18,000; PhÚõÎPÒ «uõÚ JxUS 5%   

  (iii) PhÚõÎPÒ ö\¾zu¨£hõu ¹. 1,400 öuõøPø¯ 
EÒÍhUQ¯x PshÔ¯¨£mhx. 

  (iv) öuõÈ»õÍºPÐUS ¹. 2,000 CÇ¨¥k ÁÇ[P 
÷Ási¯ ö£õÖ¨¦ C¸¢ux. 

  (v) \õ¸ ¹. 20,000 •uÀ AÔ•P¨£kzu÷Ásk® ©ØÖ® 
¤Ó TmhõÎPÐhß ‰»uÚ[PÒ »õ£¨ £QºÄ 
ÂQuzvÀ \›ö\´¯¨£h ÷Ásk®. CuØPõÚ |h¨¦U 
PnUSPÒ öuõh[P¨£h ÷Ásk®. ©Ö©v¨¥mkU 
PnUS, •uÀ PnUS BQ¯ÁØøÓz u¯õ›UPÄ®. 

Or 

 (b) A and B are partners in a firm. They share profits 
and losses in the ratio of 3:1. Their Balance sheet is 
as follows:  

Liabilities  Assets  

Capital A 80,000 Buildings 1,00,000

             B 40,000 Plant 25,000

Reserve 40,000 Stock 40,000

Creditors 60,000 Debtors 70,000

Bills payable 20,000 Cash 5,000

 2,40,000  2,40,000

  C is admitted into partnership for 1/5th share of the 
business on the following terms:  

  (i) Building is revalued at Rs. 1,20,000 

  (ii) Plant is depreciated to 20% 
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  (iii) Stock is revalued at Rs. 30,000 

  (iv) Provision for bad debts is made at 5% 

  (v) C should introduce 50% of the adjusted 
capitals of both A and B. Open various 
accounts and the new Balance sheet after the 
admission. 

   H ©ØÖ® ¤ Gß£ÁºPÒ J¸ {ÖÁÚzvß 
TmhõÎPÒ. AÁºPÒ •øÓ÷¯ 3:1 GßÓ ÂQuzvÀ 
C»õ£&|mhzøu ¤›zxU öPõÒQßÓÚº. AÁºPÎß 
C¸¨¦ {ø»U SÔ¨¦ ¤ßÁ¸©õÖ. 

ö£õÖ¨¦PÒ  ö\õzxPÒ  

•uÀ     A 80,000 Pmih® 1,00,000

             B 40,000 Bø» 25,000

Põ¨¦ 40,000 \μUQ¸¨¦ 40,000

PhÚõÎPÒ 60,000 PhÚõÎPÒ 70,000

ö\¾zxÁuØS›¯ 
©õØÖa^mk 

20,000 öμõUP® 5,000

 2,40,000  2,40,000

   ] Gß£Áº ¤ßÁ¸® Âv•øÓPÎß £i ÁoPzvß 
1/5 £[SUS Tmhõsø©°À AÝ©vUP¨£kQÓõº. 

  (i) Pmihzvß ©Ö©v¨¥k ¹. 1,20,000 

  (ii) Bø»  20% ÷u´©õÚ® 

   (iii) \μUQ¸¨¦ ¹. 30,000 BP ©Ö©v¨¥k 
ö\´¯¨£kQÓx 

  (iv) ÁμõUPhß «x I¯UPhß JxUS 5% 

   (v) H ©ØÖ® ¤ TmhõÎPÎß \›ö\´¯¨£mh 
•uÀPÎÀ 50% I ] Gß£Áº AÔ•P¨£kzu 
÷Ásk®. ¦v¯ TmhõÎ ÷\ºUøPUS¨ ¤ÓS 
£À÷ÁÖ PnUSPÒ ©ØÖ® ¦v¯ C¸¨¦{ø»U 
SÔ¨ø£ u¯õ›UPÄ®.  
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13. (a) A and B are partners sharing profits equally in a 
business similar to that carried on by C they 
decided to amalgamate the two business by taking 
over the asset and liabilities of C and admitting him 
into partnership from 31.12.2019.  

Liabilities A and B  C Assets A and B C 

Creditors 3,700  7,500 Cash at Bank 7,500 1,350

Bill payable ---  2,650 Debtors 3,600 5,500

Capitals: A 6,000  --- Stock 3,100 2,000

                B 4,500  --- C Capital --- 1,300

 14,200  10,150  14,200 10,150

  The new partnership was to be carried on as A, B 
and C and it was agreed between all the parties 
that the books debts and stock of all business of A 
and B were to be reduced by 10% and that of C was 
to be credited with such an amount for goodwill as 
would make his capital in the new business equal to 
1/3 of the joint capital of A and B therein. Prepare 
the necessary accounts. 

   H ©ØÖ® ¤ Gß£x J¸ ÁoPzvÀ \©©õP 
»õ£zøu¨ £Qº¢x öPõÒÐ® TmhõÎPÒ. ] °ß 
ö\õzx ©ØÖ® ö£õÖ¨¦PøÍ øP¯P¨£kzv, 
31.12.2019 •uÀ AÁøμ Tmhõsø©US 
AÝ©v¨£uß ‰»® Cμsk ÁoP[PøÍ²® 
JßÔønUP •iÄ ö\´uÚº. 

ö£õÖ¨¦PÒ H & 
¤ 

 ] ö\õzxPÒ H & 
¤ 

] 

PhÚõÎPÒ 3,700  7,500 Á[Q°¸¨¦ 
öμõUP® 

7,500 1,350

ö\¾zxÁuØS›¯ 
©õØÖa^mk 

---  2,650 PhÚõÎPÒ 3,600 5,500

•uÀ : H 6,000  --- \μUQ¸¨¦ 3,100 2,000
          ¤ 4,500  --- ] •uÀ --- 1,300

 14,200  10,150  14,200 10,150
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   ¦v¯ Tmhõsø© A, B ©ØÖ® C ©ØÖ® GÚ öuõhμ 
÷Ásk®. ¦zuP[PÒ PhßPÒ GßÖ AøÚzx 
uμ¨¤Ú¸US® Cøh÷¯ J¨¦U öPõÒÍ¨£mhx 
©ØÖ® A ©ØÖ® B Cß  AøÚzx ÁoP[PÎß 
£[SPÐ® 10% SøÓUP¨£h ÷Ásk®. ©ØÖ®  
C US |Àö»snzvØPõP AzuøP¯ öuõøP ÁμÄ 
øÁUP¨£h ÷Ásk®. Ax ¦v¯ ÁoPzvÀ AÁμx 
‰»uÚzøu A ©ØÖ® B Cß Tmk ‰»uÚzvÀ  
1/3 US \©©õP ©õØÖ®. AvÀ ÷uøÁ¯õÚ 
PnUSPøÍz u¯õ›UPÄ®. 

Or 

 (b) A, B and C are equal partners in M/s. ABC and co. 
the balance sheet of the firm as on 31.12.2021 was 
as follows:  

Liabilities Rs. Assets Rs. 

Loan from bank 10,00,000 Land and building 2,40,000

Sundry creditors 2,00,000 Plant and machinery 4,00,000

Capital accounts: A 1,00,000 Stock 6,00,000

                              B 2,00,000 Debtors 2,00,000

  C’s capital 60,000

 15,00,000  15,00,000

   On that data, it was decided that the firm would be 
converted into limited company on the following 
terms:  

   (i) Land and Building is valued at Rs. 4,00,000. 

   (ii) Plant and machinery be valued at  
Rs. 5,00,000. 

   (iii) 10% of book value to be written off for 
obsoletes stock. 

   (iv) A provision for bad debts to be made at 10% of 
the debtors. 
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   (v) A provision for discount on creditors at 6% is 
to be made. 

   (vi) The new company would issue 24,000 equity 
shares of Rs. 10 each fullypaid, such shares to 
be valued at Rs. 3,00,000 and 1,320, 8% 
debentures of Rs. 100 each. Close the books of 
the firm and give journal entries in the books 
of the company. 

   A, B & C BQ÷¯õº M/s. ABC {ÖÁÚzvß 
TmhõÎPÒ. 31.12.2021 AßÓø¯ |õÎmh 
{ÖÁÚzvß C¸¨¦ {ø»USÔ¨¦ ¤ßÁ¸©õÖ: 

ö£õÖ¨¦PÒ ¹. ö\õzxPÒ ¹. 

Á[Q°À ö£ØÓ 
Phß 

10,00,000 {»® ©ØÖ® Pmih® 2,40,000

PhÜ¢÷uõº 2,00,000 Bø» ©ØÖ® 
C¯¢vμ® 

4,00,000

•uÀ A 1,00,000 Stock 6,00,000

        B 2,00,000 Debtors 2,00,000

  C’s capital 60,000

 15,00,000  15,00,000

  AßøÓ¯ ÷uv°À, {ÖÁÚ® ¤ßÁ¸® 
{£¢uøÚPÎß Ai¨£øh°À Áøμ¯ÖUP¨£mh 
{ÖÁÚ©õP ©õØÓ¨£k® GÚ •iÄ ö\´¯¨£mhx. 

  (i) {»® ©ØÖ® Pmihzvß ©v¨¦ ¹. 4,00,000. 

   (ii) Bø» ©ØÖ® C¯¢vμ[PÎß ©v¨¦ 
¹. 5,00,000. 

   (iii) Põ»õÁv¯õÚ \μUQ¸¨¤ß ¦zuP ©v¨¤À 10%  
uÒÐ£i ö\´¯¨£h ÷Ásk®. 

   (iv) 10%  PhÚõÎPÐUS ÁμõU PhßPÐUPõÚ 
JxUS. 

   (v) PhÜ¢÷uõ¸UPõÚ 6% uÒÐ£iUPõÚ JxUS 
ö\´¯¨£h ÷Ásk®. 
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   (vi) ¦v¯ {ÖÁÚ® ¹.10 Ãu® 24,000 \õuõμn¨ 
£[SPøÍ öÁÎ°mk, AzuøP¯ £[SPÒ 
©v¨¦ ¹.3,00,000 ©ØÖ® 1,320 8% PhÜmk¨ 
£zvμ[PÒ u»õ ¹.100 {ÖÁÚzvß 
¦zuP[PøÍ CÖvaö\´x {ÖÁÚzvß 
÷uøÁ¯õÚ SÔ¨÷£mk £vÄPøÍ u¸P. 

14. (a) R, S and M are partners sharing profit and losses as 
2:2:1. Their Balance sheet as at 30.6.2018 was as 
follows:  

Liabilities Rs. Assets Rs. 
Creditors 4,000 Cash at Bank 5,000
Capitals: R 10,000 Debtors 4,000
                S 4,000 Stock 5,000
               M 2,000 Fixtures 2,000
Reserve fund 5,000 Machinery 9,000
 25,000  25,000

  They decide to dissolve the business. The following 
are the amounts realized. Machinery Rs. 8,500; 
Furniture Rs. 1,500; Stock Rs. 7,000 and Debtors 
Rs. 3,700; Creditors allowed a discount of 2% and R 
agreed to bear all realization expenses. For this 
service R is paid Rs. 120. Actual expenses amounted 
to Rs. 900 which was withdrawn by him from the 
firm. There was an unrecorded asset of Rs. 500 
which was taken over by S at Rs. 400. Pass 
necessary accounts and Bank accounts.  

   R, S ©ØÖ® M BQ÷¯õº TmhõÎPÒ •øÓ÷¯ 
AÁºPÐøh¯ C»õ£ |mhzøu 2:2:1 GßÓ ÂQuzvÀ 
£Qº¢xUöPõÒQßÓÚº. AÁºPÐøh¯ 30.03.2018 
|õÐøh¯ C¸¨¦{ø»USÔ¨¦ ¤ßÁ¸©õÖ. 

ö£õÖ¨¦PÒ ¹. ö\õzxPÒ ¹. 

PhÜ¢÷uõº 4,000 Á[Q°¸¨¦ öμõUP® 5,000

•uÀ:     R 10,000 PhÚõÎPÒ 4,000

                S 4,000 \μUQ¸¨¦ 5,000
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               M 2,000 AøÓP»ß 2,000

Põ¨¦ {v 5,000 C¯¢vμ® 9,000

 25,000  25,000

 AÁºPÒ öuõÈø» Pø»UP •iÄ ö\´QÓõºPÒ. 
¤ßÁ¸£øÁ ©Ö©v¨¥k ö\´u öuõøPPÒ. 
C¯¢vμ[PÒ ¹.8,500 AøÓP»ß ¹.1,500; \μUQ¸¨¦ 
¹.7,000 ©ØÖ® PhÚõÎPÒ ¹.3,700 PhÜ¢÷uõº «x 
2% uÒÐ£iø¯ AÝ©vzuÚº ©ØÖ® R AøÚzx 
©Ö©v¨¥mka ö\»ÄPøÍ²® HØP J¨¦UöPõshx. 
C¢u ÷\øÁUS R&US ¹.120 ö\¾zu¨£kQÓx. 
Esø©¯õÚ ö\»Ä ¹.900 BS®. Aøu AÁº 
{ÖÁÚzvÀ C¸¢x v¸®£¨ ö£ØÓõº. £vÄ 
ö\´¯¨£hõu ¹.500 ö\õzx C¸¢ux, Aøu 
¹.400US S GkzxU öPõshõº. ÷uøÁ¯õÚ 
PnUSPÒ ©ØÖ® Á[Q PnUSPøÍ u¯õ›UP. 

Or 

 (b) X, Y, Z sharing profits in the proportion of 3:2:1 
decided to dissolve partnership on 31.12.2020. The 
Balance sheet as on that date was as under:  

Liabilities Rs. Assets Rs. 

Capital Account:    
                          X 

30,000 Leasehold premises 12,500

                          Y 10,000 Goodwill 20,000

                           Z 10,000 Machinery 30,520

Bank loan 11,500 Stock 7,550

Lease hold 
Redemption fund 

6,000 Investment 6,330

Life Policy fund 13,000 Joint Life Policy 12,000

Sundry Creditors 15,200 Sundry Debtors 5,800      
(-) Reserve            500 

5,300

  Cash at Bank 1,500

 95,700  95,700
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   The joint life policy is surrendered for Rs. 10,000. 
The investment is taken over by Y for Rs. 8,000. X 
agreed to discharge the bank loan. The remaining 
assets are sold Rs. 86,700. The expenses of 
realization amount to Rs. 850. Show necessary 
ledger accounts.  

   X, Y, Z TmhõÎPÒ u[PÐøh¯ C»õ£zøu 
•øÓ÷¯ 3:2:1 GßÓ ÂQuzvÀ ¤›¢x öPõsh 
Tmhõsø©ø¯ 31.12.2020 AßÖ Pø»UP •iÄ 
GkzuÚº. AÁºPÒ AßøÓ¯ ÷uv°ß C¸¨¦ 
{ø»USÔ¨¦ RÌPshÁõÖ. 

ö£õÖ¨¦PÒ ¹. ö\õzxPÒ  ¹. 

•uÀ:               X 30,000 SzuøP ÁÍõP® 12,500

                        Y 10,000 |Øö£¯º 20,000

                        Z 10,000 C¯¢vμ® 30,520

Á[QU Phß 11,500 \μUS 7,550

SzuøP «mk {v 6,000 •u½kPÒ 6,330

Põ¨¥mk 
•øÚ©® {v 

13,000 Tmk B²Ò  
•øÚ©® 

12,000

£Ø£» PhÜ¢÷uõº 15,200 £Ø£» PhÚõÎPÒ 5,800

 (–)Põ¨¦ 500 5,300

 Á[Q°¸¨¦ öμõUP® 1,500

 95,700  95,700

   Tmk B²Ò •øÚ©® ¹.10,000US v¸®£ 
ö£Ó¨£mhx. •u½k ¹.8,000vØS Y ‰»® 
GkzxUöPõÒÍ¨£mhx. X Á[Q PhøÚ  ö\¾zu 
J¨¦UöPõshõº. «u•ÒÍ ö\õzxUPÒ ¹.86,700 
ÂØP¨£kQßÓÚ. ©Ö©v¨¥mka ö\»ÄPÒ ¹.850 
BS®. ÷uøÁ¯õÚ ÷£÷μmkU PnUSPøÍU Põmk. 
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15. (a) Following is the Balance sheet of M/s A, B and C 
who share profits and losses in the ratio of 2:2:1.  

Liabilities  Assets  

Sundry Creditors 15,000 Cash in hand 2,000

Capital:    A 15,000 Sundry Debtors 12,000

                 B 12,000 Stock 22,000

                C 4,000 Furniture 10,000

 46,000  46,000

  The firm was dissolved and assets were realized 
gradually. Rs. 10,000 were received once, Rs. 15,000 
another time and Rs. 9,000 finally. Show how each 
installment is to be paid.  

   2:2:1 GßÓ ÂQuzvÀ »õ£® ©ØÖ® |èh[PøÍ¨ 
£Qº¢x öPõÒÐ® M/s A, B ©ØÖ® C TmhõÎPÎß 
C¸¨¦{ø»U SÔ¨¦ ¤ßÁ¸©õÖ. 

ö£õÖ¨¦PÒ  ö\õzxPÒ  

£Ø£» 
PhÜ¢÷uõº 

15,000 øP°¸¨¦ öμõUP® 2,000

•uÀ: A 15,000 £Ø£» PhÚõÎPÒ 12,000

           B 12,000 \μUQ¸¨¦ 22,000

           C 4,000 AøÓP»ß 10,000

 46,000  46,000

   {ÖÁÚ® Pø»UP¨£mhx ©ØÖ® ö\õzxUPÒ 
£i¨£i¯õP ©Ö©v¨¥k ö\´¯¨£mhx. •øÓ÷¯ 
¹.10,000 ©ØöÓõ¸ •øÓ ¹.15,000 CÖv¯õP 
¹.9,000 ö£Ó¨£mhx. JÆöÁõ¸ uÁøn²® 
GÆÁõÖ ö\¾zu¨£h ÷Ásk® Gß£øuU Põmk. 

Or 
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 (b) P, Q and R were partners sharing profits and losses 
in the ratio of 3:2:1. The partnership was dissolved 
on 31st December 2019 and their balance sheet on 
that date was as follows:  
Liabilities Rs. Assets Rs. 

Sundry Creditors 6,000 Cash 2,000

P’s Capital 16,000 Other assets 38,000

Q’s Capital 10,000  

R’s Capital 3,000  

Profit and loss account 5,000  

 40,000  40,000

   The assets were realized gradually Rs. 10,000 was 
received in the installment; Rs. 10,000 the second 
time and Rs. 13,000 finally. Prepare a statement to 
show who should be paid first and how much. 

   P, Q ©ØÖ® R GÝ® TmhõÎPÒ 3:2:1 GßÓ 
ÂQuzvÀ C»õ£ |mh[PøÍ¨ £Qº¢x öPõÒÐ® 
TmhõÎPÒ. Tmhõsø©ø¯ 31 i\®£º 2019 AßÖ 
Pø»UP¨£mhx ©ØÖ® A¢u ÷uv°À AÁºPÎß 
C¸¨¦{ø» ¤ßÁ¸©õÖ C¸¢ux:  

ö£õÖ¨¦PÒ ¹. ö\õzxPÒ ¹. 

£Ø£»PhÜ¢÷uõº 6,000 öμõUP® 2,000

P °ß •uÀ 16,000 ¤Ó ö\õzxPÒ 38,000

Q °ß •uÀ 10,000  

R °ß •uÀ 3,000  

C»õ£  
|mhUPnUS 

5,000  

 40,000  40,000

   ö\õzxUPÒ £i¨£i¯õP ©Ö©v¨¤k ö\´uvÀ •uÀ 
uÁøn¯õP ¹.10,000 Qøhzux; CμshõÁx •øÓ 
¹.10,000 ©ØÖ® CÖv¯õP ¹.13,000. •u¼À 
¯õ¸US GÆÁÍÄ £n® öPõkUP ÷Ásk® 
Gß£øuU Põmh J¸ AÔUøPø¯z u¯õ›UPÄ®. 
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Meena and Srilekha are partners with capitals  
Rs. 1,60,000 and Rs. 1,20,000 respectively. The terms of 
the partnership agreement as follows: (a) Interest on 
capital and drawings @ 12% p.a. (b) Meena and Srilekha 
to get a monthly salary of Rs. 4,000 and 6,000 
respectively. (c) Sharing of profits or loss will be in the 
ratio of their capital contribution. The profit for the year 
ended 31.12.2020 before making above appropriation was 
Rs. 2,00,600. The drawing of Meena and Srilekha were  
Rs. 80,000 and Rs. 1,00,000 respectively. Interest on 
drawings amounted to Rs. 4,000 for Meena and Rs. 5,000 
for Srilekha. Prepare profit and loss appropriation 
account and partner capital account fixed method and 
fluctuating. 

«Úõ ©ØÖ® ÿ÷»Põ BQ÷¯õº •øÓ÷¯ ¹.1,60,000 
©ØÖ® ¹.1,20,000 ‰»uÚzxhß TmhõÎPÍõP EÒÍÚº. 
Tmhõsø© J¨£¢uzvß Âv•øÓPÒ ¤ßÁ¸©õÖ :  
(A) ‰»uÚ® ©ØÖ® Gk¨¦ «uõÚ Ámi BskUS @ 12% 
(B) «Úõ ©ØÖ® ÿ÷»Põ •øÓ÷¯ ¹.4,000 ©ØÖ® 6,000 
©õu \®£Í® ö£Ó ÷Ásk®. (C) »õ£® AÀ»x |mhzøu¨ 
£Qº¢x öPõÒÁx AÁºPÎß •uÀ £[PÎ¨¤ß ÂQuzvÀ 
C¸US® 31.12.2020 AßÖ •iÁøh¢u BsiØPõÚ 
»õ£® ÷©÷» JxURk ö\´ÁuØS •ß ¹.2,00,600 «Úõ 
©ØÖ® ÿ÷»Põ Gk¨¦ •ø÷Ó¯ ¹.80,000 ©ØÖ® 
¹.1,00,000 Gk¨¦ «uõÚ Ámi «ÚõÄUS ¹.4,000 ©ØÖ® 
ÿ÷»PõÄUS ¹.5,000 »õ£® ©ØÖ® |mh JxURmk 
PnUS ©ØÖ® TmhõÎPÒ •uÀ PnUS, {ø»•uÀ 
©ØÖ® ©õÖ£k® •uÀ BQ¯ÁØøÓ u¯õº ö\´¯Ä®. 

17. The following was the Balance sheet of Manoj, Gupta and 
Sutha who were equal partners.  

Liabilities  Assets  

Capital Account – Manoj 16,800 Buildings 19,500

                              Gupta 12,600 Furniture 2,400

                              Sutha 6,000 Stock 11,400
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Creditors 6,000 Debtors 10,800

Bills payable 3,300 Cash 600

 44,700  44,700

 They agreed to Dheeran into partnership and give him ¼ 
share in the profits on the following terms:  

 (a) That Dheeran should bring in Rs. 9,000 for good will 
and Rs. 15,000 as capital. 

 (b) That half of the good will shall be withdrawn by the 
old partners. 

 (c) That stock and furniture be depreciated by 10%. 

 (d) That a provision of 5% on debtors be created for 
doubtful debts. 

 (e) That a liability for Rs. 1,080 be created against bills 
discounted. 

 (f) That the value of the building having appreciated 
should be valued at Rs. 27,000. That the values of 
assets and liabilities other than cash and capital are 
not to be altered. Give necessary ledger accounts 
and the Balance sheet. 

 ¤ßÁ¸ÁÚ C¸¨¦{ø»USÔ¨¦ ©÷Úõä, S¨uõ ©ØÖ® 
_uõ BQ÷¯õº \© TmhõÎPÍõP C¸¢uÚº. 

ö£õÖ¨¦PÒ ¹. ö\õzxPÒ ¹. 
•uÀ PnUS & ©÷Úõä 16,800 Pmih[PÒ 19,500
                    S¨uõ 12,600 AøÓP»ß 2,400
                     _uõ 6,000 \μUQ¸¨¦ 11,400
PhÜ¢÷uõº 6,000 PhÚõÎPÒ 10,800
ö\¾zuÁuØS›¯  
©õØÖa^mk 

3,300 öμõUP® 600

 44,700  44,700

 AÁºPÒ wμÝhß Tmhõsø©US ÷\º¢xU öPõÒÍ 
J¨¦UöPõshÚº ©ØÖ® ¤ßÁ¸® {£¢uøÚPÎß £i 
»õ£zvÀ ¼ £[øP AÁ¸US ÁÇ[QÚº. 
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 (A) wμß |Øö£¯μõP ¹.9,000 ©ØÖ® •uÀ ¹.15,000 
öPõsk Áμ ÷Ásk®. 

 (B) |Øö£¯›À £õvø¯ £øÇ¯a TmhõÎPÒ £õvø¯ 
v¸®£ ö£Ó¨£kQÓx. 

 (C) \μUQ¸¨¦ ©ØÖ® BøÓP»ß «x 10% \uÃu® 
÷u´©õÚ®. 

 (D) PhÚõÎPÒ «x 5% \uÃμ® I¯UPhß JxUS 

 (E) uÒÐ£i ö\´¯¨£mh ©õØÖa^mkUS GvμõP 
¹.1,080UPõÚ ö£õÖ¨¦ E¸ÁõUSP. 

 (F) Pmihzvß ©Ö©v¨¥k ö\´u ©v¨¦ ¹.27,000 GÚ 
E¯ºzxP £n® ©ØÖ® •uÀ uÂμ ©ØÓ ö\õzxUPÒ 
©ØÖ® ö£õÖ¨¦PÎß ©v¨¦PÒ ©õØÓ¨£hUThõx. 
÷uøÁ¯õÚ ÷£÷μmkU PnUSPÒ ©ØÓ® C¸¨¦ 
{ø»USÔ¨ø£ u¸P. 

18. The Balance sheet of a firm stood as follows on 
31.12.2017  

Liabilities  Assets  

Creditors 17,000 Cash at Bank 6,200

Bills payable 1,200 Debtors 20,000 

Capital a/c: Amir 20,000 Less Provision 1,000 19,000

Balu 20,000 Stock 22,000

Cherian 10,000 Plant and Machinery 15,000

  Fixtures 1,500

  Good will 4,500

 68,200  68,200

 It was decided to sell the business to Andawar Ltd which 
agreed to allot 6,000 fully paid shares of Rs. 10 each in 
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full satisfaction of the purchase consideration. The 
company assumed liabilities except the bank balance. 
The partner Amit, Bala and Cherian shared profit and 
losses in proportion of 1/2, 1/3 and 1/6 respectively. 
Prepare ledger accounts showing the final settlements as 
regards partners assuming that the shares were duly 
allotted. 

 31.12.2017 AßÖ J¸ {ÖÁÚzvß C¸¨¦{ø» 
¤ßÁ¸©õÖ C¸¢ux. 

ö£õÖ¨¦PÒ  ö\õzxPÒ  

PhÜ¢÷uõº 17,000 Á[Q°¸¨¦ 
öμõUP® 

6,200

ö\¾zxÁuØS›¯ 
©õØÖa^mk 

1,200 PhÚõÎPÒ     

              20,000

•uÀ PnUS A«º 20,000 PÈUP :  

JxUS      1,000 
19,000

                  £õ¾ 20,000 \μUS 22,000

               ö\›¯ß 10,000 Bø» ©ØÖ® 
C¯¢vμ® 

15,000

  ö£õ¸zxUPÒ 1,500

  |Øö£¯º 4,500

 68,200  68,200

 ÁoPzøu BshÁº ¼ªöhm {ÖÁÚzvØS ÂØP •iÄ 
ö\´¯¨£mhx, Ax öPõÒ•uÀ £›^»øÚ, •Ê v¸¨v°À 
u»õ ¹.10 Ãu® 6,000 •Êø©¯õP ö\¾zu¨£mh 
£[SPøÍ JxUP J¨¦UöPõshx. Á[Q C¸¨¦ uÂμ 
ö£õÖ¨¦PøÍ {ÖÁÚ® HØÖUöPõshx. TmhõÎPÒ 
Aªz, £õ»õ ©ØÖ® ö\›¯ß BQ÷¯õº •øÓ÷¯ 1/2, 1/3 
©ØÖ® 1/6 GßÓ ÂQuzvÀ »õ£® ©ØÖ® |mhzøu¨ 
£Qº¢x öPõshÚº. £[SPÒ •øÓ¯õP JxUP¨£mhuõPU 
P¸v TmhõÎPøÍ¨ ö£õÖzuÁøμ CÖv wºÄPøÍU 
Põmk® ÷£÷μmkU PnUSPøÍz u¯õ›UPÄ®. 
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19. The following is the Balance sheet of Arun, Babu, Cheran 
and David on 31.12.2021. They shared profit and losses in 
the ration of 4:3:2:1  

Liabilities  Assets  

Capitals: Arun 15,000 Fixed assets 20,000

               Babu 10,000 Current assets 6,000

               Cheran 1,500 Good will 5,000

Sundry Creditors 5,000 David capital 500

 31,500  31,500

 David has no separate assets and liabilities. The partners 
decided to dissolve the business. Fixed assets realized 
Rs.15,000 and current assets realised Rs.5,000. The 
Goodwill is valueless. Realisation expenses amount to 
Rs.1,500. Cheran can contribute only Rs.250 from his 
separate resources. Prepare necessary accounts according 
to Garner Vs. Murray assuming that both cheran and 
David have become insolvent. 

 31.12.2021 AßÖ A¸s, £¨¾, ÷\μß ©ØÖ® ÷hÂm 
BQ¯ TmhõÎPÎß C¸¨¦{ø»U SÔ¨¦ ¤ßÁ¸©õÖ 
AÁºPÒ »õ£® ©ØÖ® |mhzøu 4:3:2:1GßÓ ÂQuzvÀ 
£Qº¢x öPõshÚº. 

ö£õÖ¨¦PÒ  ö\õzxPÒ  

•uÀ : A¸s 15,000 {ø»¯õÚ  
ö\õzxUPÒ 

20,000

             £õ¦ 10,000 |h¨¦a ö\õzxUPÒ 6,000

          ÷\μß 1,500 |Øö£¯º 5,000

£Ø£»  
PhÜ¢÷uõº 

5,000 ÷hÂm •uÀ 500

 31,500  31,500

 ÷hÂmiØS uÛ ö\õzxUPÒ ©ØÖ® ö£õÖ¨¦PÒ CÀø».  
TmhõÎPÒ ÁoPzøu Pø»UP •iÄ ö\´uÚº. 
{ø»¯õÚ ö\õzxUPÒ ¹.15,000 ©ØÖ® |h¨¦a 
ö\õzxUPÒ ¹.5,000 |Øö£¯º ©v¨£ØÓx. ©Ö©v¨¥mka 
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ö\»ÄPÒ ¹.1,500 ÷\μß uÚx uÛ Buõμ[PÎÀ C¸¢x 
¹.250 ©mk÷© ÁÇ[P •i²®. PõºÚº vs •º÷μ £i 
÷uøÁ¯õÚ  PnUSPøÍ u¯õº ö\´¯Ä®. ÷\μß ©ØÖ® 
÷hÂm C¸Á¸® vÁõ»õQ ÂmhuõP P¸u¨£h ÷Ásk®. 

20. C, J and T are partners sharing profits in the ratio of 
3:2:1. The partnership was dissolved on 30.6.2021 on 
which date their position was as follows:  

Liabilities  Assets  

Capital: C 1,40,000 Cash in hand 28,000

              J 70,000 Stock 1,12,000

             T 14,000 Debtors 2,94,000

Creditors 2,10,000  

 4,34,000  4,34,000

 There was a bill discounted for Rs. 10,000 due on 
30.11.2012. It was agreed that net realization should be 
distributed piecemeal at the end of each month. The stock 
was completely disposed off. The balance of debtors 
irrecoverable. The acceptor of discounted bill paid the 
amount on the due date. The relization and expenses 
were as follows:  

Date Stock and Debtors Expenses

31.07.2021 84,000 7,000 

31.08.2021 1,26,000 5,400 

30.09.2021 70,000 4,900 

31.10.2021 77,000 3,500 

30.11.2021 35,500 3,500 

 Prepare a statement showing the piecemeal distribution 
of cash. 
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 C, J ©ØÖ® T BQ¯øÁ 3:2:1 GßÓ ÂQuzvÀ »õ£zøu¨ 
£Qº¢x öPõÒÐ® TmhõÎPÒ. Tmhõsø© 30.6.2012 
AßÖ Pø»UP¨£mhx, A¢u ÷uv°À AÁºPÎß {ø» 
¤ßÁ¸©õÖ: 

ö£õÖ¨¦PÒ  ö\õzxPÒ  

•uÀ:    C 1,40,000 øP°¸¨¦ öμõUP® 28,000

              J 70,000 \μUQ¸¨¦ 1,12,000

              T 14,000 PhÚõÎPÒ 2,94,000

PhÜ¢÷uõº 2,10,000  

 4,34,000  4,34,000

 30.11.2012 AßÖ {¾øÁ°À EÒÍ ¹.10,000US uÒÐ£i 
ö\´¯¨£mh ©õØÖa^mk C¸¢ux. {Pμ ©Ö©v¨¥miÀ 
JÆöÁõ¸ ©õu CÖv°¾® ]Ôx ]ÔuõP £Qº¢x 
AÎUP¨£h ÷Ásk® GßÖ J¨¦UöPõÒÍ¨£mhx. C¸¨¦ 
•ØÔ¾® APØÓ¨£mhx. PhÚõÎPÎß C¸¨¦ v¸®£¨ 
ö£Ó •i¯õux. uÒÐ£i ö\´¯¨£mh ©õØÖa^møh 
HØÖUöPõÒ£Áº {¾øÁz ÷uv°À öuõøPø¯ 
ö\¾zvÚõº. ö\¯À£kzuÀ ©ØÖ® ö\»ÄPÒ ©Ö©v¨¥mk 
©ØÖ® ö\»ÄPÒ ¤ßÁ¸©õÖ   

÷uv \μUS ©ØÖ®  
PhÚõÎ 

ö\»ÄPÒ

31.07.2021 84,000 7,000 

31.08.2021 1,26,000 5,400 

30.09.2021 70,000 4,900 

31.10.2021 77,000 3,500 

30.11.2021 35,500 3,500 

 £nzøu ]Ôx ]ÔuõP £Qº¢x Põmk® AÔUøPø¯z 
u¯õ›UPÄ®. 

 

 
———————— 
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B.Com (CS) DEGREE EXAMINATION, APRIL 2023 

Third Semester 

Corporate Secretaryship 

MARKETING MANAGEMENT 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all the questions. 

1. Define Marketing. 
 \¢øu°¯¼ß C»UPn® TÖP. 

2. What is marketing planning? 
 \¢øu°h¼ß vmhªhÀ GßÓõÀ GßÚ? 

3. What is Selling? 
 ÂØ£øÚ GßÓõÀ GßÚ? 

4. What is Hand to mouth buying? 
 ]UPÚ öPõÒ•uÀ GßÓõÀ GßÚ? 

5. What is Product? 
 ö£õ¸Ò GßÓõÀ GßÚ? 

6. What is Industrial goods? 
 öuõÈØ\õø»¨ ö£õ¸ÒPÒ GßÓõÀ GßÚ? 

7. What is Advertising copy? 
 ÂÍ®£μ |PÀ GßÓõÀ GßÚ? 
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8. What is an Advertising Agency? 
 ÂÍ®£μ Höáß] GßÓõÀ GßÚ? 

9. What is pricing? 
 Âø» GßÓõÀ GßÚ? 

10. What is Cost-plus pricing? 
 öPõÒÂø» – ªøP¯õÚ Âø» {ºn¯® GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Explain the evolution of marketing? 

  \¢øu°¯¼ß £›nõ© ÁÍºa] £ØÔ ÂÍUSP. 

Or 

 (b) What are the importances of market segmentation? 

  \¢øu£S¨¤ß •UQ¯zxÁ® £ØÔ TÖP. 

12. (a) Explain the Elements of buying Function.  

  öPõÒ•uØ £o°ß Ai¨£øh TÖPÒ £ØÔ 
ÂÍUSP. 

Or 

 (b) What are the methods of buying? Explain. 

  öPõÒ•uÀ ö\´²® •øÓPÒ ¯õøÁ? ÂÍUSP. 

13. (a) What are the importance of product policies? 
Explain. 

ö£õ¸möPõÒøP°ß •UQ¯zxÁzøu¨ £ØÔ 
ÂÍUSP. 

Or 

 (b) Explain the Factor determining the product mix. 

  ö£õ¸mP»øÁ°ß £›nõ©zøu {ºn°US® 
PõμoPÒ £ØÔ ÂÍUSP. 
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14. (a) Explain the Factors to be considered before 
introducing a new product. 

  ¦v¯ ö£õ¸Ò AÔ•P® ö\´²® •ß Bμõ¯¨£h 
÷Ási¯ PõμoPÒ £ØÔ ÂÍUSP. 

Or 

 (b) What are the characteristics of a Good brand name? 
Explain. 

  Aøh¯õÍ ö£¯º öÁØÔ ö£Ó ÷uøÁ¯õÚ 
]Ó¨£®\[PÒ £ØÔ ÂÍUSP. 

15. (a) List any five factors involved in pricing decision. 

  Âø» {ºn¯zu¼ß EÒÍ I¢x Põμn[PøÍ 
Á›ø\¨£kzxP. 

Or 

 (b) Explain the objectives of pricing decisions. 

  Âø» {º¯nz wº©õÚ[PÎß ÷|õUP[PøÍ £ØÔ 
ÂÍUSP. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Detail the various functions of marketing. 
\¢øu°h¼ß £À÷ÁÖ £oPøÍ ÂÁ›. 

17. Explain in detail on the bases for market segmentation. 
 \¢øu £S¨¤ØPõÚ Ai¨£øh TÖPÒ £ØÔ ÂÁ›. 

18. Explain the various stages of PLC. 
 ö£õ¸Ò B²Ò _ÇØ]°ß £À÷ÁÖ £¸Á[PøÍ ÂÁ›. 

19. Detail the various media of Advertisement. 
ÂÍ®£μ \õuÚ[PÎß £õS£õkPÒ £ØÔ ÂÁ›. 

20. Explain the various kinds of pricing. 
Âø» {ºn¯zvß £À÷ÁÖ ÁøPPøÍ ÂÁ›. 

    ————— 
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Fourth Semester 

Corporate Secretaryship 

COMPANY LAW AND SECRETARIAL PRACTICE — II 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Who is called as a director? 

 C¯USÚº GÚ ¯õøμ TÓ»õ®? 

2. Who is a managing director? 

 {ºÁõP C¯USÚº Gß£Áº ¯õº? 

3. What is key managerial personnel.? 

 •UQ¯ {ºÁõP £o¯õÍºPÒ GßÓõÀ GßÚ? 

4. Who is whole time director? 

 •Ê÷|μ C¯USÚº Gß£Áº ¯õº? 

5. What is annual general meeting? 

 Á¸hõ¢vμ ö£õxU Tmh® GßÓõÀ GßÚ? 

6. Write a note on board meeting. 

 {ºÁõP\ø£ Tmh® SÔzx SÔ¨¦ GÊxP.  

7. What are the objectives of SFIO? 

 SFIO &Âß ÷|õUP[PÒ ¯õøÁ? 
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8. What is an audit report? 

 uoUøP AÔUøP GßÓõÀ GßÚ? 

9. What are the modes of company winding up? 

 {ÖÁÚ Pø»¨¤ß •øÓPÒ ¯õøÁ? 

10. Who is liquidator? 

 Pø»¨£õÍº Gß£Áº ¯õº? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Explain the procedures adopted for reappointment 
of retiring director.  

  K´Äö£Ö® C¯USÚøμ «sk® {¯©Ú® 
ö\´ÁuØPõÚ |øh•øÓø¯ ÂÍUPÄ®.  

Or 

 (b) Explain the role played by a director as trustee.  

  AÓ[PõÁ»μõP J¸ C¯USÚº BØÔ¯ £[PÎ¨ø£ 
ÂÍUSP.  

12. (a) Distinguish between manager and managing 
director.  

  ÷©»õÍº ©ØÖ® {ºÁõP C¯USÚøμ ÷ÁÖ£kzxP.  

Or 

 (b) What are the prequisities not included in 
managerial remuneration? 

  {ºÁõP Fv¯zvÀ ÷\ºUP¨£hõu TkuÀ \¾øPPÒ 
¯õøÁ? 
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13. (a) Explain various types of meetings.  

  £À÷ÁÖ ÁøP¯õÚ Tmh[PøÍ ÂÁ›UPÄ®.  

Or 

 (b) What is the purpose of AGM? When is AGM to be 
held? 

  AGMCß ÷|õUP® GßÚ? AGM GÆÁõÖ 
|øhö£Ö®? 

14. (a) What are the duties of NFRA? 

  NFRA &ß Phø©PÒ ¯õøÁ? 

Or 

 (b) Describe the powers of auditors.  

  uoUøP¯õÍºPÎß AvPõμ[PÒ ¯õøÁ? 

15. (a) List the areas of liquidation functions. 

  Pø»¨¦ ö\¯À£õkPÎß £SvPøÍ £mi¯¼k[PÒ.  

Or 

 (b) Explain maintenance of books and audit of accounts 
in respect of winding up of companies.  

   ¦zuP[PÎß £μõ©›¨¦ ©ØÖ® {ÖÁÚ[PøÍ 
Pø»¨¦ öuõhº£õÚ PnUSPÎß uoUøP 
BQ¯ÁØøÓ ÂÍUPÄ®.  

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain the duties and liabilities of directors. 

 C¯USnºPÎß Phø©PÒ ©ØÖ® ö£õÖ¨¦PøÍ ÂÍUSP. 
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17. Enumerate the duties of secretary with regard to 
appointment of whole time directors and managing 
directors. 

 •Ê÷|μ C¯USÚºPÒ ©ØÖ® {ºÁõP C¯US|ºPÒ 
{¯©Ú® öuõhº£õÚ ö\¯»õÍ›ß Phø©PøÍ 
£mi¯¼hÄ®.  

18. Describe the various kinds of resolutions. 

 £À÷ÁÖ ÁøP¯õÚ wº©õÚ[PøÍ ÂÁ›UPÄ®.  

19. Explain the powers of inspector to investigate into affairs 
related of company. 

 {ÖÁÚ® öuõhº£õÚ ÂÁPõμ[PøÍ Â\õ›US® 
B´ÁõÍ›ß AvPõμ[PøÍ ÂÍUPÄ®.  

20. Discuss the powers and duties of company liquidator. 

 {ÖÁÚ Pø»¨£õÍ›ß AvPõμ[PÒ ©ØÖ® Phø©PøÍ¨ 
£ØÔ ÂÁõvUPÄ®.  

———————— 
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FINANCIAL MANAGEMENT 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Define Financial Management. 
 {v ÷©»õsø©&ÁøμÂ»UPn® u¸P. 

2. What is capital structure? 
 •u½mk Pmhø©¨¦ GßÓõÀ GßÚ? 

3. What is working capital? 
 |øh•øÓ •uÀ GßÓõÀ GßÚ? 

4. What is capitalization? 
 ‰»uÚ BUP® GßÓõÀ GßÚ? 

5. What is Net Income Approach? 
 {Pμ Á¸©õÚ AqS•øÓ GßÓõÀ GßÚ? 

6. What is cost of capital? 
 ‰»uÚ ö\»Ä GßÓõÀ GßÚ? 

7. What is Time value of money? 
 £nzvß ÷|μ©v¨¦ GßÓõÀ GßÚ? 

8. What is leverage? 

 ö|®¦uÀ GßÓõÀ GßÚ? 
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9. What is cash Management? 

 öμõUP ÷©»õsø© GßÓõÀ GßÚ? 

10. What is Inventory management? 

 \μUQ¸¨¦ ÷©»õsø© GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Explain the Risk-Return Trade off. 

  ÁºzuP •u½k Á¸Áõ´ ©ØÖ® Auß A£õ¯[PøÍ 
ÂÍUSP. 

Or 

 (b) Explain various method to Approach Financial 
Management. 

  {v ÷©»õsø© £ØÔ¯ £À÷ÁÖ AqS•øÓø¯ 
ÂÁ›UPÄ®. 

12. (a) A company needs Rs.6,00,000 for construction of a 
new plant. The following three financial plans are 
feasible. 

  (i) The company may issue 60,000 equity shares 
of Rs.10 each. 

  (ii) The company may issue 30,000 equity shares 
Rs.10 each and 3,000 debenture of Rs.100 each 
bearing 8% coupon Rate of Interest. 

  (iii) The company may issue 30,000 equity shares 
of Rs.10 each and 3000 preferential share of 
Rs.100 each bearing 8% rate of Interest. 

  The Profit before interest and taxes (PBIT) is 
expected to the Rs. 1,50,000. Corporate tax rate is 
50% 

  Calculate the earnings per share under the three 
plans. 
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  J¸ {ÖÁÚ® Auß ¦v¯ Pmhø©¨¦PõP ¹.6,00,000 
÷uøÁ¨£kQÓx. RÌÁ¸® 3 {vvmh® \õzv¯ TÓõP 
EÒÍx. 

(i) {Ö©® 60,000 \õuõμn £[SPøÍ ¹.10 Ãu® 
£[SøÍ ÂkUP»õ® 

  (ii) {Ö©® 30,000 \õuõμn £[SPøÍ ¹.10 Ãu® 
©ØÖ® 3,000 PhÜmk £zvμ[PøÍ ¹.100 Ãu® 
8% Ámi ÂQuzvÀ ÂkUP»õ® 

  (iii) {Ö©® 30,000 \õuõμn £[SPøÍ ¹.10 Ãu® 
©ØÖ® 3,000 •ßÝ›ø© £[SPøÍ ¹.100 
Ãu® 8% Ámi ÂQuzvÀ ÂkUP»õ® 

  Ámi ©ØÖ® Á› PÈ¨£uØS •¢øu¯ C»õ£® 
¹.1,50,000 GÚ Gvº£õºUP £kQÓx. ÁoP {ÖÁÚ 
Á› 50% 

  RÌPsh ‰ßÖ vmhzvØS® & J¸ £[QØPõÚ 
Á¸Áõ´ PnUQhÄ®.  

Or 

 (b) A firm sells a product at Rs. 10 per unit. The firm 
produces and sells 400 units. The variable cost per 
unit is Rs.5. 

  Calculate the operating leverage in each of the 
following situations. 

  (i) When fixed costs are Rs. 800 

  (ii) When fixed costs are Rs. 1,000 

  (iii) When fixed costs are Rs. 1,500 
  J¸ {Ö©® J¸ ö£õ¸øÍ ¹.10 Ãu® ÂØ£øÚ 

ö\´QÓx. {Ö©® 400 ö£õ¸øÍ EØ£zv ö\´x, 
ÂØ£øÚ²® ö\´QÓx. 

©õÖ£k® ö\»Ä J¸ ö£õ¸ÐUS ¹.5 

  ¤ßÁ¸® {ø»PÐUS HØ£ ö\¯À£õmk £ØÔ¯a 
ö\»õÁoø¯a PnUQkP. 

  (i) ©õÓõ ö\»ÄPÒ ¹. 800 

  (ii) ©õÓõ ö\»ÄPÒ ¹. 1,000 

  (iii) ©õÓõ ö\»ÄPÒ ¹. 1,500 
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13. (a) Hindustan motors Ltd. Expects its cost of goods sold 
for the next year to be Rs. 12,00,000. The expected 
operating cycle is 90 days. 

  The company’s policy is to carry minimum cash 
balance of Rs.1,00,000. the working capital 
requirements. 

  Hindustan motors Ltd. ö£õ¸øÍ ÂØ£uØPõP 
Gvº£õºUP¨£k® ö\»Ä ¹. 12,00,000 
Gvº£õºUP¨£mh ö\¯À£õmk `ÇØ] 90 |õmPÒ 

  P®ö£Û öPõÒøP°ß£i SøÓ¢u£m\ öμõUP C¸¨¦ 
¹.1,00,000 |øh•øÓ •uÀ öuõøP°ß ÷uøÁø¯ 
PnUQhÄ®. 

Or 

 (b) Explain various method of calculating working 
capital requirement. 

  |øh•øÓ •uø» PnUQk® £À÷ÁÖ •øÓPøÍ 
ÂÍUPÄ®. 

14. (a) Write a short note on: 

  (i) Over capitalization 

(ii) Under capitalization 

  (iii) Fair capitalization 

  ]Ö SÔ¨¦ GÊxP. 

(i) AvP ‰»uÚUP® 

  (ii) SøÓ¢u ‰»uÚ BUP® 

  (iii) \›¯õÚ ‰»uÚ BUP® 

Or 

 (b) A Project under consideration by your company 
requires a capital Investment of Rs. 60 Lakhs. 
Interest on term loan is 10% p.a. and tax rate is 
50%. Calculate the point of indifference for the 
project. If the debt equity ratio insisted by the 
financing agencies is 2:1.   
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  E[PÒ {ÖÁÚzvØPõÚ •u½k ¹.60 »m\® 
÷uøÁ£kQÓx. SÔ¨¤mh Põ» Phß ªuõÚ Ámi 
ÂQu® BskUS 10% ©ØÖ® Á› ÂQu® 50%. 
©õÓõ¨ ¦ÒÎø¯ PnUQkP. Phß ©ØÖ® 
£[SPÐUPõÚ ÂQu® 2:1 GßÖ C¸¢uõÀ. 

15.  (a) From the following particulars, calculate whether 
the firm  has surplus or deficiency of cash. 

 Normal periods Peak periods
Desired days of cash 5 4
Average daily out  
flows                         

Rs.25,000
Rs.50,000

Actual cash 
balance in hand      

Rs. 1,00,000
Rs. 1,50,00

  ¤ßÁ¸® ÂÁμ[PøÍ öPõsk, {Ö©zvß 
öμõUP{ø» AvP©õP (AÀ»x) SøÓÁõP EÒÍuõ 
GÚ PnUQkP. 

 ö£õxÁõÚ 
Põ»® 

•UQ¯ Põ»®

öμõUP® ÷uøÁ£k® |õÒ  5 4
\μõ\› öμõUP öÁÎö\ÀuÀ ¹.25,000 ¹.50,000
øP°¸¨¦ öμõUP® ¹. 1,00,000 ¹. 1,50,00

Or 

 (b) A company sells goods on cash as well as on credit. 
The following particulars are extracted from the 
book of the company. 

 Rs.

Gross sales  4,00,000

Cash sales  80,000

Sales return 28,000

Debtors at  the end 36,000

B/R at the end 8,000

Provision for doubtful bets 3,000

Calculate average collection period
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  J¸ {ÖÁÚ® ö£õ¸øÍ öμõUPzvØS®, PhÝUS® 
ÂØ£øÚ ö\´xÒÍx. ¤ßÁ¸® ÂÁμ[PÒ 
{ÖÁÚzvß ¦zuPzv¼¸¢x GkUP¨£mhx. 

 ¹.

ö©õzu ÂØ£øÚ 4,00,000
öμõUP ÂØ£øÚ 80,000
ÂØ£øÚ v¸¨£® 28,000
PhÚõÎPÒ (CÖv) 36,000
ö£Öu¾US›¯ ©õØÖ^mk 8,000
I¯UPhß JxUS  3,000
\μõ\› ö£Öu¾UPõÚ Põ»zøu PnUQkP.

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. “The objective of wealth maximization is superior to 
profit maximisation” – Do you agree? Comment.   

 ö\õzx AvP›zuÀ C»õ£zøu AvP›zuø» Âh ]Ó¢u 
SÔU÷PõÒ BS®. Cøu }[PÒ HØÖöPõÒQÕºPÍõ? 
ÂÍUPÄ®. 

17. Company A and company B are in the same risk class 
and identical except that A uses Debt while B uses equity 
only. The levered firm A has 10% Debentures of  
Rs. 9,00,000. Both the firms earn 20% on their total 
assets of Rs. 15 lakhs. The corporate tax rate is 40% and 
equity capitalisation rate is 15% for all equity company.  

 (a) Compute the value of companies A and B using Net 
Income Approach. 

 (b) Compute the value of companies A and B using Net 
Operating Income Approach. 

 (c)  Calculate the overall cost of capital (ko) for 
companies A and B  

 {ÖÁÚ® A ©ØÖ® {ÖÁÚ® B J¸ Âu©õÚ 
{v{ø»ø©°À EÒÍÚ. BÚõÀ {ÖÁÚ® A &PhÜmk 
£zvμ[PøÍ £¯ß£kzv¯x, B &\õuõμn £[SPøÍ 
©mk® £¯ß£kzv¯x. {ÖÁÚ® A &10% PhÜmk 
£zvμ[PøÍ ¹.9,00,000 E£÷¯õQzux. 
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 C¸ {ÖÁÚ[PÐ® Auß ö\õzxPÒ ¹.15 »m\® «x 20% 
Á¸Áõ´ DmkQÓx. Á›ÂQu® 40%, \õuõμn £[SPÎß 
•u¼Ú©õUP ÂQu® 15% 

 (A) {ÖÁÚ® A ©ØÖ® B&°ß ©v¨ø£ -& NI •øÓ°À 
PnUQkP. 

 (B) {ÖÁÚ® A ©ØÖ® B ©v¨ø£ & NOI •øÓ°À 
PnUQkP. 

 (C)  {Ö©® A ©ØÖ® B&°ß ö©õzu ‰»uÚ ö\»ÄPøÍ   
(ko) PnUQkP.  

18. Two firms U and L are identical in all respects except the 
degree of leverage. Firm U does not use any debt in its 
financing (unlevered). Firm L has 6% debentures of  
Rs. 5,00,000 (levered). The firms have earnings before 
Interest and tax (EBIT) of Rs. 1,50,000 and the equity 
capitalization rate is 10%. Assuming the corporate tax at 
40%, calculate the value of the firms using MM approach. 

 {Ö©® U ©ØÖ® L J÷μ ©õv›¯õÚ {ø»ø¯ Eøh¯x. 
{Ö©® U G¢uÂu©õÚ PhÜmk¨£zvμ[PøÍ²® 
£¯ß£kzuÂÀø» (ö|®¦÷Põ»ØÓ) {Ö©® ‘L’ 6% PhÜmk 
£zvμzøu ¹.5,00,000 £¯ß£kzv¯x (ö|®¦÷PõÀ) 
{Ö©® Ámi ©ØÖ® Á› ö\¾zxÁuØS •ß Dmi¯ 
Á¸Áõ´ ¹.1,50,000 ©ØÖ® £[SPÎß ‰»uÚ©õUPÀ 
ÂQu® 10% ÁoP {ÖÁÚ Á› 40% ©õP P¸uÄ®. 
{Ö©zvß ©v¨ø£ ‘MM’ •øÓ°À PnUQhÄ®.  

19. Moon Ltd. and Star Ltd. have provided you with the 
following  

 Moon Ltd Star Ltd 
Sales (in units) 20,000 20,000
Price per unit Rs.50 Rs.50
Variable cost per unit Rs.20 Rs.25
Fixed operating cost Rs.4,00,000 Rs.3,00,000
Fixed financing cost Rs.1,00,000 Rs.50,000

 Which firm do you consider to be more risky and why? 
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 Moon Ltd ©ØÖ® Star Ltd {ÖÁÚzvß ÂÁμ[PÒ 
¤ßÁ¸ÁÚ. 

 Moon Ltd Star Ltd 
ÂØ£øÚ 20,000 20,000
J¸ ö£õ¸Ò Âø» ¹.50 ¹.50
©õÖ£k® ö\»Ä (J¸ ö£õ¸ÐUS) ¹.20 ¹.25
{ø»¯õÚ ö\¯À£õmk Âø» ¹.4,00,000 ¹.3,00,000
{ø»¯õÚ {v°¯À Âø» ¹.1,00,000 ¹.50,000

G¢u {ÖÁÚ® AvP {v{ø» B£zvÀ EÒÍx, Hß 
GÚÄ® ÂÍUPÄ®. 

20. Two components A and B are used as follows.  
Normal usage 50 units each per week; Minimum usage 
25 unit each per week; maximum usage 75 units each per 
week; Reorder quantity – A : 300 units, B : 500 units, Re-
order period A – 4 to 6 weeks; B – 2 to 4 weeks. 
Calculate for each component  

 (a) Re-order level 
 (b) Minimum level 
 (c) Maximum level 
 (d) Average stock level 
 A ©ØÖ® B GßÓ C¸ TÖPÒ ¤ßÁ¸©õÖ 

£¯ß£kzu¨£kQÓx. ö£õxÁõÚ £¯ß£õk 50 
A»SPÒ/J¸ Áõμ®; SøÓ¢u £m\ £¯ß£õk 25 
A»SPÒ/J¸ Áõμ®; AvP£m\ £¯ß£õk 75 A»SPÒ/J¸ 
Áõμ®  

 ©Ö©v¨¦ AÍÄ  

 A : 300 A»SPÒ, B : 500 A»SPÒ 

©Ö öPõÒ•uÀ Põ»® A – 4 •uÀ 6  Áμõ®  

 B – 2 •uÀ 4 Áõμ® 

PnUQkP 

 (A) ©ÖöPõÒ•uÀ {ø» 
 (B) SøÓ¢u£m\ {ø» 
 (C) AvP£m\ {ø» 
 (D) \μõ\› \μUQ¸¨¦ {ø» 

———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is secondary data? 

 Cμshõ® {ø» uμÄ GßÓõÀ GßÚ? 

2. State the meaning of classification. 

 ÁøP¨£õmiß ö£õ¸øÍU TÖP. 

3. Write a note on geometric mean. 

 ö£¸US \μõ\› SÔzx SÔ¨¦ GÊxP. 

4. What are the demerits of average? 

 \μõ\›°ß SøÓ£õkPÒ ¯õøÁ? 

5. What is Regression analysis? 

 öuõhº¦¨ ÷£õUS £S¨£õ´Ä GßÓõÀ GßÚ? 

6. Write a short note on standard deviation. 

 uμÂ»UP® SÔzx ]Ö SÔ¨¦ GÊxP. 

Sub. Code 
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7. What do you mean by cost of living index number? 

 ÁõÌUøP ö\»Ä SÔ±mk Gs SÔzx }Âº AÔÁx ¯õx? 

8. What is secular trend? 

 £ßöÚk[Põ»¨ ÷£õUS GßÓõÀ GßÚ? 

9. What is a mutually exclusive event? 

 JßøÓö¯õßÖ Â»US® {PÌa] GßÓõÀ GßÚ? 

10. Write a note on conditional probability. 

 {£¢uøÚUSm£mh {PÌuPÄ SÔzx SÔ¨¦ GÊxP. 

 Part B  (5 × 5 = 25) 

Answer all the questions, choosing either (a) or (b). 

11. (a) Explain the limitations of statistics. 

  ¦ÒÎÂÁμ[PÎß Áμ®¦PøÍ ÂÍUSP. 

Or 

 (b) The marks obtained by 50 students are given below: 

31 13 46 31 30 45 39 42 30 6 

30 30 46 36 2 41 44 18 29 63 

44 30 19 5 44 18 7 25 21 30 

6 22 24 37 15 5 39 32 12 20 

42 31 19 14 23 28 17 53 22 21 

  Construct a group frequency distribution. 
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  50 ©õnÁºPÒ ö£ØÓ ©v¨ö£sPÒ R÷Ç 
öPõkUP¨£mkÒÍÚ. 

31 13 46 31 30 45 39 42 30 6 

30 30 46 36 2 41 44 18 29 63 

44 30 19 5 44 18 7 25 21 30 

6 22 24 37 15 5 39 32 12 20 

42 31 19 14 23 28 17 53 22 21 

  SÊ AvºöÁs Â{÷¯õPzøu E¸ÁõUPÄ®. 

12. (a) Calculate Harmonic mean for the data given below : 

X 40-44 45-49 50-54 55-59 60-64 

Y 8 15 27 44 18 

  R÷Ç öPõkUP¨£mkÒÍ uPÁÀPøÍU öPõsk 
^›ø\a \μõ\›ø¯U PnUQhÄ®. 

X 40-44 45-49 50-54 55-59 60-64 

Y 8 15 27 44 18 

Or 

 (b) Calculate Median, Q1, Q3, D6, and P40 : 

X 20-30 30-40 40-50 50-60 60-70 

Y 20 10 15 15 40 

  Cøh{ø» \μõ\›, Q1, Q3, D6 ©ØÖ® P40  PnUQhÄ®: 

X 20-30 30-40 40-50 50-60 60-70 

Y 20 10 15 15 40 
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13. (a) Calculate Standard deviation and coefficient of 
variation : 

X 05-10 10-15 15-20 20-25 25-30 30-35 35-40 40-45 

Y 6 5 15 10 5 4 3 4 

  uμÂ»UP® ©ØÖ® ÷ÁÖ£õmkU öPÊ PnUQhÄ®. 

X 05-10 10-15 15-20 20-25 25-30 30-35 35-40 40-45 

Y 6 5 15 10 5 4 3 4 

Or 

 (b) Calculate Karl Pearson Coefficient of correlation 
from the following wing data : 

Marks in Tamil 48 54 62 35 43 49 54 66 32 47

Marks in English 42 47 59 24 37 59 50 51 20 36

  ¤ßÁ¸® uμÄPÎ¼¸¢x PõºÀ ¤¯º\ß JmkÓÄ 
öPÊøÁ PnUQhÄ®. 

uªÌ ©v¨ö£sPÒ 48 54 62 35 43 49 54 66 32 47 

B[Q»® ©v¨ö£sPÒ 42 47 59 24 37 59 50 51 20 36 

14. (a) Find the trend value by using 3 early moving 
average : 

Year 2000 2001 2002 2003 2004 2005

Exports (Rs. Crore) 9.8 14.3 12.5 11.9 10.1 14.9 

Year 2006 2007 2008 2009 2010  

Exports (Rs. Crore) 15.9 15.7 15 15.4 18.9  
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  ‰ßÓõsk |P¸® \μõ\› £¯ß£kzv ÷£õUS ©v¨¦ 
PnUQhÄ®. 

Bsk 2000 2001 2002 2003 2004 2005

HØÖ©v (¹. ÷Põi°À) 9.8 14.3 12.5 11.9 10.1 14.9 

Bsk 2006 2007 2008 2009 2010  

HØÖ©v (¹. ÷Põi°À) 15.9 15.7 15 15.4 18.9  

Or 

 (b) With the help of following data, calculate fisher 
ideal index number and show that it satisfies both 
the reversal test. 

2010 2015  
Commodity 

Price Quantity Price Quantity

A 100 8 150 6 

B 25 10 45 5 

C 10 15 25 10 

D 20 20 26 15 

  ¤ßÁ¸® uμÄPÎß EuÂ²hß L¤åº Ii¯À 
SÔ±mk Gs PnUQmk ©ØÖ® Ax uø»RÌ 
÷\õuøÚPÒ Cμsøh²® v¸¨v¨£kzxQÓx 
Gß£øu PõmhÄ®. 

2010 2015  
ö£õ¸mPÒ 

Âø» Gøh Âø» Gøh 

A 100 8 150 6 

B 25 10 45 5 

C 10 15 25 10 

D 20 20 26 15 
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15. (a) Write short note on following : 

  (i) Experiment and Events 

  (ii) Exhaustive events 

  (iii) Complementary events 

  (iv) Addition theorem. 

  ¤ßÁ¸ÁÚÁØøÓ ]Ö SÔ¨¦ GÊuÄ® : 

  (i) £›÷\õuøÚ ©ØÖ® {PÌÄPÒ 

  (ii) ¯õÄ©ÍõÂ¯ {PÌÄPÒ 

  (iii) {μ¨¦ {PÌÄPÒ  

  (iv) TmhÀ ÷uØÓ®. 

Or 

 (b) A bag contains 5 white and 8 red balls. Two 
drawings of 3 balls are made such that  

  (i)  the balls are replaced before the second trail, 
and  

  (ii)  the balls are not replaced before the second 
trial.  

  Find the probability that the drawing will give 3 
white and the second 3 red balls in each case. 

   J¸ ø£°À 5 öÁÒøÍ ©ØÖ® 8 ]Á¨¦ £¢xPÒ 
EÒÍÚ. ‰ßÖ £¢xPÎÀ Cμsk £¢xPÒ 
Gk¨£uØS  

  (i) CμshõÁx {PÌÂØS •ß £¢xPÒ ©õØÓ¨£k® 

  (ii) CμshõÁx {PÌÂØS •ß £¢xPÒ ©õØÓ¨£hõx. 

  JÆöÁõ¸ {PÌÂ¾® 3 öÁÒøÍ ©ØÖ® 3 ]Á¨¦ 
£¢xPÒ Gk¨£uØPõÚ {PÌuPøÁ PshÔ¯Ä®. 
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain the merits and demerits of primary data. 

 •ußø©z uμÄPÎß |ßø© wø©PøÍ ÂÍUSP. 

17. Compute Mean, Median and Mode 

X 10-20 10-30 10-40 10-50 10-60 10-70 10-80 10-90 

Y 4 16 56 95 124 137 146 150 

 \μõ\›, Cøh{ø» \μõ\› ©ØÖ® •Pk PnUQkP. 

X 10-20 10-30 10-40 10-50 10-60 10-70 10-80 10-90 

Y 4 16 56 95 124 137 146 150 

18. The following are the marks in Mathematics and 
Statistics : 

Mathematics 75 80 93 65 78 71 98 69 89 77

Statistics 82 78 96 72 91 80 95 72 89 74

 (a) Find the two regression equation 

 (b) Find the expected marks in Statistics of a student 
who has scored 75 in Mathematics. 

 (c) Find the expected marks in Mathematics of a 
student who has scored 95 in Statistics.  

 Pou® ©ØÖ® ¦ÒÎ°¯À £õh[PÎß ©v¨ö£sPÒ 
¤ßÁ¸©õÖ : 

Pou® 75 80 93 65 78 71 98 69 89 77

¦ÒÎ°¯À 82 78 96 72 91 80 95 72 89 74
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 (A) öuõhº¦¨ ÷£õUS Cμsk \©ß£õkPøÍ 
Psk¤iUPÄ®. 

 (B) PouzvÀ 75 ©v¨ö£s ö£ØÓ ©õnÁ›ß 
¦ÒÎ°¯¼À Gvº£õºUP¨£k® ©v¨ö£sPøÍ 
Psk¤iUPÄ®. 

 (C) ¦ÒÎ°¼¯À 95 ©v¨ö£s ö£ØÓ ©õnÁ›ß Pou 
©v¨ö£sPøÍ Psk¤iUPÄ®. 

19. Fit a straight line trend to the following data by least 
square method. What is the expected production in 2024? 

Year 2008 2009 2010 2011 2012

Production (in kgs) 75 86 98 90 96 

Year 2013 2014 2015 2016 2017

Production (in kgs) 108 124 140 150 165 

 SøÓ¢u ÁºUP •øÓ ‰»® ¤ßÁ¸® uμÄPÐUS ÷|º÷Põmk¨ 
÷£õUøP ö£õ¸zuÄ®. 2024 CÀ Gvº£õºUP¨£k® EØ£zv 
GßÚ? 

Á¸h® 2008 2009 2010 2011 2012

EØ£zv (Q÷»õÂÀ) 75 86 98 90 96 

Á¸h® 2013 2014 2015 2016 2017

EØ£zv (Q÷»õÂÀ) 108 124 140 150 165 

20. Explain the different methods of probability. 

 {PÌuPÄUPõÚ £À÷ÁÖ •øÓPøÍ ÂÍUSP. 

____________ 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is Human Resource Management? 

 ©Ûu ÁÍ ÷©»õsø© GßÓõÀ GßÚ? 

2. What are the significance of Human Resource 

Management? 

©Ûu ÁÍ ÷©»õsø©°ß •UQ¯zxÁ® ¯õøÁ? 

3. Define HR Planning. 

 ©Ûu ÁÍ vmhªku¼ß C»UPn® ÁøμP. 

4. What is Job Description? 

 £o ÂÍUP[PÒ GßÓõÀ GßÚ? 

5. Write any two merits of Job analysis. 

 £o¨ £S¨£õ´Âß H÷uÝ® CμsiøÚ SÔ¨¤kP. 

Sub. Code 
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6. What are merits of Recruitment in External Sources? 

 £o¯õÍøμ ÷\ºzu¼ß ¦ÓÁÈ ‰»zvß |ßø©PÒ 
¯õøÁ? 

7. How many Interviews? 

 GzuøÚ ÷|º•Pz ÷uºÄPÒ £ØÔ TÖP? 

8. What are the purpose of Training? 

 £°Ø]¯Îzu¼ß ÷|õUP[PÒ ¯õøÁ? 

9. What are merits of Incentive Plans? 

 FUP Fv¯z vmh[PÎß |ßø©PÒ ¯õøÁ? 

10. What is Fringe benefits? 

 Cøn¨¦¨ £¯ßPÒ GßÓõÀ GßÚ? 

 Part B (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Explain the scope of HR Planning. 

   ©Ûu ÁÍ vmhªku¼ß ÷|õUP[PøÍ ÂÁ›. 

Or 

 (b) Explain the objectives of Human Resource 
Management. 

   ©Ûu ÁÍ ÷©»õsø©°ß ÷|õUP[PøÍ ÂÁ›. 

12. (a) Explain the aspects of Job analysis. 

   £o B´Ä A®\[PøÍ ÂÁ›. 

Or 

 (b) Explain the demerits of Job analysis.  

   £o¨ £S¨£õ´Âß SøÓPøÍ ÂÁ›. 
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13. (a) What are the benefits of Internal Sources? 

   APÁÈ ‰»[PÎß |ßø©PÒ ¯õøÁ? 

Or 

 (b) Explain the methods of Recruiting persons from 
External Sources. 

   ¦ÓÁÈ ‰»[PÎ¼¸¢x £o¯õÍºPøÍ ÷\ºUS® 
•øÓø¯ ÂÁ›. 

14. (a) What are the merits of Tests? 

   ÷uºÄPÎß |ßø©PÒ ¯õøÁ? 

Or 

 (b) What are the objectives of Medical Examination? 

   ©¸zxÁ¨ £›÷\õuøÚ°ß ÷|õUP[PÒ ¯õøÁ? 

15. (a) What are the objectives of Promotion? 

   £uÂ E¯ºÂß ÷|õUP[PÒ ¯õøÁ? 

Or 

 (b) Explain the Types of Transfer. 

   Ch ©õØÓzvß ÁøPPÒ ÂÁ›. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain the Qualities of Human Resource Manager. 

 ©Ûu ÁÍ ÷©»õÍ›ß uSvPÒ £ØÔ ÂÁ›. 

17. Explain the steps in Human Resource Planning. 

 ©Ûu ÁÍ vmhªku¼ß Pmh[PøÍ £ØÔ ÂÁ›. 

18. Explain the various types of Tests. 

 ÷uºÄPÎß £À÷ÁÖ ÁøPPøÍ £ØÔ ÂÁ›. 
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19. Explain the various methods of Training. 

 £°Ø]°ß £À÷ÁÖ •øÓPøÍ £ØÔ ÂÁ›. 

20. Explain the various types of incentives.  

 FUSÂ¨¦PÎß £À÷ÁÖ ÁøPPøÍ £ØÔ ÂÁ›. 

 
———————— 
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COMMERCIAL LAW 
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Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is contract? 

 J¨£¢u® GßÓõÀ GßÚ? 

2. What do you mean by offer? 

 •øÚÄ £ØÔ }Âº AÔÁx GßÚ? 

3. What do you mean by fraud? 

 ÷©õ\i GßÓõÀ GßÚ? 

4. State the meaning of “capacity of parties”. 

 |£ºPÎß J¨£¢u uSv Gß£uß ö£õ¸øÍU TÖP. 

5. What is unilateral mistake? 

 J¸•P©õÚ uÁÖ GßÓõÀ GßÚ? 

6. What do you mean by a contract of guarantee? 

 ¤øn¯ J¨£¢u® GßÓõÀ GßÚ? 

7. How does bailment differ from pledge? 

 J¨£øhÄ GÆÂu® AhQ¼¸¢x ÷ÁÖ£kQÓx? 

Sub. Code 
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8. What do you mean by “surety”? 

 ¤øn¯® öPõk¨£Áº GßÓõÀ GßÚ? 

9. What is contract of agency? 

 •Pø© J¨£¢u® GßÓõÀ GßÚ? 

10. Who is a sub-agent? 

 xøn •PÁº Gß£Áº ¯õº? 

 Part B (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) What are the sources of law? 

   \mh Buõμ[PÒ ¯õøÁ? 

Or 

 (b) What is undue influence? What are the remedies 
available to the aggrieved person? 

   uPõu ö\ÀÁõUS GßÓõÀ GßÚ? £õvUP¨£mh 
|£ºPÐUS {Áõμn[PÒ ¯õøÁ? 

12. (a) What are the differences between contract of 
indemnity and contract of guarantee? 

   DmkÖv J¨£¢uzvØS® EzvμÁõu (¤øn¯) 
J¨£¢uzvØS® EÒÍ ÷ÁÖ£õkPÒ ¯õøÁ? 

Or 

 (b) How does an agreement to sell differ from a contract 
of sale?  

   ÂØ£øÚUPõÚ Ehß£õk GÆÂu® ÂØ£øÚUPõÚ 
J¨£¢uzv¼¸¢x ÷ÁÖ£kQÓx? 

13. (a) Explain executed contract and executory contract. 

   {øÓ÷ÁØÓ¨£mh J¨£¢u® ©ØÖ® {øÓ÷ÁØÓ¨£h 
÷Ási¯ J¨£¢u® ÂÁ›. 

Or 

 (b) What are the rules to acceptance? 

   HØ¦ £ØÔ Âv •øÓPÒ ¯õøÁ? 
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14. (a) What are the essential elements of indemnity? 

   |èh {Áºzv°ß Ai¨£øh TÖPÒ ¯õøÁ? 

Or 

 (b) What are the rights of surety? 

   ¤øn¯® AÎ¨£Á›ß E›ø©PÒ ¯õøÁ?  

15. (a) What are the various types of agents? 

   •PÁ›ß £À÷ÁÖ ÁøPPÒ ¯õøÁ? 

Or 

 (b) How does sale differ from an agreement to sell? 

   ÂØ£øÚ GÆÂuzvÀ ÂØ£øÚUPõÚ 
Ehß£õmi¼¸¢x ÷ÁÖ£kQÓx? 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. How will you classify the contracts? 

 J¨£¢u[PøÍ GÆÂu® ÷ÁÖ£kzu»õ®. 

17. What are the rights of surety? 

 ¤øn¯® öPõk¨£Á›ß E›ø©PÒ ¯õøÁ? 

18. What are the rights and duties of bailee? 

 ö£õ¸Ò J¨£øh¨¦ ö£ØÓÁ›ß E›ø©PÒ ©ØÖ® 
Phø©PÒ ¯õøÁ? 

19. What are the rights and duties of an agent? 

 •PÁ›ß E›ø©PÒ ©ØÖ® Phø©PÒ ¯õøÁ? 

20. What are the implied conditions in a contract of sale? 

 ÂØ£øÚ J¨£¢uzvÀ EÒÍ EmQøh {£¢uøÚPÒ 
¯õøÁ? 

———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is share? 

 £[S GßÓõÀ GßÚ? 

2. What is underwriting? 

 ÁõUSÖv GßÓõÀ GßÚ? 

3. What is forfeiture of share? 

 £[SPÒ JÖ¤Ç¨¦ GßÓõÀ GßÚ? 

4. What is redeemable debenture? 

 «mP£k® PhÜmk £zvμ[PÒ GßÓõÀ GßÚ? 

5. What do you understand by profit prior incorporation? 

 {ÖÁÚ £vÄUS •¢øu¯ »õ£® GßÓõÀ GßÚ? 

6. What is super profit method of Goodwill? 

 E¯º  C»õ£ •øÓ°À |Øö£¯º PnUQkuÀ GßÓõÀ 
GßÚ? 

Sub. Code 
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7. What is Dog goodwill? 

 |ßÔ²ÒÍ |Øö£¯º GßÓõÀ GßÚ? 

8. What is Amalgamation? 

 {ÖÁÚ J¸[Qøn¨¦ GßÓõÀ GßÚ? 

9. What is absorption? 

 {ÖÁÚ EÒÏº¨¦ GßÓõÀ GßÚ? 

10. What is external reconstruction? 

 {ÖÁÚ öÁÎ ¦Úμø©¨¦ GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Explain the salient features of a company. 

  {ÖÁÚzvß •UQ¯ A®\[PøÍ ÂÍUSP. 

Or 

 (b) B Ltd., issued 50,000 equity shares of Rs.10 each to 
the public on condition that full amount of shares 
will be paid in a  lump sum. All there shares were 
taken up and paid by the public. Pass journal 
entries in the book of company when, 

  (i) Shares are issued at par 

  (ii) Shares are issued at a premium of 10%  

  (iii) Shares are issued at a discount of 10% 

  B Ltd., 50,000 \õuõμn £[SPøÍ ¹.10 Ãu® 
©UPÐUS öÁÎ°kQÓx, ö©õzu öuõøP¯õP 
ö\¾zu£k® GßÓ {£¢uøÚ²hß AøÚzx 
£[SPÐ® •ÊÁx©õP öuõøP ö\¾zu¨£mhx. 

  SÔ¨÷£kPøÍ u¸P, ¤ßÁ¸® {ø»PÎÀ 

  (i) £[SPøÍ •P©v¨¤À öÁÎ°kuÀ 

  (ii) £[SPøÍ 10% •øÚ©zvÀ öÁÎ°kuÀ 

  (iii) £[SPøÍ 10% uÒÐ£i°À öÁÎ°kuÀ. 
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12. (a) A company issued 5,000 equity shares of Rs.10 each 
at a discount of Rs.1 per share payable as follows: 

  Rs.2 on application 

  Rs.3 on allotment (excluding discount) 

  Rs.3 on first call and the balance on second call. 

  All the amounts were duly received. Pass the 
necessary journal entries. 

  J¸ P®ö£Û 5,000 \õuõμn £[SPøÍ ¹.10 Ãu®, 
¹.1 uÒÐ£i°À öÁÎ°kQÓx. öμõUP® 
¤ßÁ¸©õÖ ö£Ó¨£kQÓx. 

  ¹.2&Âsn¨£[PÐhß 

  ¹.3&JxURmiß ö£õÊx 

  ¹.3&•u»õÁx AøÇ¨¦, «u•ÒÍ öuõøP 
CμshõÁx AøÇ¨¤À AøÚzx £n•® 
ö£Ó¨£mhx. ÷uøÁ¯õÚ SÔ¨÷£k £vÄPøÍ u¸P. 

Or 

 (b) A company forfeited 10 shares of Rs.10 each issued 
at a premium of 10% for non payment of final call of 
Rs.3 per share. Out of these, 7 shares were reissued 
at Rs.8 per share as fully paid up. Give entries for 
forfeiture and reissue.   

  J¸ {ÖÁÚ® JÖ¨¤Ç¨¦ ö\´u 10 £[SPøÍ ¹.10 
Ãu®, 10%•øÚ©zvÀ CÖv AøÇ¨ø£ ¹.3. 
ö\¾zv¯uõÀ A¢u 10 £[SPÎÀ, 7 £[SPøÍ ©Ö 
öÁÎ°k ö\´QÓx ¹.8 (•ÊÁx©õP ö£Ó£mk) 
SÔ¨÷£k £vÄPøÍ u¸P. 

13. (a) R Ltd has Rs.10,00,000 8% debentures outstanding 
on 1.1.96. The company has been redeeming every 
year on January 1st Rs.1,00,000 debentures by 
drawings by lot, at par. Give necessary journal 
entries: 

  (i) If Redemption is out of profit 

  (ii) If Redemption is out of capital 
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  R ¼ªöhm ¹.10,00,000 PhÜmk £zvμ[PøÍ 8% 
ÁmiÂQuzvÀ 1.1.96 AßÖ øÁzxÒÍx. JÆöÁõ¸ 
Á¸h•® áÚÁ› 1 ¹.1,00,000 PhÜmk £zvμ[PøÍ 
•P ©v¨¤À v¸®£ ö£ÖQÓx. ÷uøÁ¯õÚ 
SÔ¨÷£kPøÍ u¸P: 

  (i) PhÜmk £zvμ[PÒ & »õ£zv¼¸¢x 
«mP£kQÓx 

  (ii) PhÜmk £zvμ[PÒ & •u¼¸¢x «mP£kQÓx. 

Or 

 (b) Explain the steps involved in ascertaining pre and 
post incorporation profits. 

  öuõÈÀ öuõhUP •ß ©ØÖ® ¤ß EÒÍ C»õ£[PøÍ 
öu›¢xöPõÒÍ EÒÍ £À÷ÁÖ £i{ø»PøÍ 
ÂÍUSP. 

14. (a) Explain various methods of valuation of goodwill. 

  |Øö£¯øμ PnUQk® £À÷ÁÖ •øÓPøÍ 
ÂÁ›UPÄ®. 

Or 

 (b) Raman Ltd., agrees to purchase the business of 
Krishnan Ltd., on the following terms: 

  (i) For each of the 10,000 shares of Rs. 10 each in 
Krishnan Ltd. 2 shares in Raman Ltd. of  
Rs. 10 each will be issued of an agreed value of 
Rs. 12 per share. In addition, Rs. 4 per share 
cash also will be paid.  

  (ii) 8% Debentures worth Rs. 80,000 will be issued 
to settle the Rs. 60,000 9% debentures in 
Krishnan Ltd. 

  (iii) Rs.10,000 will be paid towards expenses of 
winding up calculate purchase consideration. 
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  μõ©ß ¼ªöhm, Q¸ènß ¼ªöhm {ÖÁÚzøu 
Áõ[P JzxUöPõshx. 

  (i) Q¸ènß ¼ªöhm EÒÍ 10,000 £[SPøÍ ¹. 
10 μõ©ß ¼ªöhmiÀ 2 £[SPøÍ ¹. 10 Ãu® 
¹. 12 GßÓ Âø»°À öÁÎ°kQÓx AuÝhß 
¹. 4 JÆöÁ¸ £[SPÐUS® öμõUP©õP 
ö\¾zu¨£mhx.  

  (ii) 8% PhÜmk £zvμ® ¹. 80,000 HöÚÛÀ  
¹. 60,000 PhÜmk £zvμ[PøÍ 9% EÒÍ 
Q¸ènß ¼ªöhmUS ö\¾zxÁuØPõP. 

  (iii) ¹.10,000 {ÖÁÚ Pø»¨¦PõÚ ö\»ÁõP 
ö\¾zu¨£kQÓx. öPõÒ•uÀ Âø»ø¯ 
PnUQkP. 

15. (a) S Ltd. Was taken over by R Ltd. The following 
position was mutually agreed upon: 

 S Ltd. R Ltd. 

No.of shares 60,000 90,000

Face value of share 100 10

Net assets 3,60,00,000 72,00,000

Ascertain intrinsic values of the shares, Ratio of 
exchange of shares and No. of. shares to be issued.  

  S ¼ªöhm {ÖÁÚ® R ¼ªöhm&ø¯ 
GkzxöPõÒQÓx. ¤ßÁ¸® {£¢uøÚPÐUS 
JzxUöPõsk: 

 S ¼ªöhm R ¼ªöhm

£[SPÎß GsoUøP 60,000 90,000
•P©v¨¦ (£[SPÎß) 100 10
{Pμ ©v¨¦ 3,60,00,000 72,00,000

£[SPÎß Esø© ©v¨¦, £[SPÎß £›©õØÓ 
ÂQu® ©ØÖ® Tku»õP öÁÎ°h Ti¯ £[SPÎß 
GsoUøPø¯ PshÔ¯Ä®. 

Or 
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 (b) Explain various methods of computing purchase 
consideration. 

  öPõÒ•uÀ Âø»ø¯ PnUQk® £À÷ÁÖ •øÓPøÍ 
£ØÔ ÂÍUPÄ®. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. P Ltd. Issued 50,000 shares of Rs.10 each payable as 

 Rs. 3 on Application 

 Rs. 4 on Allotment 

 The balance on call 

 Application for 70,000 shares had been received. 
Application for 8,000 shares were rejected and the 
remaining applicants were allotted the 50,000 shares on 
pro-data basis. The excess amount on application was 
adjusted towards the amount due on allotment.  

 All the shareholders paid the amount due. Prepare ledger 
a/c and Balance sheet. 

 P ¼ªöhm {Ö©® JßÖ ¹.10 ©v¨¦øh¯ 50,000 
£[SPøÍ ¤ßÁ¸©õÖ ö\¾zuzuUP Ásn® 
öÁÎ°mhx. 

 Âsn¨£zvß ÷£õx  ¹.  3  

 JxURmiß ÷£õx  ¹.  4  

 «u® AøÇ¨¤ß ÷£õx 

 £[SPÒ ÷Ási 70,000 Âsn¨£[PÒ ö£Ó¨£mhÚ. 
8,000 £[S Âsn¨£[PÒ {μõP›UP¨£mk «x•ÒÍ 
Âsn¨£uõμºPÐUS 50,000 £[SPÒ GßÓ ÂQu AÍÄ 
Ai¨£øh°À JxURk ö\´¯¨£mhx. Âsn£zvß «x 
ªøP¯õP ö£ØÓz öuõøP JxURmk öuõøPUS 
\›ö\´¯£mhx. AøÚzx £[SuõμºPÐ® {¾øÁ öuõøP 
ö\¾zvÚº. ÷£÷μk u¯õ›zx C¸¨¦{ø» SÔ¨ø£²® 
u¯õ›UPÄ®. 
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17. The E Ltd., offered 5,000 shares of Rs.100 each to the 
public at Rs.95 payable as under.  

 Rs. 15 on application  

 Rs. 30 on allotment  

 Rs. 25 on first call  

 Rs. 25 on final call 

 All the shares were applied for and allotted, to whom 500 
shares were allotted, paid the whole of the sum due along 
with allotment (under arrangement with directors). 
Assume all sums received pass Journal entries to record 
above and show the figures in balance sheet. 

E ¼ªöhm 5,000 £[SPøÍ ¹.100 Ãu® ©UPÐUS 
¹.95&US öÁÎ°mhx. 

 ¹. 15 Âsn¨£zvß ÷£õx  

 ¹. 30 JxURmiß ÷£õx  

 ¹. 25 •uÀ AøÇ¨¤ß ÷£õx 

 ¹. 25 CÖv AøÇ¨¤ß ÷£õx 

 AøÚzx £[SPÐ® Âsn¨¤UP¨£mk, 
JxUPÄ®£mhx. BÚ¢z Gß£Á¸US 500 £[SPÒ 
JxUP¨£mk, Âsn¨£ öuõøP²hß ÷\º¢x AøÚzx 
öuõøP²® ö£Ó£mhx (÷©»õÍº Ehß HØ£õk 
ö\´¯¨£mhx) AøÚzx öuõøP²® ö£Ó£mhuõP 
P¸uÄ®. ÷©÷» EÒÍ ÂÁμ[PÐUS SÔ¨÷£k £vÄ u¢x 
C¸¨¦{ø» SÔ¨¦ u¸P. 

18. The following ledger balances were extracted from the 
books of Varun Ltd. As on 31.3.2013: 

 Land and building Rs. 2,00,000; 12% Debentures  
Rs. 2,00,000; share capital Rs. 10,00,000; (equity shares 
of Rs.10 each fully paid up) plant and machinery  
Rs. 8,00,000; Good will Rs.2,00,000; Investment in shares 
of Raja Ltd. Rs. 2,00,000; General Reserves Rs.1,95,000; 
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stock in trade Rs.1,00,000; bills receivable Rs.50,000; 
Debtors Rs.1,50,000; creditors Rs.1,00,000; Bank loan (un 
secured) Rs. 1,00,000; provision for tax Rs. 50,000 
proposed dividend Rs.55,000. 

Prepare Balance sheet of the company as per Revised 
schedule VI, part I of the companies Act 1956. 

 ¤ßÁ¸® ÂÁμ[PÒ Á¸s ¼ªöhm ÷£÷μkPÎ¼¸¢x 
GkUP¨£mhx 31.3.2013: 

 Pmhh® ¹.2,00,000; PhÜmk£zvμ® ¹.2,00,000 12%; 
£[S •uÀ ¹.10,00,000 (\õuõμn £[S ¹.10) AøÓP»ß 
¹.8,00,000; |Øö£¯º&¹.2,00,000; μõáõ ¼ªöhm •u½k 
ö\´¯ £[SPÒ ¹.2,00,000; ö£õxPõ¨¦ ¹.1,95,000; 
\μUQ¸¨¦ ¹.1,00,000; ö£Öu¾US›¯ ©õØÖa^mk 
¹.50,000; PhÚõÎPÒ ¹.1,50,000; PhÜ¢÷uõº 
¹.1,00,000; Á[QPhß (EÖv AØÓx) ¹.1,00,000; Ámi 
JxUS ¹.50,000; £[Põuõ¯® ¹.55,000. 

C¸¨¦ {ø» SÔ¨ø£, ÁoP {ÖÁÚ \mh® 1956&ß £i 
©õØÔ¯ £iÁ® VI&£Sv I&ß £i u¯õ›UPÄ®. 

19. On 31. Dec. 1998 the Balance Sheet of Ganesh Ltd. Was 
as follows: 

Liabilities Rs. Assets  Rs. 

Share capital :   

15,000 equity  
shares of Rs.100  
each fully paid  

15,00,000 Land and  
Building 

6,60,000

Profit and loss 
a/c 

3,09,000 Plant and 
Machinery 

2,85,000

Creditors 2,31,000 Stock 10,50,000

Bank O/D 60,000 Sundary 
debtors 

4,65,000
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Liabilities Rs. Assets  Rs. 

Provision for  
taxation 

1,35,000  

Dividend 
equalisation 
fund 

2,25,000  

 24,60,000  24,60,000

 Net profit of the company, after deducting all working 
charges and providing for depreciation and taxation were 
as under:  

1994-Rs.2,55,000, 1995-Rs.2,88,000; 1996-Rs.2,70,000 

 1997-Rs.3,00,000, 1998-Rs.2,85,000 

On 31st Dec. 1998, Land and buildings were valued at  
Rs. 7,50,000 and plant and machinery at Rs.4,50,000 

 In view of the nature of the business, it is considered that 
10% is a reasonable return on capital. 

Calculate the value of the company’s share after taking 
into account the revised value on fixed assets and your 
own valuation of goodwill based on four year purchased of 
the annual super profits. 

 P÷nè ¼ªöhm&ß 31 i\®£º 1998&ß C¸¨¦ {ø» 
SÔ¨¦ ÂÁμ®: 

ö£õÖ¨¦PÒ ¹. ö\õzxPÒ ¹.

£[S •uÀ :   

15,000 \õuõμn 
£[S u»õ ¹.100  

15,00,000 Pmhh® 6,60,000

C»õ£/|mh P/S 3,09,000 AøÓP»ß 2,85,000

PhÜ¢÷uõº 2,31,000 \μUQ¸¨¦ 10,50,000

Á[Q ÷©À 
Áøμ¨£ØÖ 

60,000 PhÚõÎPÒ 4,65,000

Á› JxUS 1,35,000  
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ö£õÖ¨¦PÒ ¹. ö\õzxPÒ ¹.

£[Põuõ¯® DkPmi 
öuõøP 

2,25,000  

 24,60,000  24,60,000

 {ÖÁÚzvß {Pμ C»õ£® AøÚzx |øh•øÓ ö\»ÄPøÍ 
©ØÖ® ÷u´©õÚ® ©ØÖ® Á›PøÍ²® PÈzu ¤ÓS, 
¤ßÁ¸©õÖ: 

1994 -¹.2,55,000, 1995 ¹.2,88,000; 1996 ¹.2,70,000 

 1997- ¹.3,00,000, 1998 -¹.2,85,000 

31 i\®£º 1998, &AßÖ, Pmhh® ©v¨¦ ¹. 7,50,000 
©ØÖ® AøÓP»ß ¹.4,50,000 

 •uÀ «x Gvº£õºUP¨£k® {¯õ©õÚ Ámi 10% 
{ÖÁÚzvß ©v¨ø£ PnUQkP. {ø»¯õÚ ö\õzxPøÍ 
©v¨¥mk, E[PÒ |Øö£¯º, E¯º C»õ£zvÀ 4 Á¸h 
öPõÒ•uÀ Ai¨£øh°À Ps¤UPÄ®. 

20. Deeply Explain the methods of accounting for 
Amalgamation. 

 {ÖÁÚ J¸[Qøn¨¦ PnUQk® £À÷ÁÖ •øÓPøÍ 
BÇ©õP ÂÁ›UPÄ®. 

  

———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is Industrial Policy? 

 öuõÈÀxøÓ öPõÒøP GßÓõÀ GßÚ? 

2. What is Development Council? 

 ÷©ß£õmk SÊ GßÓõÀ GßÚ? 

3. List of various forms of foreign capital? 

 £À÷ÁÖ Âu©õÚ öÁÎ|õmk •uÀPøÍ GÊxP. 

4. What is Monopolistic Trade Practices? 

 HP÷£õP Â¯õ£õμ |øh•øÓ GßÓõÀ GßÚ? 

5. What is unfair trade practices? 

 {¯©ØÓ ÁºzuP |øh•øÓ GßÓõÀ GßÚ? 

6. Define complainant. 

 ¦Põºuõμº & C»UPn® u¸P. 

7. What is current account transaction? 

 |h¨¦ PnUS £›ÁºzuøÚ GßÓõÀ GßÚ? 

Sub. Code 
7BCS5C3 
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8. What is an Appellate Tribunal? 

 ÷©À•øÓ±mk wº¨£õ¯® GßÓõÀ GßÚ? 

9. Definition of Consumerium. 

 ~PºÄ ÁøμÂ»UPn® u¸P. 

10. What is hazardous substance under Environment 
Protection Act 1986? 

_ØÖa`ÇÀ £õxPõ¨¦ \mhzvß £i A£õ¯Pμ©õÚ 
ö£õ¸ÒPÒ GßÓõÀ GßÚ? 

 Part B (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Write a brief note on Industrial Act, 1951. 

   öuõÈÀxøÓ \mh® 1951&ß _¸UP©õÚ SÔ¨¦ 
GÊxP. 

Or 

 (b) Discuss the duties, powers and functions of 
Competition Commission of India. 

   ÁoP¨ ÷£õmi Bøn¯zvß Phø©PÒ, AvPõμ® 
©ØÖ® ö\¯À£õkPøÍ ÂÁ›UPÄ®. 

12. (a) Discuss the major highlight changes in New 
Industrial policy – 1991. 

   1991&¦v¯ öuõÈÀxøÓ öPõÒøP°ß •UQ¯ 
]Ó¨£®\ ©õØÓ[PøÍ ÂÁ›UP. 

Or 

 (b) Discuss the objectives of Competition Act, 2002.  

   ÁoP¨ ÷£õmi \mh® 2002&ß ÷|õUP[PøÍ 
ÂÁ›UP. 
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13. (a) What was the objective of passing the Foreign 
Exchange Management Act, 2002? 

   A¢{¯ ö\»õÁo ÷©»õsø© \mh® & 2002&ø¯ 
{øÓ÷ÁØÔ¯ ÷|õUP[PøÍ GÊxP. 

Or 

 (b) Who is authorised person?  Explain his functions? 

   A[RP›UP¨£mh |£º ¯õº?  AÁ¸øh¯ 
ö\¯À£õkPøÍ ÂÍUSP. 

14. (a) Write short notes on: 

  (i) Appropriate Laboratory (ii) Consumer Dispute 
(iii) Defect (iv) District Forum 

   ]ÖSÔ¨¦ ÁøμP. 

   (i) ö£õ¸zu©õÚ B´ÁP® (ii) ~Pº÷Áõº uPμõÖ  

(iii) SøÓ£õk & ~Pº÷Áõº (iv) ©õÁmh ~Pº÷Áõº 
©ßÓ® 

Or 

 (b) Write a brief note on ‘unfair trade practice’. 

   {¯©ØÓ ÁºzuP |øh•øÓ&ø¯ £ØÔ ]ÖSÔ¨¦ 
GÊxP. 

15. (a) Explain the objectives of Environmental Protection 
Act 1986. 

   _ØÖ`ÇÀ £õxPõ¨¦ \mh®&1986&ß ÷|õUP[PøÍ 
ÂÍUSP. 

Or 

 (b) Explain Provention and control of Environmental 
Pollution under Environmental Protection Act 1986. 

   _ØÖ`ÇÀ ©õ_£õkPøÍ Pmk£kzx® ©ØÖ® 
£õxPõ¨¦¨ £ØÔ _ØÖ`ÇÀ £õxPõ¨¦ \mhzvß 
|øh•øÓPøÍ ÂÍUSP. 
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Describe the Salient features of Small-Scale Sector 
Industrial Policy, 1991. 

]Ö SÖ öuõÈÀxøÓ&°ß •UQ¯ A®\[PøÍ, ¦v¯ 
öuõÈÀxøÓ öPõÒøP 1991ß £i ÂÍUSP. 

17. Explain the changes introduced in the procedure for 
Industrial Licensing. 

öuõÈÀxøÓ E›©® ö£ÖÁvÀ öPõskÁ¢xÒÍx ¦v¯ 
|øh•øÓ ©õØÓ[PøÍ ÂÍUSP. 

18. What are the three consumer disputes redressal agencies 
at Different level?  Discuss the constitution and 
composition of District Forum? 

~Pº÷Áõº SøÓ wº¨¦ {ÖÁÚ® GßÓõÀ GßÚ?  Auß 
£À÷ÁÖ {ø»PøÍ ÂÍUSP.  ©õÁmh SøÓ wº¨¦ 
©ßÓzvß Pmhø©¨¦ ©ØÖ® Auß Tmhø©ø¯ ÂÍUSP. 

19. Write a detailed-note on composition, procedure and 
appeals to Appellate Tribunal. 

÷©À•øÓ±mk wº¨£õ¯zvß Tmhø©Ä, |øh•øÓPøÍ 
£ØÔ Â›ÁõP ÂÍUSP. 

20. Explain the powers of Central Government to prevent 
and control of environmental pollution?  

_ØÖ`ÇÀ ©õ_£õk uk¨¦ ©ØÖ® £õxPõ¨¤À&©zv¯ 
Aμ_US EÒÍ AvPõμ Áμ®ø£&ÂÍUSP. 

 
———————— 
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 Section A  (10 × 2 = 20) 

Answer all questions. 

1. What is Tax? 

 “Á›” GßÓõÀ GßÚ? 

2. What is Assessment Year? 

 “©v¨¥mk Bsk” GßÓõÀ GßÚ? 

3. Explain the Gratuity. 

 “£oUöPõøhø¯” ÂÍUSP. 

4. What is “Perquisites”? 

 “÷uøÁ” GßÓõÀ GßÚ? 

5. Define the term ‘Business’. 

 “ÁoP®” GßÓ ö\õÀø» Áøμ¯Ö. 

6. Give the meaning of ‘Long-term Capital gain’. 

 }sh Põ» ‰»uÚ Buõ¯® Gß£uß ö£õ¸øÍU 
öPõk[PÒ. 

Sub. Code 
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7. What is “Deemed income”? 

 “P¸u¨£mh Á¸©õÚ®” GßÓõÀ GßÚ? 

8. What do you mean by ‘Income from Undisclosed sources”? 

 öÁÎ°h¨£hõu Buõμ[PÎÀ C¸¢x Á¸©õÚ® GßÓõÀ 
GßÚ? 

9. What do you understand by tax relief U/S 89? 

 Á›a \¾øP U/S 89 ‰»® }[PÒ GßÚ ¦›¢x 
öPõÒQÕºPÒ? 

10. What is CBDT? 

 ].¤.i.i. GßÓõÀ GßÚ? 

 Section B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) State the meaning of Assessee and the procedure 
followed in computing the total income of an 
Assessee. 

  ©v¨¥mhõÍ›ß ö£õ¸Ò ©ØÖ® ©v¨¥mhõÍ›ß 
ö©õzu Á¸©õÚzøu PnUQkÁvÀ ¤ß£ØÓ¨£k® 
|øh•øÓø¯U TÓÄ®. 

Or 

 (b) Mr. John, a German national, comes to India for the 
first time in last 20 years on July 2021. On January 
20, 2022 he leaves India for America. Determine his 
residential status for the Assessment year 2022-23. 

  v¸ áõß J¸ öáº©ß ÷u]¯ Á¸©õÚ® Ph¢u 20 
BskPÎÀ •uÀ •øÓ¯õP áúø» 2021. áÚÁ› 20, 
2022 AßÖ AÁº C¢v¯õøÁ Âmk Aö©›UPõ 
ö\ÀQÓõº. 2022-23 B® BsiØPõÚ ©v¨¥mk 
BsiØPõÚ AÁμx Si°¸¨¦ {ø»ø¯z 
wº©õÛUPÄ®. 
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12. (a) Explain how the value of free educational is 
determined? 

  C»Á\UPÀÂ ©v¨¦ GÆÁõÖ wº©õÛUP¨£kQÓx 
Gß£øu ÂÍUSP. 

Or 

 (b) Calculate Net Annual Value from the followings : 
 Rs. 

Rent received 1,75,000
Standard rent 1,60,000
Municipal value 1,70,000
Fair Rental Value 1,72,000

  Municipal tax at 12% on Municipal value and 
sanitation tax at 2% on Municipal tax. 

  ¤ßÁ¸ÁÚÁØÔ¼¸¢x {Pμ Á¸hõ¢vμ ©v¨ø£U 
PnUQkP. 

 ¹. 

ÁõhøP ö£ØÓx 1,75,000
{ø»¯õÚ ÁõhøP ö£ØÓx 1,60,000
|Pμõm] ©v¨¦  1,70,000
{¯õ¯©õÚ ÁõhøP ©v¨¦ 1,72,000

  Á› «x |Pμõm] ©v¨¦ ©ØÖ® _Põuõμ Á›US 12% 
|Pμõm] Á› 2%. 

13. (a) What are the Professional receipts and Professional 
expenses? 

  öuõÈÀ•øÓ μ^xPÒ ©ØÖ® öuõÈÀ•øÓ ö\»ÄPÒ 
GßÚ? 

Or 

 (b) Compute the Capital gain for the A.Y. 2022-23. 

  Date of purchase of house 1st May 1998 

  Cost of acquisition Rs.1,80,000 

  Fair Market value as on 1.4.2001 Rs.1,90,000 

  Sold the property in 2021-22 for Rs.14,00,000 

  Cost Inflation Index : 2021-22 : 301. 
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  2022-23 B® BsiØPõÚ ©v¨¥mk BsiØPõÚ 

‰»uÚ Buõ¯zøuU PnUQkP 

  1998 ÷© ©õu®, •uÀ |õÎÀ Ãk Áõ[Q¯x,  

  øP¯P¨£kzuÀ ö\»Ä ¹.1,80,000 

  1.4.2001 Áøμ {¯õ¯©õÚ \¢øu ©v¨¦ ¹.1,90,000 

  2021-22 B® BsiÀ ö\õzøu ¹.14,00,000US 

ÂØÓx 

  ö\»Ä £nÃUPU SÔ±möhs : 2021-22 : 301. 

14. (a) State the provisions relating to transfer of Income 

to Spouse. 

  ÁõÌUøP xønÂ¯õ¸US Á¸©õÚ ©õØÓ® 
öuõhº£õÚ HØ£õkPøÍU TÓÄ®. 

Or 

 (b) From the following information submitted to you. 

Compute the total income of A for the Assessment 

year 2022-23 assuming he is not allowed any 

deduction under Section 80 C to 80 U. 

        Rs. 

Income from salary 1,80,000

Income from House property 40,000

Business loss (–) 1,90,000

Loss from a specified business  

referred to in Section 35 AD (–) 60,000

Short-term capital gain (–) 60,000

Long-term capital gain 2,40,000
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  E[PÎh® \©º¨¤UP¨£mh ¤ßÁ¸® uPÁ¼¼¸¢x 
2022&23 B® ©v¨¥mk BsiØPõÚ ‘A’ Cß ö©õzu 
Á¸©õÚzøu PnUQkP. ¤›Ä 80C •uÀ 80U Áøμ 
G¢u Â»US® AÁ¸US AÝ©vUP¨£hÂÀø» GßÖ 
øÁzxU öPõÒ÷Áõ®. 

 ¹. 
\®£ÍzvÀ C¸¢x Á¸©õÚ® 1,80,000
H.P.°ß Á¸©õÚ® 40,000
ÁoP CÇ¨¦ (–) 1,90,000
¤›Ä – 35 (AD) °À 
SÔ¨¤h¨£mkÒÍ  
Â¯õ£õμzvÀ C¸¢x CÇ¨¦ (–) 60,000
(£[S) SÖQ¯ Põ» ‰»uÚ Buõ¯® (–) 60,000
}sh Põ» ‰»uÚ Buõ¯® 2,40,000

15. (a) Compute the total income of Mr. Rahim from the 
particulars given below. 

  Rs. 
(i) Business Income (+)1,50,000
(ii) Loss from self occupied house (–)30,000
(iii) Short term capital again  

 from Jewellery (+)8,000
(iv) Short term capital gain from 

 Shares which are subject 
 to securities transaction tax (+)65,000

  R÷Ç öPõkUP¨£mkÒÍ ÂÁμ[PÎ¼¸¢x  
v¸. μïªß ö©õzu Á¸©õÚzøuU PnUQhÄ®.  

  ¹. 

(i) ÁoP Á¸©õÚ® (+)1,50,000
(ii) _¯ BUQμª¨¦ CÀ»zvÀ 

C¸¢x |mh® 
(–)30,000

(iii) |øPPÎÀ C¸¢x SÖQ¯ Põ» 

 ‰»uÚ Buõ¯® (+)8,000
(iv) £[SPÎÀ C¸¢x £[S 

 ‰»uÚ Buõ¯® (+)65,000

Or 

 (b) What are the Powers of CBDT? 

  ].¤.i.i°ß AvPõμ[PÒ GßÚ? 
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 Part C  (3 × 10 = 30) 
Answer any three questions. 

16. Distinguish between Capital Receipts and Revenue 
Receipts. 

 ‰»uÚ ÁμÄPÒ ©ØÖ® Á¸Áõ´ ÁμÄPÒ – ÷ÁÖ£kzxP. 

17. Mr. David, a Government employee, furnishes the 
following particulars of his Salary Income for the  
A.Y 2022-23. Compute his taxable salary. 

 (a) Pay Rs. 15,000 p.m. 
 (b) Dearness pay 40% of salary 
 (c) Bonus – One month pay 
 (d) H.R.A. Rs. 36,000 (rent paid by him in Chennai  

Rs. 60,000) 
 (e) C.C.A. Rs. 24,000 
 (f) Medical allowance Rs. 12,000 
 (g) Deputation allowance Rs. 18,000 
 (h) Children education allowance Rs. 6,000 
 (i) Entrainment allowance Rs. 9,000 
 (j) Warden allowance Rs. 3,000. 
 v¸. ÷hÂm GßÓ Aμ_ FÈ¯º 2022&23B® Bsk 

©v¨¥mk BsiØPõÚ uÚx \®£Í Á¸©õÚzvß 
¤ßÁ¸® ÂÁμ[PøÍz u¸QÓõº. 

 (A) Ai¨£øh Fv¯® 15,000 (©õu®) 

 (B) APÂø»¨£i 40% \®£Í® 
 (C) |À¾v¯® (J¸ ©õu Fv¯®) 

 (D) Ãmk ÁõhøP¨£i ¹. 36,000 (¹. 60,000 ö\ßøÚ°À 
ÁõhøP ö\¾zu¨£mhx) 

 (E) ].].H ¹. 24,000 

 (F) ©¸zxÁ¨£i ¹. 12,000 

 (G) yx¨ £i ¹. 18,000 

 (H) SÇ¢øuPÒ £i ¹. 6,000 

 (I) ö£õÊx÷£õUS £i ¹. 9,000 

 (J) Áõºhß £i 3,000. 



F–8960 

  

  7

18. Suresh sells the following capital assets during the 
previous year 2021-22. Compute the capital gains. 

 Shares House 

 (Unlisted) Property

 Rs. Rs. 

Sale consideration (on 1.8.2021) 15,00,000 2,65,000

Year of acquisition  2002-03 2005-06

Cost of acquisition 2,90,000 18,000

Cost of improvement 

incurred in 2012-13 – 60,000

 _÷μè •¢øu¯ Bsk 2021-22À ¤ßÁ¸® ‰»uÚ 
ö\õzxUPøÍ ÂØPÄ® ‰»uÚ Buõ¯zøu PnUQk. 

ÂÁμ[PÒ £[SPÒ Ãmk 

 (£mi¯¼h¨£hõu) ö\õzx 

 ¹. ¹. 

ÂØ£øÚ £›^»øÚ (1.8.2021) 15,00,000 2,65,000

øP¯P¨£kzuÀ BskPÒ 2002-03 2005-06

øP¯P¨£kzuÀ ö\»Ä 2,90,000 18,000

2012-13 B® BsiÀ HØ£mh  

÷©®£õmk ö\»Ä – 60,000

19. Mr. Kothandam, a resident individual submits the 
following details for the previous year 2021-22 : 

  Rs. 

(a) Contribution towards pension fund of LIC 35,000

(b) Medical Insurance premium on health of 

 his wife and children (Rs. 12,000 in cash) 40,000
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(c) Medical treatment of dependent  

 handicapped brother 15,000

(d) Deposit with UTI for the maintenance of the

 dependent handicapped brother 40,000

 Salary income of the assessee is Rs. 2,70,000 p.a. 
professional tax paid Rs. 1,200. 

 Find out the deduction eligible U/S 80C to 80 U and total 
income.   

v¸. ÷Põzuõ¢u® GßÓ Á]¨£õÍº •¢øu¯ 2021&22 B® 
BsiØPõÚ ¤ßÁ¸® ÂÁμ[PøÍ \©º¨¤UQÓõº.  

  ¹. 

(A) GÀ.I.]&ß K´Åv¯ {vUS £[PÎ¨¦  35,000
(B) AÁμx ©øÚÂ ©ØÖ® SÇ¢øuPÎß 

B÷μõUQ¯zvÀ 

 ©¸zxÁU Põ¨¥mk ¤›ª¯® (öμõUP©õP  

¹. 12,000) 
40,000

(C) \õº¦ FÚ•ØÓ \÷Põuμ›ß ©¸zxÁ ]Qaø\ 15,000
(D) \õº¢v¸US® FÚ•ØÓ \÷Põuμ›ß 

£μõ©›¨¦UPõP 

 ².i.I Ehß øÁ¨¦zöuõøP ¹. 40,000

 ©v¨¥mhõÍ›ß \®£Í Á¸©õÚ® ¹. 2,70,000 öuõÈÀ 
•øÓ Á› ¹. 1,200 ö\¾zu¨£kQÓx. 80C ©ØÖ® 80U 
ö©õzu Á¸©õÚ® BQ¯ÁØøÓ ¤izu® ö\´¯ ÷Ásk®. 

20. Explain briefly various “Types of Assessment”. 

 £À÷ÁÖ “©v¨¥mk ÁøPø¯” _¸UP©õP ÂÍUSP. 
———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is creditor? 

PhÜ¢÷uõº GÚ£Áº ¯õº? 

2. Who is proferencial creditor? 

•ßÝ›ø© PhÜ¢÷uõº Gß£Áº ¯õº? 

3. Define subsidiary company. 

\õº¦ {ÖÁÚ® Áøμ¯Ö. 

4. What is investment? 

‰»uÚ® GßÓõÀ GßÚ? 

5. What is Balance sheet? 

CÖv {ø»U SÔ¨¦ GßÓõÀ GßÚ? 

6. What is dividend? 

£[Põuõ¯® GßÓõÀ GßÚ? 

7. What is Income Statement? 

Á¸©õÚ AÔUøP GßÓõÀ GßÚ? 

Sub. Code 
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8. What is insured Account? 

Põ¨¥k ö\´¯¨£mh PnUS GßÓõÀ GßÚ? 

9. What is Tally? 

Tally Gß£x ¯õx? 

10. What is voucher? 

Cμ^x Gß£x ¯õx? 

 Part B (5 × 5 = 25) 

Answer all questions. 

11. (a) M. Co., Ltd went into voluntary liquidation on 
1.3.2021. The following are extracted from its books 
on that date. 

Liabilities Rs. Assets Rs.

Capital :  Building 1,50,000

50,000 shares of 
Rs.10 each 

 
5,00,000 

Plant and 
Machinery 2,10,000

Debentures 
(Secured by floating 
charge) 

 
 

2,00,000 

Stock in trade 95,000

Bank over draft 30,000 Bad dept 75,000

Creditors 40,000 Less: 
Provision 10,000 65,000

  Call in arrear 1,00,000

  Cash in hand 10,000

  Profit and 
Loss account 1,40,000

 7,70,000  7,70,000
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   Plant X Machinery and Building are valued at 
Rs.1,50,000 and Rs. 1,20,000 respectively. On 
realisation, losses of Rs.15,000 are expected on 
stock, Book Debts will realise Rs.70,000. Call in 
arrear are expected to realise 90% Bank overdraft is 
secured against Buildings. Preferential Creditors 
for taxes and wages are Rs.6,000 and Miscellaneous 
expenses out standing Rs.2,000. 

   Prepare a statement of affairs to be submitted to 
the meeting of creditors. 

   M. Co., Ltd 1.3.2021 AßÖ ußÛaø\¯õP 
Pø»UP¨£mhx. A¢u ÷uvPÎÀ Auß ¦zu[PÎÀ 
C¸¢x ¤ßÁ¸£øÁ ¤›zöukUP¨£mkÒÍÚ. 

ö£õÖ¨¦PÒ ¹. ö\õzxPÒ ¹.

  Pmih® 1,50,000

50,000 \õuõμn 
£[SPÒ u»õ ¹.10 
Ãu® 

 
 

5,00,000 

Bø» 
©ØÖ® 
C¯¢vμ® 2,10,000

Phß £zvμ® (ªuUS® 
Pmhn® ‰»® 
£õxPõUP¨£mhx) 

 
 

2,00,000 

\μUQ¸¨¦ 95,000

Bank over draft  
(Á[Q ªøP £ØÖ) 

 
30,000 

PhÚõÎPÒ 75,000

PhÜ¢÷uõº 40,000 (–)HØ£õk 10,000 65,000

  {»øÁ 
AøÇ¨¦ 1,00,000

  øP°¸¨¦ 10,000

  C»õ£ |mh 
PnUS 1,40,000

 7,70,000  7,70,000
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   Bø» ©ØÖ® C¯¢vμ[PÒ ©ØÖ® Pmhhzvß ©v¨¦ 

¹.1,50,000 ©ØÖ® ¹.1,20,000. En¸® ÷£õx 

¹.15,000 £[SPÎÀ Gvº£õºUP¨£kQÓx Á[Q 

ªøP £ØÖ Pmih[PÐUS GvμõP 

£õxPõUP¨£kQÓx. Á› ©ØÖ® Fv¯[PÐUPõÚ 

•ßÝ›ø©U PhßuõμºPÒ ¹.6,000 ©ØÖ® Cuμ 

ö\»ÄPÒ {¾øÁ°À EÒÍ ¹.2,000. PhÚÎ¨ 

£ÁºPÎß TmhzvÀ \©º¤UP¨£k® ÂÁPõμ 

AÔUøPø¯z u¯õ›UPÄ®. 

Or 

 (b) Write out the modes of liquidation.  

   {ÖÁÚ Pø»¨¤ß •øÓPøÍ GÊxP. 

12. (a) What are the adjustment used for preparing 

consolidated Balance sheet? 

   J¸[Qøn¢u C¸¨¦ {ø»z uõÒ u¯õ›¨¤ß 

©õØÓ[PÒ ¯õøÁ? 

Or 

 (b) What are the types of dividends of subsidiary 

company?  

   xøn {ÖÁÚzvß DÄz öuõøP°ß £À÷ÁÖ 

ÁøPPÒ ¯õøÁ? 

13. (a) Write a note on reserve for unexpired insurance. 

   Põ»õÁv¯õÚ Põ¨¥miØPõÚ CÖv{ø» SÔ¨¦ 

SÔzx GÊxP. 

Or 
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 (b) From the following particulars, Prepare the Fire 
Reverse Account for 2011-2012. 

 in lakhs

Claim Paid 235

Legal expenses regarding claims 5

Premiums received 600

Reinsurance Premiums 60

Commission 100

Expenses of management 150

Provision against unexpired risk on April, 2011 260

Claims unpaid on April 1, 2011 20

Claims unpaid on March 31, 2012 35

   ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x, 2011&2012UPõÚ w 
Á¸Áõ´ PnUøPz u¯õ›UPÄ®: 

 C»m\zvÀ

÷Põ›UøP ö\¾zu¨£mhx 235

÷Põ›UøPUPõÚ \mh ö\»ÄPÒ 5

•øÚ©® ö£Ó¨£mhx 600

©ÖPõ¨¥mk •øÚ©® 60

PÈÄ 100

{ºÁõP ö\»ÄPÒ 150

2011 H¨μÀ, Põ»õÁv¯õPõu Põ¨¥mk JxURk 260

2011 H¨μÀ 1 ÷Põ›UøP ö£Ó¨£hõux 
ö\¾zu¨£hõux 20

2012 ©õºa 31 AßÖ ÷Põ›UøP ö£Ó¨£hõux 
ö\¾zu¨£hõux 35
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14. (a) In respect of the following Transactions of the 
prosperity Bank Ltd., you are required to indicate 
the necessary journal entries as well as their 
treatment in the Profit and Loss account and 
Balance Sheet in respect of the year ended 
31.12.1992. 

  (i) The following bills were discounted at 5% 
 Discounted 

on 
Amount Due date inclusive 

of 3 days of grace 
(1) 28.12.1192 50,000 31.01.1993 
(2) 29.07.1992 1,00,000 30.11.1992 
(3) 29.10.1992 4,00,000 30.04.1993 
(4) 31.12.1992 30,000 03.03.1993 

   (ii) The bank has accepted bills on behalf of its 
customers amounting to Rs.2,00,000/- at 
nominal commission of 2%. 

   (iii) The bank has advanced an amount of 
Rs.5,00,000 having a covering for the same 
through bills worth Rs.2,00,000 and good on 
key-loan basis Rs.4,00,000.  

   ¤μõìö£›mi ÷£[U ¼ªöhmiß ¤ßÁ¸® 
£›ÁºzuøÚPøÍ¨ ö£õÖzu©miÀ 31.12.1992 À 
•iÁøh¢u Bsøh¨ ö£õÖzu©miÀ »õ£® ©ØÖ® 
CÇ¨¦U PnUS C¸¨¦{ø»U SÔ¨¤À ÷uøÁ¯õÚ 
SÔ¨¦PÒ ©ØÖ® AuØPõÚ £›ÁºzuøÚPøÍ²® 
SÔ¨¤kP. 

   (i) ¤ßÁ¸® Cμ^xPÐUS 5% uÒÐ£i 
AÎUP¨£mhx. 

 uÒÐ£i 
÷uv 

¹£õ´ 
(¹.) 

uÁøn ÷uv  
(3 |õmPÒ \¾øP 
|õÒPÒ Em£h) 

(1) 28.12.1992 50,000 31.01.1993 

(2) 29.07.1992 1,00,000 30.11.1992 

(3) 29.10.1992 4,00,000 30.04.1993 

(4) 31.12.1992 30,000 03.03.1993 
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   (ii) Á[Q uÚx ÁõiUøP¯õÍºPÎß \õº£õP ¹.2% 
ö£¯μÍÄ PÈÄ ¹.2,00,000. 

   (iii) Á[Q •ß£n©õP ¹.5,00,000 ¹£õ´ 
©v¨¦ÒÍ Cμ^x ‰»® AuØPõÚ ÷\º¨¦ 
EÒÍx. 2,00,000 ©ØÖ® •UQ¯ Phß 
Ai¨£øh°À ö£õ¸mPÒ ¹.4,00,000. 

Or 

 (b) What are the special features of Bank Book 
keeping? 

   Á[Q¨ ¦zuP® øÁzv¸¨£uß ]Ó¨£®\[PÒ 
¯õøÁ? 

15. (a) Write out the applications of Computerised 
Accounting System (CAS). 

   PoÛ©¯U PnUQ¯À •øÓ°ß £¯ß£õkPÒ 
¯õøÁ? 

Or 

 (b) Write out the procedure for modification of group 
and ledger? 

   ÷£÷μk ©ØÖ® SÊ ©õØÓ® ö\´ÁuØPõÚ 
ÁÈ•øÓPøÍ GÊxP. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Preparation of Liquidator’s final statement of Account: 
Break Ltd. went into voluntary liquidation on 31.3.2016 

 The balances in its books on that date were: 
Liabilities Rs. Assets Rs.

Share Capital   

Authorised and 
subscribed 
5,000, 6% pref. shares of  
Rs.100 each fully paid 

 
 
 

5,00,000 

Land 50,000
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Liabilities Rs. Assets Rs.

2500 equity shares of 
Rs.100 each  
Rs.75 paid up 

 
 

1,87,500 

Building 2,00,000

7500 equity share of 
Rs.100 each  
Rs.60 paid up 

 
 

4,50,000 

Plant and 
machinery 6,25,000

5% Debenture (Secured 
by floating charge on all 
assets) 

 
 

2,50,000 

Stock 1,37,500

Interest due on 
debentures 

 
12,500 

Sundry 
Debtors 2,75,000

Bank Overdraft 1,00,000 Cash and 
Bank 75,000

Unsecured creditors 2,00,000 Proft and 
Loss A/c 4,10,000

Taxes due on Govts. with 
in 12 months 

 
12,500 

 

Salaries and wages due 
for 4 months for workers 

 
60,000 

 

 17,72,500  17,72,500

 The liquidators is entitled to a remuneration 5% on all 
assets realised except cash and 1% on the amount 
distributed to insecured creditors other than preferential 
creditors. 

 Bank overdraft is secured by deposit of title deed of land 
and building which realised Rs.3,00,000. 

 Other assets realised the following sums! 
 Rs. 

Plant and Machinery 5,00,000

Stock 1,50,000

Sundry Debtors 2,00,000
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 Expenses of liquidation amounted to Rs.27.250. Prepare 
Liquidator’s final statement of Account. Liquidator 
realised act assets on 1.4.2016 and discharged his 
obligation on the some date. Dividend on preference 
shares were in arrears for two years. 

Break Ltd 31.3.2016 AßÖ ußÛaø\¯õP Pø»UP¨£mhx. 
A¢u ÷uv°À Auß ¦zuP[PÎÀ EÒÍ {¾øÁPÒ 
¤ßÁ¸©õÖ: 

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹.
£[S•uÀ :   

A[RP›UP¨£mhx 5000, 
6% •ßÝ›ø© £[S 
¹.100 Ãu® 

 
 

5,00,000 

{»® 50,000

2500 \õuõμn £[SPÒ 
¹.100 Ãu® ¹.75 
ö\¾zu¨£mhx 

 
 

1,87,500 

Pmih® 2,00,000

7500 \õuõμÚ £[SPÒ 
¹.100 Ãu® ¹.60 
ö\¾zu¨£mhx 

 
 

4,50,000 

Bø» 
©ØÖ® 
C¯¢vμ® 6,25,000

5% PhÜmk¨ £zvμ[PÒ 
(AøÚzx ö\õzxUPÎ¾® 
ªuUS® PmhnzuõÀ 
£õxPõUP¨£kQÓx) 

 
 
 

2,50,000 

\μUS 1,37,500

Phß £zvμzvß «uõÚ 
Ámi  

 
12,500 

PhÚõÎPÒ 2,75,000

Á[Q ÷©À Áøμ¨£ØÖ 1,00,000 øP°¸¨¦ 
©ØÖ® 
Á[Q 75,000

£õxPõUP¨£hõu 
PhÜ¢÷uõº 

 
2,00,000 

C»õ£® 
|mh 
PnUS 4,10,000

Aμ\õ[P Á› {¾øÁ  
(12 ©õu[PÐUSÒ) 

 
12,500 

 

\®£Í® ©ØÖ® T¼ 
{¾øÁ (14 ©õu[PÐUS) 

 
60,000 

 

 17,72,500  17,72,500
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öμõUPzøu uÂμ Enμ¨£mh AøÚzx ö\õzxPÎ¾® 5% 
©ØÖ® •ßÝ›ø©U PhÚõÎPøÍz uÂμ £õxPõ¨£ØÓ 
PhÚõÎPÐUS Â{÷¯õQUP¨£mh öuõøP°À 1% 
Fv¯zvØS Pø»¨£õÍ¸US E›ø© Esk. 

Á[Q ÷©ÀÁøμ¨£ØÖ, {»® ©ØÖ® Pmhhzvß E›ø©¨ 
£zvμ® øÁ¨£uß ‰»® ¹.3,00,000 £õxPõUP¨£kQÓx.  

¤Ó ö\õzxUPÎß ©v¨¦ ¤ßÁ¸©õÖ: 

 ¹.

Bø» ©ØÖ® C¯¢vμ® 5,00,000
\μUS 1,50,000
PhÚõÎPÒ 2,00,000

Pø»¨¦ ö\»ÄPÒ ¹.27,250. Pø»¨£õÍ›ß CÖvU 
PnUS AÔUøPø¯ u¯õ›UPÄ®. £n ©v¨¦ }US£Áº 
1.4.2016 AßÖ AøÚzx ö\õzxUPøÍ²® Enº¢x A÷u 
÷uv°À uÚx Phø©ø¯ {øÓ ÷ÁØÔÚõº. •ßÝ›ø©¨ 
£[SPÎß DÄz öuõøP Cμsk BskPÍõP {¾øÁ°À 
C¸¢ux. 

17. The following are the balance sheets of H Ltd. and its 
subsidiary S Ltd. as on 31st December 2004. 

Balance sheet as on 31st December 2004 

Liabilities H Ltd. 
Rs. 

S Ltd. 
Rs. 

Assets H Ltd.
Rs.

S Ltd.
Rs.

Share Capital of  
Re.1 per share 

 
10,000 

 
8,000 

Buildings 4,000

Reserve 4,000 3,000 Plants 1,000 6,000
Bills payable 2,000 1,000 Stock 4,000 6,000
Creditors 5,000 4,000 Share in  

S Ltd. 6,000
Profit and Loss 
A/c. 

4,000 2,000 Debenture 5,000 3,000

   Bills 
Receivable 3,000 2,000

   Cash 2,000 1,000

 25,000 18,000  25,000 18,000
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 Debtors of H Ltd. include Rs.2,000 due from S Ltd. and 
Bills payable of H Ltd. included a bill of Rs.500 accepted 
in favour of S. Ltd. A load of Rs.1,000 given by H Ltd. to 
S. Ltd. was also included in the items of debtors and 
creditors respectively. Rs.500 was transferred by S Ltd. 
Profit and Loss Account to Reserve out of current year’s 
profit. Shares were purchased on 30th June 2004 at par. 

 Prepare consolidated Balance Sheet. 

 31 i\®£º 2004 ß £i H Ltd. ©ØÖ® Auß xøn 
{ÖÁÚ©õÚ S Ltd. ß C¸¨¦ {ø»U SÔ¨¦PÒ ¤ßÁ¸©õÖ 

31 i\®£º 2004 ß £i C¸¨¦{ø» SÔ¨¦ 

ö£õÖ¨¦UPÒ H Ltd. 
Rs. 

 S Ltd. 
Rs. 

ö\õzxUPÒ H Ltd.
Rs.

S Ltd.
Rs.

£[S •uÀ ¹. 
1 Ãu® 

 
10,000 

  
8,000 

Pmh[PÒ 4,000

C¸¨¦ 4,000  3,000 Bø» 1,000 6,000

ö\¾zu¨£h 
÷Ási¯ 
Cμ^x 

 
 

2,000 

  
 

1,000 

\μUS 4,000 6,000

PhÜ¢÷uõº 5,000  4,000 S Ltd. £[SPÒ 6,000

C»õ£ |mh 
PnUS 

 
4,000 

  
2,000 

PhÚõÎPÒ 5,000 3,000

    ö£Ó¨£h÷Ási¯ 
Cμ^x 3,000 2,000

    øP°¸¨¦ 2,000 1,000

 25,000  18,000  25,000 18,000

 H Ltd. PhÚõÎPÒ S Ltd. ö\¾zu ÷Ási¯ ¹. 2,000 
EÒÍhUQ¯x •øÓ÷¯ PhÚõÎPÒ ©ØÖ® PhÚõÎPÎß 
E¸¨£iPÎÀ, S Ltd. ‰»® ¹.500 C»õ£ ©ØÖ® |mhU 
PnUQ¼¸¢x |h¨¦ Bsiß C»õ£zvÀ C¸¢x 
C¸¨¦US ©õØÓ¨£mhx. £[SPÒ 30 áüß 2004 AßÖ 
\© AÍÂÀ Áõ[P¨£mhÚ. J¸[Qøn¢u C¸¨¦ {ø»z 
uõøÍz u¯õ›UPÄ®. 
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18. Indian Insurance Co. Ltd. furnishes you with the 
following information: 

 (a) On 31.3.2011 it had reserve for un expired risks to 
the tune of Rs.40 crore. It comprised of Rs.15 crore 
in respect of Marine Insurance Business.  
Rs.20 crore in respect of fire insurance business and 
5 crore in respect of miscellaneous insurance 
Business. 

 (b) It is the practice of Indian insurance co Ltd., to 
create reserve at 100% of net premium income in 
respect of Marine Insurance policies and at 50% of 
net premium income in respect of fire and 
miscellaneous insurance policies. 

 (c) During the year ended 31st march 2012, the 
following business was conducted: 

                                            (In rupees) crores 

Premia collected from : Marine Fire Misc

(i) Insured (other than 
insurance co.) in respect 
of policies issued 18 43 12

(ii) Other insurance 
companies inrespect of 
risks undertaken 7 5 4

 Premia paid/payable to 
other insurance 
companies on Business 
ended 6.7 4.3 7

  Indian Insurance Co. Ltd. asks you to prepare 
Journal entries relating to unexpired risks reserve. 

  Show in columnar from unexpired risks reserve 
account for the year ended 31 March 2012. 
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 C¢v¯ß Cß`μßì ÷Põ. ¼ªöhm ¤ßÁ¸® uPÁÀPøÍ 
öPõskÒÍx. 

 (A) 31.3.2011 AßÖ 40 ÷Põi ¹£õ´ AÍÂØS 
Põ»õÁv¯õPõu ChºPÐUPõÚ øP°¸¨¦ 
øÁzv¸¢ux. Cx PhÀ Põ¨¥mk ÁoPzøu¨ 
ö£õÖzu©miÀ ¹.15 ÷Põiø¯ EÒÍhUQ¯x. w 
Põ¨¥mk ÁoPzvÀ ¹.20 ÷Põi²® Cuμ Põ¨¥mk 
ÁoPzvÀ ¹. 5 ÷Põi²®. 

 (B) PhÀ Põ¨¥kU öPõÒøPPøÍ¨ ö£õÖzu©miÀ {uμ 
¤Ÿª¯® Á¸Áõ°À 100% w ©ØÖ® Cuμ Põ¨¥mk 
öPõÒøPPøÍ¨ ö£õÖzu Áøμ {Pμ •øÚ© 
Á¸Áõ°À 50% øP°¸¨ø£ E¸ÁõUSÁx ÁÇUP®. 

 (C) ©õºa 31, 2012À •iÁøh¢u BsiÀ ¤ßÁ¸® 
ÁoP® |hzu¨£mhx. 

                                                 (¹£õ°À) ÷PõiPÒ 
•øÚ©® vμmh¨£mhx : Phß w Cuμ

(i) Põ¨¥k ö\´¯¨£mhx 
(Põ¨¥mk {ÖÁÚ® 
uÂμ) ¤Ó £õ¼] 
AÎUP¨£mk 18 43 12

(ii) ©ØÓ Põ¨¥mk {ÖÁÚ® 
‰»® ChºPÒ 
GkUP¨£mhx 7 5 4

 •øÚ©®, ©ØÓ 
Põ¨¥mk 
{ÖÁÚ[PÐUS 
ö\¾zu¨£h ÷Ási 
{Özu¨£mhx 

6.7 4.3 7

  Põ»õÁv¯õÚ A£õ¯[PÒ C¸¨¦ öuõhº£õÚ 
SÔ¨÷£k u¸P. 

  ©õºa 31, 2012 À •iÁøh¢u  BsiØPõÚ 
Põ»õÁv¯õÚ Chº C¸¨¦U PnUQß ÷£÷μk u¸P. 
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19. Write out the main characteristics of a Bank’s Book 
keeping system. Explain it in detail. 

Á[Q°À ¦zuP £μõ©›¨¤ß •UQ¯ £s¦PÒ SÔzx 
Â›ÁõÚ Pmkøμ GÊxP. 

20. How will you create company in Tally ERP 9? Explain it 
with diagram.  

Tally ERP 9 À J¸ {ÖÁÚ® GÆÁõÖ E¸ÁõUP¨£kQÓx 
Gß£øu £hzxhß ÂÍUSP. 

 

 
———————— 
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B.Com.(CS) DEGREE EXAMINATION, APRIL 2023. 

Sixth Semester 

Corporate Secretaryship 

MANAGEMENT ACCOUNTING 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is Management Accounting? 
 ÷©»õsø© PnUQ¯À GßÓõÀ GßÚ?  

2. What are the functions of Management Accounting? 
 ÷©»õsø© PnUQ¯¼ß ö\¯À£õkPÒ ¯õøÁ? 

3. What is mean by ratio analysis? 
 ÂQu £S¨£õ´Ä £ØÔ } AÔ¢uÁØøÓ TÖP. 

4. What is Beverage? 
 A¢{¯ ÂQu £S¨£õ´Ä GßÓõÀ GßÚ? 

5. What is Cash Flow Statement? 
 öμõUP JÊ[S £mi¯À GßÓõÀ GßÚ? 

6. State the objectives of Working Capital. 
 |øh•øÓ ‰»uÚzvß ÷|õUP[PÒ ¯õøÁ. 

7. What is Sales Budget? 
 ÂØ£øÚ vmh¨ £mi¯À GßÓõÀ GßÚ? 

Sub. Code 
7BCS6C2 
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8. What is Capital Budgeting? 
 •u½k vmh¨ £mi¯À GßÓõÀ GßÚ? 

9. What are the features of Marginal Costing? 
 SÖUS Âø» AhUP PnUQ¯¼ß uÛa ]Ó¨¤øÚ TÖP. 

10. What is MIS? 

 MIS GßÓõÀ GßÚ? 

 Part B (5 × 5 = 25) 

Answer all the questions, choosing either (a) or (b). 

11. (a) What are the advantages of Management 
accounting? 

   ÷©»õsø© PnUQ¯¼ß |ßø©PÒ ¯õøÁ? 

Or 

 (b) Distinguish between Cost Accounting and 
Management Accounting. 

   AhUPÂø» PnUQ¯¾US® ©ØÖ® ÷©»õsø© 
PnUQ¯¾US® EÒÍ ÷ÁÖ£õkPÒ ¯õøÁ? 

12. (a) Explain the term common size analysis. 
   ö£õxÁõÚ AÍÄ £S¨£õ´Ä £ØÔ ÂÁ›. 

Or 

 (b) From the following information calculate creditors 
turnover ratio and average payment period. 

 Rs. 

Total purchases 4,00,000 

Cash purchases 50,000 

Purchase returns 20,000 

Creditors at the end 60,000 

Bills payable at the end 20,000 

Reserve for discount on creditors 5,000 

Take 365 days in a year.  
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   RÌPsh Â£μ[PÎß PhÜ¢÷uõº v¸¨¦ Ãu® ©õØÖ 

\μõ\› ö\¾zuÀPÒ Põ»® BQ¯ÁØøÓ PnUQkP : 

 ¹. 

ö©õzu öPõÒ•uÀ 4,00,000 

öμõUP öPõÒ•uÀ 50,000 

öPõÒ•uÀ v¸¨£® 20,000 

PhÜ¢÷uõº •iÂÀ 60,000 

ö\¾zuØS›¯ ©õØÖ^mk CÖv°À 20,000 

PhÜ¢÷uõº  5,000 

Põ¨¤ß «x uÒÐ£i.  

  Kº BskUS 365 |õmPÒ GÚ GkzxU öPõÒP. 

13. (a) What are the benefits of Fund Flow Analysis? 

   {v Jmh AÔUøP°ß |ßø©PÒ ¯õøÁ? 

Or 

 (b) A trader purchase goods both on cash as well as on 

credit terms. The following particulars are obtained 

from the loans. Calculate average payment period. 

 Rs. 

Total purchase 5,81,000 

Cash purchase 30,000 

Purchase returns 51,000 

Creditors at end 1,05,000 

Bills payable at the end 60,000 

Reserve for discount payment period 8,000 
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   J¸ ÁoPº ö£õ¸mPÒ öμõUP® ©ØÖ® Phß 
öPõÒ•uÀ ö\´QÓõº. RÌPsh ÂÁμ[PÒ AÁμx 
HkPÎ¼¸¢x ö£Ó¨£kQÓx. \›¯õÚ ö\¾zx 
{ø»U Põ»zøu PnUQkP. 

 ¹. 

ö©õzu öPõÒ•uÀ 5,81,000 

öμõUP öPõÒ•uÀ 30,000 

öPõÒ•uÀ v¸¨£® 51,000 

PhÜ¢÷uõº CÖv C¸¨¦ 1,05,000 

ö\¾zxuØS›¯ ©õØÖa^mk CÖv C¸¨¦ 60,000 

PhÜ¢÷uõº «x uÒÐ£i «uõÚ Põ¨¦ 8,000 

14. (a) Distinguish between Fund Flow Statement and 
Balance Sheet. 

   {v JÊ[S £mi¯¾US®, C¸¨¦ {ø»U 
SÔ¨¤ØS® EÒÍ ÷ÁÖ£õkPÒ TÖP. 

Or 

 (b) From the following information, prepare a Cash 
budget for the period from Jan to April. 

Months Expected Sales Expected Purchase 

 Rs. Rs. 

January 60,000 48,000 

February 40,000 45,000 

March 45,000 31,000 

April 40,000 40,000 

  Wages to be paid to workers will be Rs. 5,000 P.M. 
Cash Balance on 1st January may be assumed to be 
Rs. 8,000. 
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   ¤ßÁ¸® uPÁ¼¼¸¢x áÚÁ› •uÀ H¨μÀ 
Áøμ°»õÚ Põ»zvØPõÚ £nÁμÄ ö\»Äzvmhzøu 
u¯õ›UPÄ®. 

©õu® Gvº£õºUP¨£k® ÂØ£øÚ  Gvº£õºzu öPõÒ•uÀ

 ¹. ¹. 

áÚÁ› 60,000 48,000 

¤¨μÁ›  40,000 45,000 

©õºa 45,000 31,000 

H¨μÀ 40,000 40,000 

  öuõÈ»õÍºPÐUS ©õu® ¹.5,000 Fv¯® 

ÁÇ[P¨£k®. áÚÁ› 1 £n C¸¨¦ ¹. 8,000. 

15. (a) Write short note on : 

  (i) Contribution 

  (ii) P/V ratio 

   SÔ¨¦ ÁøμP : 

  (i) £[PÎ¨¦ 

   (ii) AhUPÂø» Dmk C»õ£® 

Or 

 (b) You are required to calculate break even volume 
form the following data: 

  Profit Rs. 5,000 (20% of Sales) 

  P/V ratio 40%. 

   RÌPõq® ÂÁμ[PøÍ öPõsk, \©ß£õmk ¦ÒÎ 
ÂØ£øÚø¯U PshÔP.  

   C»õ£® 5,000 (ÂØ£øÚ «x 20%)  

   AhUPÂø» Dmk C»õ£® 40% C»õ£® AÍÄ 
ÂQu®. 
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Briefly discuss the scope of Management Accounting.   
 ÷©»õsø© PnUQ¯¼ß GÀø»ø¯ _¸UP©õP ÂÁõvUP. 

17. From the following detail, prepare a common size Balance 
Sheet. 

Balance Sheet 
Liabilities 1998  1999  Assets 1998 1999

Bills payable 50  75  Cash 100 140

Creditors 250  350  Debtors 200 300

Preference share capital 400  450  Stock 200 300

Equity share capital 400  400  Land and Building 400 370

Reserves 200  245  Machinery 400 410

 1,300  1,520   1,300 1,520

 RÌPõq® ÂÁμ[PøÍ öPõsk, ö£õx AÍÄ 
C¸¨¦{ø»U SÔ¨¦ £mi¯À u¯õº ö\´P. 

C¸¨¦{ø»U SÔ¨¦ 
ö£õÖ¨¦UPÒ 1998  1999  ö\õzxUPÒ 1998 1999

ö\¾zxÁuØS›¯ ©õØÖa^mk 50  75  öμõUP® 100 140
PhÜ¢÷uõº 250  350  PhÚõÎPÒ 200 300
•ßÝ›ø© £[S•uÀ 400  450  \μUQ¸¨¦ 200 300
\õuõμn £[S•uÀ 400  400  {»®, Pmih® 400 370
Põ¨¦ 200  245  C¯¢vμ® 400 410

 1,300  1,520   1,300 1,520

18. Given below are the balance sheet of Ram Ltd as on 
31.12.1994 and 31.12.1995. 
Liabilities 1994  1995  Assets 1994 1995 

 Rs.  Rs.   Rs. Rs. 

Share capital 5,00,000  7,00,000  Land and Building 80,000 1,20,000

P and A/c 1,00,000  1,60,000  Machinery 5,00,000 8,00,000

General reserve 50,000  70,000  Stock 1,00,000 75,000

Creditors 1,53,000  1,90,000  Debtors 1,50,000 1,60,000

Bills payable 40,000  50,000  Cash 20,000 20,000

Outstanding expenses 7,000  5,000   

 8,50,000  11,75,000   8,50,000 11,75,000
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 Additional Information : 

 (a) In 1995 depreciation on machinery Rs. 50,000 was 
charged.  

 (b) One machine which has cost Rs. 21,000 and on 
which Rs. 7,000 depreciation has been provided was 
sold in 1995 for Rs. 8,000. Prepare Fund Flow 
Statement. 

 ¤ßÁ¸® C¸¨¦ {ø» SÔ¨£õÚx μõ® {Ö©zvß 

31.12.1994 ©ØÖ® 31.12.1995® |õÐUSÔ¯x. 
ö£õÖ¨¦PÒ 1994  1995  ö\õzxUPÒ 1994 1995 

 ¹.  ¹.   ¹. ¹. 

£[S•uÀ 5,00,000  7,00,000  {»® ©ØÖ® Pmih® 80,000 1,20,000

»õ£ |mh P/S 1,00,000  1,60,000  C¯¢vμ[PÒ 5,00,000 8,00,000

ö£õxUPõ¨¦ 50,000  70,000  \μUQ¸¨¦ 1,00,000 75,000

PhÜ¢÷uõºPÒ 1,53,000  1,90,000  PhÚõÎPÒ 1,50,000 1,60,000

ö\¾zxuØS›¯      öμõUP® 20,000 20,000

©õØÖa^mk 40,000  50,000   

öPõk£h ÷Ási¯      

ö\»ÄPÒ 7,000  5,000   

 8,50,000  11,75,000   8,50,000 11,75,000

 TkuÀ Â£μ[PÒ : 

 (A) 1995&À C¯¢vμzvß «x ¹. 50,000 ÷u´©õÚ® 
JxUP¨£mhx. 

 (B) ¹. 21,000 ©v¨¦øh¯ J¸ C¯¢vμzvØS ¹. 7,000 
÷u´©õÚ® JxUP¨£mk 1995&À ¹. 8,000&zvØS 
ÂØP¨£mhÚ. {v Jmh AÔUøPø¯ u¯õº ö\´P. 

19. Explain the steps to be followed in preparing the Capital 
Budgeting. 

•u½mkz vmh¨£mi¯À u¯õ›UP¨ ¤ß£ØÓ¨£k® 
{ø»PøÍ ÂÁ›. 
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20. Katta Bava multi product company furnishes you the 
following data relating to the year 1997. 

Particulars First half of  
the year  

Second half of 
the year 

 (Rs.) (Rs.) 

Sales 45,000 50,000 

Total cost 40,000 43,000 

 Assuming that there is no change in prices and variable 
costs and that the fixed expenses are incurred equally in 
the two half year periods. Calculate 

 (a) P/V ratio 

 (b) Fixed expenses 

 (c) Break even sales 

 (d) Percentage of margin of safety. 

¤ßÁ¸® uPÁÀPÍõÚx Põmk £õÁõ £Àö£õ¸Ò 
{Ö©zvß 1997 B® BsiØS›¯x. 

ÂÁμ[PÒ  Bsiß •uÀ  
£õv   

Bsiß Cμshõ® £õv

 (¹.) (¹.) 

ÂØ£øÚ 45,000 50,000 

ö©õzu ö\»Ä 40,000 43,000 

 Âø» ©ØÖ® ö\»ÂÀ G¢uÂu ©õØÓ•® CÀø» GÚÄ® 
Cμsk Põ»[PÐ® {ø»¯õÚ ö\»ÄPÒ \©©õP  
EÒÍx GÚÄ® P¸vU öPõÒP. CÁØøÓ öPõsk 
¤ßÁ¸ÁÚÁØøÓU PnUQkP 

 (A) £[PÎ¨¦ ÂQu® 

 (B) {ø»¯õÚ ö\»ÄPÒ 

 (C) C»õ£|mh ©ØÓ ¦ÒÎ 

 (D) £õxPõ¨¦ GÀø» \uÂQu®. 
———————— 
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B.Com. (CS) DEGREE EXAMINATION,  
APRIL 2023 

Sixth Semester 

Corporate Secretaryship 

INDUSTRIAL LAW 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all the questions. 

1. Define Factory. 
 öuõÈØ\õø» Gß£vß C»UPn® u¸P. 

2. Who is a young person? 

 “CøÍbº” Gß£Áº ¯õº? 

3. What is a trade Union? 
 öuõÈØ\[P® GßÓõÀ GßÚ? 

4. What are Occupational Diseases? 

 “£o\õº ¤oPÒ”GßÓõÀ GßÚ? 

5. What are wages in-kind? 

 “öμõUP©õP CÀ»õu T¼” GßÓõÀ GßÚ? 

6. State the object of the Employees’ State Insurance Act, 
1948. 

 1948–B® Bsk £o¯õÍº Aμ_ Põ¨¥mka \mhzvß 
÷|õUP® ¯õx? 
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7. What are the “wages” under Minimum Wages Act, 1948? 
 1948–B® Bsk SÖ© T¼a \mhzvß£i T¼ GßÓõÀ 

GßÚ? 

8. What is lay-off? 

 “£ouμõø©” GßÓõÀ GßÚ? 

9. What is accident? 
 Â£zx GßÓõÀ GßÚ? 

10. What is Employment Injury under the Employees’ State 
Insurance Act, 1948?  

 1948–B® Bsk £o¯õÍº Aμ_ Põ¨¥mka \mhzvß 
£i £o\õº Põ¯® GßÓõÀ GßÚ? 

 Part B (5 × 5 = 25) 

Answer all the questions, choosing either (a) or (b). 

11. (a) What is Strike? Explain its objects. When does a 
strike become illegal?  

   ÷Áø» {Özu® GßÓõÀ GßÚ? Auß ÷|õUP[PøÍ 
ÂÍUSP. G¨ö£õÊx ÷Áø» {Özu® \mhzvØS¨ 
¦Ó®£õQÓx? 

Or 

 (b) Explain ‘Partial Disablement’ and “Total 
Disablement”. 

   “£Sv C¯»õø©¯õUP¨£hÀ” ©ØÖ® “•Êö©õzu 
C¯»õø©¯õUP¨£hÀ” BQ¯ÁØøÓ ÂÍUSP. 

12. (a) What are the powers and duties of Employee’ State 
Insurance Corporation? 

   £o¯õÍº Aμ_ Põ¨¥mk TmkÖÂß AvPõμ[PÒ 
Phø©PÒ BQ¯ÁØøÓ TÖP. 

Or 
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 (b) Indicate the provisions regarding contributions 
under ESI Act,1948  

   1948–® Bsk £o¯õÍº Aμ_UPõ¨¥mka 
\mhzvß£i uß £[SzöuõøP SÔzu 
\mh£PºÄPøÍU TÖP. 

13. (a) Explain the privilege of the Registered Trade Union. 

   £vÄ ö\´¯¨£mh öuõÈØ\[Pzvß ]Ó¨¦›ø©PøÍ 
ÂÍUSP. 

Or 

 (b) Examine the provisions of the Trade Union Act 
relating to registration of trade unions. 

   J¸ öuõÈØ\[P® £vÄ ö\´Áx £ØÔ¯ öuõÈØ\[P 
\mhÂvPøÍ B´P. 

14. (a) Define wages and state the rules relating to 
Fixation of wages. 

   T¼ Gß£uß C»UPn® TÔ T¼ø¯ {ºn°UP 
HxÁõÚ \mh ÂvPøÍU SÔ¨¤kP. 

Or 

 (b) How far is an employer liable for compensation to a 
workman injured by an accident arising out of and 
in the course of employment? 

   ÷Áø»°À A©º¢xÒ÷Íõº ÷Áø»°ß ÷£õx 
Â£zxPÎÚõÀ £õvUP¨£k®÷£õx DmkzöuõøP 
SÔzu £o¯õsø©¯›ß ö£õÖ¨¤øÚ ÂÁ›. 

15. (a) Enumerate the principal welfare facilities to be 
provided in a factory under the Factories Act 1948. 

   öuõÈØ\õø» \mhzvÀ TÓ¨£mkÒÍ £o¯õÍº |» 
Á\vPøÍ ÂÁõvUP. 

Or 
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 (b) What is retrenchment? Explain the conditions 
precedent to retrenchment of workers as given in 
the Industrial Dispute Act 1947? 

  £o }UP® GßÓõÀ GßÚ? 1947–® Á¸hzv¯ 
öuõÈØ§\À \mhzvÀ £o }UP® ö\´ÁuØS•ß 
Pøh¨¤iUP ÷Ási¯ {£¢uøÚPÒ ¯õøÁ? 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. State the health provisions in the Factories Act. 
 öuõÈØ\õø» \mhzvÀ EhÀ |»® ÷£quÀ £ØÔ¯ 

ÂvPøÍU SÔ¨¤kP. 

17. What are the objects on which general funds of Trade 
Union may be spent? 

 öuõÈØ\[P ö£õx {v°øÚ G¢u ÷|õUP[PÐUPõP 
£¯ß£kzu»õ® Gß£øu ÂÁ›UPÄ®. 

18. What are the duties and powers of Conciliation Officers. 
Work Committees and Board of Conciliation in 
settlement of industrial disputes under the Industrial 
Disputes Act 1947? 

 1947–® Bsk öuõÈÀ §\À \mhzvß RÌ öuõÈØ§\À 
wºøÁUPõÚ Aø©UP¨£k® \©õuõÚ AvPõ› £oUSÊ 
©ØÖ® \©õuõÚ SÊ BQ¯øÁPÎß Phø©PøÍ²® 
AvPõμ[PøÍ²® TÖP. 

19. State the restrictions imposed by the Factories Act 1948 
on the employment of women and young persons. 

 ö£sPÒ ©ØÖ® CÍÁºPÒ £o°»©º¢u 1948–® Bsk 
öuõÈØ\õø» \mh® ÂvUS® uøhPøÍ ÂÁ›UP. 

20. Elucidate the procedure for fixing and revising minimum 
wage. What is the composition of such minimum rate of 
wages? 
SÖ©U T¼ø¯ {ºn°UP¨£uØS® ©õØÔ¯ø©¨£uØS® 
EÒÍ ÁÈ •øÓPøÍ ÂÍUSP. SÖ©UT¼ ÂQu® 
GÆÁõÖ wº©õÛUP¨£kQÓx Gß£øu²® ÂÍUSP. 

———————— 
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MODERN BANKING  
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Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Define Banking.  

 Á[Q°¯À Áøμ¯Ö. 

2. What do you mean by unit banking?  

 A»S Á[Q°¯À SÔzx }Ãº AÔÁx ¯õx?  

3. What is bank rate policy? 

 Á[Q ÂQu öPõÒøP GßÓõÀ GßÚ? 

4. Write a note on indigenous banks.  

 EÒÑº Á[QPÒ SÔzx SÔ¨¦ GÊxP. 

5. What is NPA? 

 NPA GßÓõÀ GßÚ? 

6. Write a short note on capital adequacy ratio.  

 ‰»uÚ ÷£õx©õÚ ÂQu® SÔzx ]Ö SÔ¨¦ GÊxP. 

7. What is debit card? 

 £ØÖ Amøh GßÓõÀ GßÚ? 
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8. What is meant by internet banking? 

 Cøn¯ Á[Q°¯À GßÓõÀ GßÚ? 

9. What is KYC? 

 KYC GßÓõÀ GßÚ? 

10. What is codes of commitment for individual customers?  

 uÛ¨£mh ÁõiUøP¯õÍ¸UPõÚ Aº¨£o¨¦ SÔ±kPÒ 
GßÓõÀ GßÚ? 

 Part B (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Explain the role of commercial banks in India.  

   C¢v¯õÂß ö£õ¸Íõuõμ ÁÍºa]°À ÁoP 
Á[QPÎß £[QøÚ ÂÁ›. 

Or 

 (b) Explain the features of Banking.  

   Á[Q°¯¼ß A®\[PøÍ ÂÁ›. 

12. (a) What are the functions of commercial banks in 
India? 

   C¢v¯õÂÀ ÁoP Á[QPÎß ö\¯À£õkPøÍ 
ÂÍUSP. 

Or 

 (b) Explain the services provided by private banks.  

   uÛ¯õº Á[QPÎß ÷\øÁPøÍ ÂÁ›. 

13. (a) What are the reasons for NPA? 

   ö\¯À£hõu ö\õzxUPÒ E¸ÁõÁuØPõÚ Põμn[PÒ 
¯õøÁ? 

Or 

 (b) State the objects of the banking ombudsman 
scheme.  

    Á[Q J®¦mì÷©ß vmhzvß ÷|õUP[PøÍU 
SÔ¨¤hÄ®.   
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14. (a) Distinguish between debit card and credit card.  

   £ØÖ Amøh ©ØÓ® ÁμÄ Amøh ÷ÁÖ£kzxP. 

Or 

 (b) Explain the Electronic Fund Transfer.  

   ªßÚq £n£›©õØÓ® SÔzx ÂÁ›. 

15. (a) What are the customer services provided by the 
banks? 

   Á[QPÒ u[PÍx ÁõiUøP¯õÍ¸US AÎUS® 
÷\øÁPÒ ¯õøÁ? 

Or 

 (b) Distinguish between RTGS and NEFT.  

   RTGS ©ØÖ® NEFTø¯ ÷ÁÖ£kzxP. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Elaborate the various classification of Banks.  

 £À÷ÁÖ Á[Q°¯À SÔzx Â›ÁõP ÁøP¨£kzxP. 

17. Explain the functions of Central Bank.  

 ©zv¯ Á[Q°ß ö\¯À£õkPøÍ ÂÁ›. 

18. Discuss in detail the various areas of customer’s 
complaints and narrate the methods of their settlement.  

ÁõiUøP¯õÍºPÎß £À÷ÁÖ Âu©õÚ ¦PõºPøÍ²® 
©ØÖ® AuØPõÚ wºÄ •øÓPøÍ²® ÂÁõvUPÄ®. 

19. Describe the merits and demerits of E-banking.  

 ªßÚÝ Á[Q°ß |ßø© wø©PøÍ ÂÁ›UPÄ®. 

20. List down the recommendations of the Goiporia 
Committee.   

÷Põ´ö£õ›¯õ SÊÂß £›¢xøμPøÍ £mi¯¼kP. 

———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Define finance lease. 
 {v SzuøPø¯ Áøμ¯ÖUP. 

2. Define lessor. 
 SzuøPuõμøμ Áøμ¯ÖUP. 

3. Define hire purchase. 
 ÁõhøP öPõÒ•uÀ Áøμ¯ÖUP. 

4. Enlist important credit rating agencies in India. 

 C¢v¯õÂÀ •UQ¯©õÚ Phß ©v¨¥mk {ÖÁÚ[PøÍ 
£mi¯¼k[P. 

5. Define securitization. 
 £zvμ¨£kzuø» Áøμ¯ÖUP. 

6. What is depository? 
 øÁ¨¦zöuõøP GßÓõÀ GßÚ? 

7. Define financial services. 
 {v ÷\øÁPøÍ Áøμ¯ÖUP. 
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8. Differentiate jobber and banker. 

 £o¯õÍº ©ØÖ® Á[Q¯õÍøμ ÷ÁÖ£kzxP. 

9. Briefly describe NSDL. 

 NSDL I _¸UP©õP ÂÁ›UP. 

10. What is credit insurance? 

 Phß Põ¨¥k GßÓõÀ GßÚ? 

 Part B (5 × 5 = 25) 

Answer all the questions, choosing either (a) or (b). 

11. (a) Briefly discuss classification of leases. 

   SzuøP ÁøPPøÍ _¸UP©õP ÂÁõvUP. 

Or 

 (b) Discuss legal framework of hire purchase. 

   ÁõhøP öPõÒ•uÀ \mh Pmhø©¨ø£ ÂÁõvUP. 

12. (a) Write note on structure of merchant banking 
industry in India. 

   C¢v¯õÂÀ ÁoPº Á[Qz öuõÈ¼ß Aø©¨¦ 
SÔzx SÔ¨¦ GÊxP. 

Or 

 (b) What is factoring? Differentiate bill discounting 
versus factoring.  

   Põμo GßÓõÀ GßÚ? PõμoUS GvμõP ©õØÖ^møh 
uÒÐ£iø¯ ÷ÁÖ£kzx[PÒ. 

13. (a) Classify brokers and also discuss RBI regulations 
relating to brokerage business in India. 

   uμPºPøÍ ÁøP¨£kzv, C¢v¯õÂÀ uμS ÁoP® 
öuõhº£õÚ RBI Âv•øÓPøÍ²® ÂÁõvUP. 

Or 
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 (b) Discuss the process of dematerialization. 

   i÷©mj›¯ø»÷\åß ö\¯À•øÓ £ØÔ ÂÁõvUP. 

14. (a) “Mutual funds route offer several important 
benefits to the small investor.” What are these 
benefits? Briefly discuss. 

   “£μì£μ {v £õøu ]Ö •u½mhõÍ¸US £» •UQ¯ 
|ßø©PøÍ ÁÇ[SQÓx.” C¢u |ßø©PÒ GßÚ? 
_¸UP©õP ÂÁõvUP. 

Or 

 (b) Explain briefly the process of portfolio management 
of a mutual fund. 

   £μì£μ {v°ß ÷£õºmL÷£õ¼÷¯õ ÷©»õsø© 
ö\¯À•øÓø¯ _¸UP©õP ÂÍUSP. 

15. (a) What is ‘securitisation’ and why do companies go for 
securitisation of assets? 

   ‘£zvμ¨£kzuÀ’ GßÓõÀ GßÚ, {ÖÁÚ[PÒ Hß 
ö\õzxUPøÍ¨ £zvμ¨£kzu¨ ÷£õQßÓÚ? 

Or 

 (b) Briefly describe the instruments which can be used 
for securitisation of assets. 

  ö\õzxUPøÍ £zvμ¨£kzu £¯ß£k® P¸ÂPøÍ 
_¸UP©õP ÂÁ›UP. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Discuss the evaluation framework of hire-purchase 
transactions. Illustrate your answer. 

ÁõhøP öPõÒ•uÀ £›ÁºzuøÚPÎß ©v¨¥mk 
Pmhø©¨ø£¨ £ØÔ ÂÁõvUPÄ®. E[PÒ £vø» 
ÂÍUSP. 
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17. What are the main features of the operations framework 
of merchant bankers in the Indian primary market? 

C¢v¯ •ußø© \¢øu°À ÁoP Á[Q¯õÍºPÎß 
ö\¯À£õmk Pmhø©¨¤ß •UQ¯ A®\[PÒ ¯õøÁ? 

18. Explain the working of various credit rating agencies in 
India. 

C¢v¯õÂÀ £À÷ÁÖ Phß ©v¨¥mk {ÖÁÚ[PÎß 
ö\¯À£õkPøÍ ÂÍUSP. 

19. Outline the framework of operations of the depository 
system with reference to the Depositories Act and SEBI 
Depositories and Participants Regulations. 

øÁ¨¦a \mh® ©ØÖ® ö\¤ øÁ¨¦zöuõøPPÒ ©ØÖ® 
£[÷PØ£õÍºPÒ Âv•øÓPøÍU SÔ¨¤kÁuß ‰»® 
øÁ¨¦ Aø©¨¤ß ö\¯À£õkPÎß Pmhø©¨ø£ 
÷PõimkU PõmikP. 

20. Comment upon the causes for the unpopularity of the 
concept of securitization in India. What suggestions do 
you offer to make it popular?   

C¢v¯õÂÀ £zvμ¨£kzuÀ GßÓ P¸zx 
¤μ£»©øh¯õuuØPõÚ Põμn[PÒ SÔzx P¸zx 
öu›ÂUPÄ®. Aøu ¤μ£»©õUP }[PÒ GßÚ 
B÷»õ\øÚPøÍ ÁÇ[SQÕºPÒ? 

 
———————— 


